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FIRST SEMESTER - MBA

END TERM EXAMINATION
COURSE CODE -MBA -101
TITLE- Management Process and Organisational
behawour

Tlme 03:00 Hours ‘Max. Marks: 50

Note: SECTION A IS COMPULSORY. ATTEMPT ANY THREE

QUESTIONS FROM SECTION B.
Assume suitable' missing data, if any.

SECTION A

Q1. CASE ANALYSIS

Scott Rosen believed that he was making progrcss as an assxstant

-manager of a financial-services company—until he noticed that his

colleague, another assistant manager, was attempting to push him
aside. On repeated occasions, Mr. Rosen would observe his colleague

of T,

cbnvcrsations, Mr. Rosen’s colleaguc would attempt to persuade the

supervisor that Mr. Rosen was incompetent and mismallagmg his job,

a practice that Mr. Rosen found out after the fact. Mr. Rosen recounts

one specific instance of his colleague’s backstabbing efforts: When -
asked a question by his subordinates to which Mr. Rosén did not know
the answer, his colle'a-guc. would state to their supervisor, “I can’t I
believe he didn’t know something like that.” On other occasi_dns, after
instrﬁcting a subordinate to complete a-spccific task, Mr. Rosen’s
colleague would say, “I wouldn’t make you do something like that.”
What was the end result of such illegitimate political tactics? Mr. Rosen
was demoted, an action that led him to resign shortly after, while his
colleague was promoted. “Whatever I did, I lost,” recounts Mr. Rosen.

' What leads individuals to behave this way? According to Judith Briles,
‘a management consultant who has extensively studied the practice of

backstabbing, a tight job market is often a contributing factor. I'red
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. atter his colleague’s credibility. iach
llme‘hc heard a complaint, however small, from the client, he would
ask for it in an e-mail and then forward the information 1o his boss.
He’d include a short message about. his colleague such as: “I'm
powerless to deal with this. She’s not being responsive and {he
customer is beating on me.” In addition, he would fail 1o share
important information with her before presentations with their boss to
convey the impression that she did not know what she was talking

I~ about. e even took backstabbing so far as to schedule meetings with
™ their boss on an electronic calendar but then altered her version so that

she was late. Eventually, he convinced his . boss that she was

overworked. He was transferred to the client’s office, while his
colleague was moved back to the main office.

Incidents such as these may not be uncommon in the workplace. Given
today’s competitive work environment, employees may be using
political games to move ahead. To guard against backstabbing, Bob
McDonald, a management consultant, recommends telling supervisors
and other key personnel that the backstabber is not a friend. He states
that this may be effective because backstabbers ofien claim to be
friends of their victims and then act as if they are hesitant about sharing

negative information with others because of this professed friendship. .
In any event, it is clear that employées in organizations need.to be ‘

aware of illegitimate political behavior. Companies may need to adopt
formal policies to safeguard employees against. such behavior;
however, it may be the case that behaviors such as backstabbing and
spreading negative rumors are difficult to detect. Thus, both employees
and managers should try to verify information to avoid the negative
repercussions that can come from backstabbing and other illegitimate

behaviors.

la. What factors, in addition to those cited, do you believe lead (o
illegitimate political behaviors such as backstabbing?

Ib. Tmagine that a colleague is engaging in illegitimate political
behavior toward you. What steps might you take to reduce or eliminate
this behavior?

le. Do you believe that it is ever justifiable to engage in illegitimate
political behaviors such as backstabbing? If so, what are some
conditions that might justify such behavior?

Id. In addition to the obvious negative effects of illegitimate political
behavior on victims, such as those described in the above case, what
might be some negative effects on the perpetrators? On the organization

as a whole?
' {20 MARKS] [CO4]

SECTION B

Q2. Explain attribution theory and list the three determinants of

attribution.
: [10 MARKS] [CO2]

3 Q3 Evaluate the relevance of Expectancy theory by Victéf vroom in

today's dynamic business environment.
i [10 MARKS] [CO3]

Q4. Explain two theories of leadership to highlight that Leadership is
complex and multidimensiona! phenoineron and ensures
influencing people to achieve a common goal.

[10 MARKS] [CO5]

Q5. “The manager’s most basic responsibility is to focus people toward
performance of work activities to achieve desired outcomes.
What’s your interpretation of this statement? Do you agree with

\

it? Why or why not?
[10 MARKS] [CO1]
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[Note: Attempt any five questions and assume suitable missing data, if any.
All questions carry equal marks. '

Q.1 a) Discuss the Laws of Variable propomon and descnbe the three stages of
productmn (with graph). ' [M5]{CO1}[BTL2]
b) Differentiate between the concepts of economies and diseconomies of
- scale. Explain how it affects a firm's cost and profitability in the long run?
' [M5][CO1][BTL2]

Q.2 a) Differentiate between public ‘and private goods with appropriate graph and

examples. [M5][CO2][BTL3]
b) Explain the key factors behind the market failure. [M5][CO4][BTL3]

Q.3 In é"monopolistic market, ﬁrms are often enjoying certain market power.

[M10][CO4][BTL3] -
a) How does this characteristic affect their ability to maximize pronts in short
and long run?
b) What role does marginal cost play in profit maximization in such
competition? explain with appropriate graph:

- Q.4 a) The demand for shirts produced by a Canadian Manufacmrinc' has been
estlmated to be P =30 - Q/200. - : " [M5][CO4][BTL4]
i) Calculate the point elasticity at P = Rs 10and at P=Rs. 15
ii) How does the point elasticity vary with the price.
b) Explain producer equilibrium in terms least cost production and concutlon for
proﬁt maximnization with graph [M5] [CO2][BTL4]

1
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Q.5 Write short notes on any mo of the following:
a) Demand for ecasting ) .

.b) Kinked demand curve

c) Externality
features? Criticaily evaiuate price

Q.6 a) Whatis Oligopoly and what are its
[SM]I[CO4] BTT +y
Ly

determination under Oligopoly.
b) Dr. Leona Williams, a well-known plastic surgeon, has a reputztiog <
D for

being one of the best surceons for reconstructive nose surgery. Dr. Wiy s
Mams

enjoys a rather substantial degree of market power in this market. She N

estimated demand for her worktobe - &
Q=480-0.2P : C IMSTCO4] o~

[M5]{CO4] BTL4

Where, Q is the number of nose operations performed monthly 2nd P is the o
_ ) : : L om ¢ p

of"a nose operation. . N

i. What is the inverse demand function for Dr. Williams’s services?

. What is the marginal revenue function?

Q.7 a) Demand for a product depends upon price and other variableg
assumed to be held constant while prsparing a demand curve S that are
hypothetical example and plot a demand curve with orice on Y .'°I\eA 2
qu%nnty o.n X-axis. List the ‘other variables’ that are assumed to b g
and ex’plam the aifect on demand of a change in each of the ‘other :;i'ls{aﬁj

: Nabjes,

M3j ) a3

®) Describe the coneent of law of diminishing marginal f\tl] DT
e g .




Q4. XYZ Ltd. has provided you with the following transactions for the
month of October. Record the transactions in the Books of Original Entry
(Journal Entries).

1. Post them to the Ledger accounts.

2. Prepare a Trial Balance as of October 31st.

3. Classify expenscs as Capital or Revenue, '

4. Draft a simplc Income Statement based on the information.

Transactions for October:

1. On October 1st, XYZ Ltd. started business with an initial capital of
$150,000 deposited into a bank account. -

2. Purchased machinery on October Sth for $50,000 (paid by bank).

3. Purchased raw materials for $30,000 on October 10th, out of which
$10,000 was paid in cash, and the remaining $20,000 was on credit.

4. Paid salaries to staff on October 15th amounting to $5,000 in cash.

_ Sold finished goods on October 20th for $40,000; $30,000 was

received in cash, and $10,000 was on credit. ) )

Paid rent for the office on October 25th, amounting to $3,000 in

cash.

Received $5,000 from the credit customer on October 30th.

Paid $2,000 towards the outstanding creditor amount on October

31st. (Marks 10) (CO2) (BTL 2,3,4,5,6)

w

a

SN

* Q5. a. Mention the heading and sub-heading under which the following
items will be classified in balance sheet under schedule 111 of companies
act2013 : < e

2) Unclaimed dividend f) Computer software
b) Interest accrued on debentures g) Inventories

c) General Reserve . h) Balance with banks
d)Long term advances from customers | i) Goodwill

e) Sundry creditors j) Office equipment

. PK limited purchased on I April 2022, a machine for 60,000. On
1% October 2022 another machinery was purchased for  50,000. On
1% October 2023 the machine purchased on 1% April 2022 was sold

o

for  40,000. It was decided that depreciation @10% per annum was .

to_be Yvrilten off every year under diminishing balance method.
Assurplng the accounts were closed on 31 march every year, show
machinery account for the year ended 31 march 2023 and 2024

B (I
[Marks 5+5 ][COZ,S][BTL2,3]
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END TERM EXAMINATION

MBA-105: Financial and Cost accounting
Time: 03:00 Hours - Max. Marks: 50
Noto: Case study is compulsory,
the remaining four.
Assume suitable missing data, if any.

Nov-2024

Cnsc stmvly (Compulsory)
Question-1 The North Ex company has provi

Balance Sheet nt 3
alyse the financial condition on certain

2023-2024. You are required to ana < ¢
parameters as mentioned below and suggest steps for improvement, if any

(calculation to be done for both the years):

Balance Sheet as on 31" March 2024 - B
Asset 2023 ~2—02L_‘
B A PP B . L
Accounts Receivable. & " 7[25000 16000
Inventory . i _320;00__ _GE)OO"
Total Current B ‘ . - 77000 107000
"[ Plant and equipment 50000 74000 -
Accumulated Depreciation -15000 -22000
Land 20000 20000
Total ; 162,000 223,000
Liabilities and iEquity 2023 2024
Accounts Payables -l 18000 33000
Short Term Payable . 10000 0
Total Current . 28000 33000
Bonds Payable . G 0 20000
Contributed Equity . 100000 100000
Retained Earning 34000 70000
Total H 162,000 223,000

attempt any 3 questions from

ded you, the following ’
as at 313 March 2024 and Income statement for the year

hog
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220,000

Less: COGS
Gross Margin 50,000 70,000 =
otherexpenses: | | T

Administrative

salaries .| 15,000 . 17,000

Depreciation 9,000 - [ 12,000

other 7,000 (31,000) 173,000 [ (32,000)
Income from
operations 19,000 48,000
Interest expenses (800) (1800)
Income before tax 18200 46200
Income tax (5000) (10,000)
Net Income 13200 36,200

a) Comment on profitability aspect by ¢ nlcu.atmg l’loilt Margin, Return

on Asset and Return on Equity. .
b) Comment on liquidity position of the company by calculating Current

Ratio and Quick Ratio.
c) Calculate the Asset Turnover Ra(m, Fixed’ AbSCl Turnover Ratio,

Debtor Turnover Ratio and Inventory Turnover ratio and also comment
on Asset Management aspect.

d) Calculate Debt Equity Ratio, Leverage Ratio and Long-Term Debt

Equity ratio and also comment on Long term solvency aspect.

.€) What additioral information would Cash flow statement have plovxded
? The Company’s finance manager, has purchased building worth ¥ -

20,00,000 through issue of Equity shares of face value of T 100 each, In
the cash flow statement, he has shown purchase of machinery as cash
outflow from investing activities and issue of shares as cash inflow from

- financing activities, is this approach correct? Comment

(Marks 4*5) (CO1,2, 3) (BTL 2,3,4,5)

Q2. ABC Ltd. is a retail company that uses both the FIFO (First-In, First-
Out) and LIFO (Last-In, First-Out) methods to value its inventory. Below
are the details of the company s mventory transactions for the month of
October .

Inventory Transactions:

. October 1: Beginning Inventory - 50 units @ Rs.20 each
. October 8: Purchase - 100 units @ Rs.22 each

. October 15: Purchase - 150 units @ Rs. 25 each

. October 20: Sale - 120 units

. October 25: Purchase - 80 units @ Rs.26 e'lch

. October 30: Sale - 140 units

DN AW

| ~y . cnding Inventory
a. Calenlate the Cost of Goods Sold (COGS) and Ending ."

for October using:
o IO Method

o LIFO Method y
b. Compare the impact of using FIFO versus LIFO on:

o Cost of Goods Sold (COGS)

Ending Inventory Value e ’ e
: Gross Profit (Assume the sales price 13 Rs.30 per unit for all

sales)

o

(Marks 10) (CO1, 2) (BTL 1,2,3,4,5)
Q.3 (a) How is financial accounting different from Cost accounting?
Also Differentiate between the following costs with suitable

examples:
(i) Fixed and variable cost

- (ii) Direct and indirect cost
(b) Following information is given for period ending 3!" March )

2023
Particulars . Amount
Stock of raw material as on 1.4.2022 | 12,500
Purchase of raw material 1,36,000
Stock of raw material 31.3.2023 8,500
Direct wages 54,000
Direct expenses 12,000
Factory overheads 100% of direct wages
Office and administration overheads | 20% of work cost

Selling and distribution overheads 26,0900
stock of finished goods 1.4.2022 12,000 |
stock of finished goods 31.3.2023 15,000- J

| Profit on cost is 20%

Prepare a cost sheet showing the following information, also discuss the
usefulness of the cost sheet for a manager:
(i) Prime cost
(i) Work cost
(iii) Cost of production
(ivl) Amount of profit [Marks 5+5][CO4,5][BTL3,4]
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COURSF CODE- MBA-107
COURSE TITLE MARKETING MANAGEMENT

Time: 03:00 Hours , , Max. Marks: 50

Note: Attempt Any Five Questions.
__» Assume suitable-missing data, if any.

Q.1- Brleﬂy explain the role and importance of Goods - Serv1ce
Continuum in today’s business environment, with the support of
suitable examples? [10 Marks] [COI1, CO2] [L1, L2]

Q.2- Critically analyse the effect of Macro and Micro Environment on
New Age Indian start-ups, with the support of suitable illustrations?

: [10 Marks][CO1, CO2, CO4] [L3, L4, L5]

Q.3- Suppose XYZ Company is a new start-up and they are into

manufacturing of Electric Bikes. Suppose you are the Consultant to

- XYZ Company. Briefly explain the importance of Targeting and
" Positioning of Electric Bikes to Mr John, CEO of XYZ Company
for ~achieving great success in the India  market.

‘ " [10 Marks][CO2, CO4] [L2, L3, L4, L5]

Q. 4- ABC Company is based in Kanpur, Uttar Pradesh, India and they
are into manufacturing of Sneakers Shoes. “We want to create a
Well-Known Brand in India and currently we are looking for a
Consultant for the same..,” said Sandeep Sood, Managing Director,
ABC Company. What suggestion you will give as a Marketing

Consultant to Mr. Sandeep Sood, Managing Director, ABC

Company for creating an Indian Brand for Sneaker Shoes for the
~ Indian Market? .. [10 Marks][CO3, CO4] [L3, L4, L5, L6]
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turers In the market secretly agree to

Q-5 . smariphone manufac : : ‘ .

fix ll\an;:,|i(;Zn:1‘lTp?p?r |nlegl models at an unusually high rate, ensuring neither

CO’“D‘HHV undercuts the olher. As a result, consumers are forced to pay 18
: litive alternatives. What are anti-competitive e

Inflatad prices without any compe .
agreements under competition 18w, and how do such agreements impact |
ys

\ markel dynamics? Analyse the situation above a/nd explain the legal
) provisions and consequences for companies involved in anti-competitive e,

praclices, - ~ [10 Marks] [CO1, 3] (BTL4,5) |

Q.6 A company has developed a groundbreaking product, designed a
distinctive brand identity, and created original content to promote its offerings.
The management wants to protect these assets from being copied or misused
by competitors. What are the various types of intellectual property rights (IPR)
available to protect the company's innovations, brand, and content? Briefly
explain how each type of IPR can be applied in this scenario,

[10 Marks] [CO1, 2,5] [BTL2,3,4]




(i{]A manager has to assign four jobs (J1, 12, 13, 1) to four workers
(W1, W2, W3, W4). The cost of performing a job is a fimction of the
skills of the workers. The table below summarizes the cost of
assignment (in Thousand Rs.). How should the work be assigned so that
_the overall cost of completing 4 jobs is minimized. Solve using
Hungarian Method. [S]ICO3]IBTL3]

Q6. Write short notes on any two: [5X2 =10][CO1]}[BTL2]
a) Types of errors in the context of statistical hypothesis testing.

b) Monte Carlo Simulation .
c) Situations in which Sampling Method is preferred over census

approach for collecting data

Page4of4

Time: 3:00 Hours

Total No. of I'rlgés 04 Roll No. ......
" FIRST SEMESTER ) MBA
END SEMESTER EXAMINATION NOV-2024

MBA-111 DECISION SCIENCES
Max. Marks: ‘50

Note: Question 1 is compulsory. Do any 4 out of remaining 5 Questions.

Use of calculators is allowed. Assume suitable missing data, if any.

QI. You are required to write True/False or solve or fill in the blanks.

Each'of parts i to x is of I mark.
i.

'

ii.
iii.
iv.

vi.
vii.

[10][CO2][BTL2]
It is known that the mean of random variable following Poisson
Distribution is 5. What is the variance of this random variable?
IfP(A and B) = 0.15, P(A) = 0.3, P(B) = 0.25, find P(A | B).

The Karl Pearson correlation coefficient lies between --- and --.
A random variable which follows Chi Square distribution can
take values in the range --------

If X is normally distributed with mean 25 and standard

“deviation 5, find the value k such that P(X <k) = 0.5
The range is a measure of central tendency. (True/False)

If the optimal solution to a linear programming problem exists,

it always lies on the boundary of the feasible region.

(True/False) - . .

A feasible solution to an LP problem need not satisfy all of the

problem’s constraints. (True/False) 3

ANOVA tests the null hypothesis that all group means are

equal. (True/False) L

The sum of all probabilities in a probability distribution must
“equal 1. (TRUE/FALSE)

Pagelof4
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Q2li]. A survey 1000 persons was conducted to evaluate effectiveness off
a new Covid vaccine that has been administered to people in a small
village. Some people appeared for two shots, some for one and some for
none. Do the following data provide suflicient evidence to indicate that
the vaccine was successful in reducing the number of Covid cases in the
village. '

_ Novaccine  Oneshot Two shots  Total
Covid 24 9 13 46
No Covid 289 100 565 954
Total 313 109 578 1000

Formulate null and alternate hypothesis. Is there any evidence of a
significant relationship between vaccination and occurrence of covid.

Use @ = 0.05[Given: Tabulated value of Chi Square with 3 degrees of °

freedom is 7.81 and with 2 degrees of freedom is 5.99] [5]|CO3||BTL3]
[ii]. Suppose a car company is launching a brand-new model. It ¢laims
that the new model is the most fuel-efficient vehicle with an estimated
mean of 0.047 liters/km. The company uses a random sample of 20 cars
that yielded a mean of 0.051 liters/km and a standard deviation of 0.028
liters/km. Does the actual mileage for this model deviate significantly
from the company’s claim? [Given t(19) = 2.093, p<0.05) and t(20) =
2.086, p< 0.05)]
Q3. A medicine manufacturing company plans to market two syrups:
Tonus-2K and Health-Wealth. There are sufficient ingredients available
to prcduce up to 20,000 bottles of Tonus-2K and 40,000 botties of
Health-Wealth. It takes 3 hours to prepare enough material to fill 1,000

bottles of Tonus-2K and 1 hour to fill 1,000 bottles of Health-Wealth. v

The company has a total of 66 hours available for preparation.
Additionally, the company has the capacity to produce a total of 45,000
bottles for both syrups combined in the next week. The profit per bottle
is 22.80 for Tonus-2K and %2.20 for Health-Wealth. Formulate the

Linear Programming Model and solve using the Graphical Method.
: [10]]CO4][BTL4}

-Page2of4

[5]1CO3]|BTL3] .

Q4. The following table shows number of profiled customers (in Lakhs)
who reside within a fixed radius of a store, and the store sales (in Rs.
Lakhs). Fit an appropriate simple linear regression and estimate the sales
when the profiled customers are 3.0 Lakhs. Present the steps and
calculations involved. [10]{CO3|[BTL4|

Store
Profiled
Customers
(Lakhs)
Annual 5.7
Sales (Rs.
Lakhs)

1
3.7 3.6

5.9 \6.7

Q5 [i]. A company has four factories (A, B, C, D) manufacturing the
same commodity, which is required to be transported to meet the
demands in four warehouses (X,Y,Z,W). The supplies and demands, as
well as the cost of transportation from each factory to each warehouse
(in Rs. per unit of product), are given in the following table:

Y [z [w Suppl,
1A 25 | 55 | 40 | 60 |60
B 35 | 30 [ 50 | 40 140%
C 36 | 45 | 26 | 66 (150
D 35 | 30 | 41 0[50 |
Demand| 80 | 90 | 110 | 120 | |

Derive an initial basic feasible solution for the transportation of goods
from factories to warehouses. -[5](CO4]|BTL3]

Page3of4d
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MBA 2031 Corporate Govarnance nnd Soclal Responsibility
‘7"Inn" 02:00 Hours Mux, Marks: 50 Murks

Note: All qmmllmm r'mry muml ks (10 marks rmrh) /«ﬂnmpt dfl/
FIVE quastions, Assumme sultable missing data, it any,
Q1 In 2000, oner of Indin's lnrgast 1T companias, Gatyarm Comguters (1.,
shocked (he corpornte world when its chaltman confessed to inflating the
company's nnnsals by over a billion doliars, This revalation exposed seyers
lapuo In corpornlo governance, ralsing concerns about the integrity of Indis's
corporate practicos and triggaring an industry-wide examination, In light of
i peandal, whot ware the pritmary reasons and: underlying root cauzes
bohind the corpornlo govarnance falluie at Satyam Computers 1Lid,, and how
did wonknonnos In govarnance practices contribute to this breakdown?
' (10 Marks) [CO 4,5] [ETLZ,4)
Q.2 A manufacluring company operating in India is facing criticism for not
addrossing lts onvironmental impact, while also being praised for its
community welfare Initlatives, Using Archie Carroll's model of Corporate
Soclal  Responsibilily (CSR), ‘how should the company balance itz
responsibillies to address both stakeholder concerns and business
‘objectives? Idenlify the varlous responsibilities (tier-wise) and how the
company can address the same. ~ [10 Marks] [CO1,2,8) [BTL1,2]
Q.3 Imagine a company ‘has developed affordable, solar-powered lamps
designed to serve rural communities with limited access to electricity. These
lamps can help improve .evening productivity, enhance safety, and reduce -
reliance on expensive, polluting fuels. The company aims to make the lamps
accessible to as many households (at the bottom of the pyramid) as possible,
considering both affordablllty and distribution challenges. Given this goal,
categorize the various types of busmess models at the bottom of the pyramnd
and which model will be suntable in this sutuatlon [10 Marks] [CO2,5] [BTL2,4]




3(2 3 frcing INCrensing pressure
N macautical company hint bieaon facing oo e
QA A larga pharmaceatcal ¢ ‘ ironmantal (ootprin,
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from the public and rogulatory bodiet 10 “df’“.'?“',',','nm“”"y davelopment, In
high cont and contribute more nctivaly 1o local ¢ '

} 1 amanting & formsl
rosponse, ho company's londorship 16 consldering "”Il]rt)JICJ’(!I'l i 1 fiaht of this
CSR program but v unceortaln aboul tho hout way 1o g(:m o r'f)(’ommlmd(m
sltuation, discusn the Importanco of GSR for tho company, Ihe

. a5 and
. . : g s8R stratogy, and the kay rul
yocaduran (or iImplomenting an offoctivo CSIR ( o "
il cllarind Zaldar 1o ansura compliance and

the rogulatory roquiramaents thay should cor : :
meaningful Impacl, _ ' [10 Marks] (CO1,2.6] [BTL4,5]

Q.5 When Google onterad tha Chinpan market, it faced ethical ch?llf?l!qmﬁ
around censorship and the regtriction of information, weighing its mission 1o
provide open access to Information against government-imposed regulations,
Similarly, In 2018, Apple complied with Chinese laws by removing VPN apps
from its “app store In China, which restricted users' ability tOI prass
censorship. These cases highlight the ethical dilemmas multinationa
corporations (MNCs) face when their values clash with local regulations,
Using Thomas Donaldson's ethical algorithm, analyse how these companies
could evaluate thelr. actions In balancing -ethical standards ‘with local
compliance, How can' Donaldson's framework guide MNCs: in rmaking

decisions  hal respect both universal ethical principles and cultural
differences? o ) [10 Marks] [CO1, 3,5] [BTL2,5]

Q.6 Imagine a leading social media platform, Connectify, is preparing to
launch a new, innovative feature that promises to revolutionize how users
Interact with content. However, a rival company, SocialSphere, is struggling
to keep up and risks losing user engagement and market share. In a
desperate move, SocialSphere's executives consider secretly gaining access
to Qonnectify's proprietary algorithms and design through a hired hacker,
believing it would help them stay competitive. ‘ :

In th.is situation, discuss the ethical, moral, and values-based implications of
,S.ocnalSphere'sApotential actions. Should they prioritize their survival in a
corppetitive market and the short-term gains for stakeholders. or uphold
eth:;al principles and the integrity of their business? How can the company
. naYlgate this dilemma while.aligning'with both its business objectives and
ethical standards? N [10 Marks] [CO1, 2] [BTL2,3]
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landscape. Identify and outline alternative strategics that Atla can

implement to achieve its goals, while also fostering stability and
_ profitability for the industry as a whole. [10] [COG6][BTLG]

OR

Q.5.(a) Tesla, a leader in the electric vehicle market, positions itself by
producing high-performance electric cars with cutting-edge technology
and sustainability features. The company also focuses on building an
extensive Supercharger network and enhancing its autonomous driving
capabilities. How would you characterize Tesla’s business-level
competitive strategy, and what advantages does this strategy offer the
company? X [5] [CO4][BTLA4]
Q.5.(b) PrimeBrew Coffee, a mid-sized specialty coffee company, has
built a strong local following by offering premium, sustainably sourced
coffee beans and using unique artisanal-roasting techniques. Known for

its exceptional quality and commitment to environmental sustainability,

PrimeBrew has strategically invested in several key areas. First, the
company’s advanced, custom-built roasting machines provide precise
control over flavor, allowing PrimeBrew to consistently deliver a unique
taste profile that is difficult for competitors to match. Additionally, the

company holds certifications from reputable organizations like Fair Trade

and Rainforest Alliance, reinforcing its brand reputation and attracting
eco-conscious customers. PrimeBrew’s skilled roasting team, composed

of highly trained artisans, contributes significantly to its reputation, as

they possess rare expertise in crafting nuanced flavors. PrimeBrew relies

- .y -—w -— -wr - -

Total no. of pages: 04 -
THIRD SEMESTER
END TERM EXAMINATION Nov.-2024

MBA201: STRATEGIC MANAGEMENT
Max Marks: 50

Time: 3:00 hours

Bole: All questions are compulsory

All questions carry equal marks _

Q.1 (a) Assume you are in the mobile phone industry in India. On the
basis of the CAGE framework, rank the following countries in which you

should expand out of: Malaysia, Australia, Brazil, and China. Explain
with suitable reasons: [s1[CO \_][BTLJ]

Q.1 (b) Evaluate the type of corporate level strategy followed in the

following cases: - .
i. Microsoft acquired gaming giant Activision Blizzard for nearly $69
billion. This acquisition bolstered Microsoft’s presence in the

gaming industry, especially with Activision’s popular franchises
like Call of Duty and World of Warcraft.

A leading FMCG company has decided to reduce its investment in
a particular product to extract maximum profit from its sales.

An old company has been facing financial issues for many years and
is willing to give up its independence in exchange for security. -

and expanded its Apple Pay services.

Apple launched a high-yield savings account with Goldman Sachs,

hbC

Ola, one of India's largest ride-hailing operations, purchased
TaxiForSure for $200 million as a smaller, but value-centric, cash
and equity deal. Ola's footprint in the country has been extended by

“adding TaxiForSure's 15,000+ fleet onto its network across 47 cities.
: [5] [CO3][BTLS5]

on standardized packaging equipment and basic administrative software )
for accounting, inventory management, and customer relationship : . v.
management. Furthermore, strong partnerships with local coffee farmers

enable PrimeBrew to secure high-quality beans at competitive prices and

create ‘unique, region-specific blends that are challenging for other

companies to replicate. Use the VRIO framework to assess the company’s .

[5] [CO2][BTL3]

internal resources and capabilities.

END
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Q.2 (a) Recommend (with reasons) the international entry modes to be

adopted in the following cases:

i.  American Locomotive company sold locomotives and diesel
engines in Australia and got paid in cash, which according to the
agreement with Australia, they were spent for purchase of
Australian cutting tools from the same company.

ii.  McDonnell Douglas agreed to a deal with Thailand for eight top of

the range I /A — 18 strike aircraft. Thailand agreed to pay $578°

million of the total cost in cash, and McDonnell Douglas agreed to
accept $93 million in a mixed bag of goods including Thai rubber,
ceramics, furniture, frozen chicken and canned fruit. :

iii. ACWA Power, a Saudi Arabian company undertook all activities,

- including design, financing, procurement, construction, and

commissioning of a solar park. Once completed, the operational

solar park was given to the Dubai Electricity and Water Authority

(DEWA), allowing DEWA to immediately begin generating and
distributing solar power. [5] [CO5][BTLS]

Q.2 (b) Why are pioneering compariies often unablie to create a business

modei that allows them to be successful over time and remain the market
leaders? Analyze the reasons and expiain how the pioneering companies

can cross the chasm with the help of an example. - . [5][CO6][BTLA] |

Q.3(a) Some decisions are made in a flash by one person (entrepieneur or
CEO) who has brilliant insight and is quickly able to convince others to
adopt his idea. Other decisions develop out of a series of small choices
that over time pushes an organization to move in one direction.” In the
light of the above statement, explain the different modes of strategic
decision making with the help of suitable examples. )
[5][CO2][BTL2]

Q.3(b) Effective strategy execution relies on a collective team effort,

where managers and employees alike play active roles in implementing -

the strategy within their areas of responsibility. Considering this, what key

" measures should management implement to ensure successful strategy

execution across all levels?

[5] [C04,CO6] [BTL2]

Q.4(a) Assess the type of offensive tactic highlighted in tl1§ following

Slit.”mlon?"epsi Jaunched Sting energy drink at a lower price to challenge
Red Bull., ; .

ii. Apple introduced Vision Pro to set a new standard in VR,

_ competing with Meta’s Oculus .

iii. JioMart -éxpanded into groceries, electronics, and fashion,
challenging Amazon and Flipkart. Its expansive feach and
competitive pricing allowed it to gain ground on multiple fronts
simultaneously. .

iv. Xiaomi launched affordable smart home products, targeting
budget-conscious consumers and competing with premium
brands like Nest. .

v. In FIFA world cup, Adidas was the game’s official sponsor while
Nike .advertised its products through TV commercials and
popular football players. [5] [CO3][BTLS5]

Q.4.(b) Shell has consistently focused-on expanding.its presence in
renewable energy while maintaining its leadership in traditional oil and
gas sectors. The company has diversified its portfolio, investing in solar,
wind, and "hydrogen energy, while also pursuing sustainable business
practices to reduce its carbon footprint. Using the Shell Directional
Strategy Matrix, how would you classify Shell’s strategic position in both
its renewable energy and traditional energy sectors, and what strategic
actions should the company take to enhance its performance in each
sector? . [5] [CC4][BTL4]

Q.5. In a mature industry, Atla Automotives, a well-established car
manufacturer, faces a challenging environment marked by slowing

~demand growth and intensified competition. The company must find ways

to sustain profitability without resorting to aggressive price wars that
could erode margins across the industry. To tackle this, Atla is prepared
to adopt a multi-faceted strategy aimed at distinguishing itself and
supporting the overall profitability of the sector. Imagine you are an
executive at Atla Automotives. Your task is to develop a strategic plan
that will enable the company to survive and thrive in this competitive

3
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MBEA-205 Applied Business Analytics and Inteliigence
Time: C2:00 Hours ‘ Mazx. Marks: 50

Note : All questions carry equal marks.
Choose any 5 out of 6.
Assume suitable missing data, if any.

Table: Employees

EmployeeID FirstNamc LastName | DepartmentID | Salary | HireDate:
1 Aarav Patel 1 50000 | 2015-03-25
2 Priya Kumar 2 60000 | 2016-06-12
3 Rahul Sharma 1 55000 | 2017-07-15
4 Neha Reddy 2 45000 | 2018-11-19
5 Arjun Deshmukh | 1 70000 [2019-02-10
6 Ria Tyer 3 65000 | 2020-01-20
Table: Department
DegpartmentID . DepartmentName
1 HR
2 T
3 Marketing
Q.1 Write a SQL query to list all employees along with their department
" name. [Marks 10][CO#2][BTL#3]
Q.2 Write a SQL query to find the departments where the average salary
is greater than 55,000.  [Marks 10] [CO#2][BTL#3]
Q.3 Soive
Mazimize Profit: Profit = 5x + 4y
Subject to:
x+y<50
Xx+y<8&0
x>0, y>0 . S [Marks 10][CO#3][BTL#4]

Q.4 Discuss Analytics Capablhty Maturity Model

“ ['Marks IO] [COn-]][BTL#2]
Q.5 Explain ARIMA(p.d,q) [Marks 10][CO#3][BTL#2]
Q.6 Explain Machine learning algorithms [Marks 10][CO#3][BTL#2]




lil Ina B-Schmlvl, sl.udcn(: profiles including clectives taken, resnlt and their
[\w'lncc;ncnl data m_hmng maintained in the form of excel files since last 20 years.
h(_vu have l:rtn h'lmi oS an mml).'Sl 10 (I:c\'cl<\|1 insights based on past data and
ring (‘lJl suggestions fnr improving performance. Present your approach (in the
form of bullets or ) dingram) for exccuting this project. What are the key
!:hnllcngcs you are likely 10 face during data pre-processing.  Explain with
illustrations. (CO2,3;D71L1,2) 5 Marks
[ii] Given below is training set data taken from a student database of B-School.
App!y Baycsian Classification to find out the Grade of the student with
attribute Dedicated = Yes, SMA = No.
Dedicated | Studics Socinl  Media | Grade
Regularly | Addict (SMA)

Qs.

| (SR)
|

{Yes | No | No | _Poor

[ Yes I'No | Yes | Good |
[ No | Yes | Yes [ Poor
[No 1 Yes | No | Good
[Yes | Yes | Yes | Good |

(CO2; BTL3,4) 5 Marks

Q6. Write short notes on any two of the following: (CO1,2,4;BTL1,2,4) 10Marks

(a) Recommended systems with illustration .
(b) Key data related issues during data Pre-Processing stage of a data mining project

{c) Social Media Network Analym_:s
(e) Text Mining process and the challenges involved

Pagedof 4
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Total No. of fngrv:!)l
111 SEMESTER

MBA
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END SEMESTER EXAMINATION
MBAAN2I1 Business Intelligence and Analytics
Max.

Time: 3:00 Hours

Marks: 50
Note:Question 1 Is compulsory and its each part Is of 1 mark. Attempt any four
from remaining five questions. Assume suitable missing data, if any. Use of

calculator is allowed.

Q1. Till in the blank/ choose correct option/give short answer: (CO1,2,3; BTLL,2)
10 Marks

i. Entropy (2,2) is:
(@) 0 (b) 1(c)-1/2(d) 12

ii. After ﬁninEg a multiple linear regression involving 3 independent variables, it is observed

that R2 is 0.45. How do you interpret this? [Limit your answer to 20 words]

iii. Consider 5 items as : {a}, {b}, {c}, {d}, and {e}. If an item set {a,b,c} is found to
infrequent, identify the item sets which shall also be infrequent as per apriori principle
iv. The measure which assesses the degree to which occurrence of one item enhances
the occurrence of other is : (a) Mincof (b) Minsup (¢} Recall (d) Lift

v. In the context of data pre-processing, one of the statistical measurc which can be
values is 5

used for replacing quantitative
vi. In a logistics regression, the logit function is log [ P(Y=0) / (1- P(Y=0) ) ] =5-
0.35X. Then the equation for logit function log [ P(Y=1)/(1-P(Y=1))]is:
(a)-5+0.35X (b) 5+ 0.35X (c) 0.35-5X (d) 0.35+5X

vii. Mahalanobis distance measure is used in : (a) Decision Tree Analysis (b)
Regression Analysis (c) Clustering (d) None of these .

viii. In Data warehouse, data is stored in the form of : (a) Tables (b) Hypercube (c)

View (d) Large text files

ix. In data warehouse context, moving from higher granularity to lower granularity is
accomplished through (a) slice (b) dice (c) roll up (d) drill down

x. ROC curve is a plot between (a) Specificity and Sensitivity (b) Sensitivity and I -

Specificily (c) Sensitivity and Recall (d) Sensitivity and F Score
page 10f 4
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Q2.[i] The following are somple tuples from hypothetical 101, databasc of Indinn

players:

Left/Right [ Date
ander of

Name

played [ Score

First | Skin !Mulrl-n Performance | Rank

h
N llnlsnmnl 35 BES NP
BN )Y — i
01- [22-07- |Dowler | 30 |90 (4
09-1- [ 2019
! 2000 o
=1 = = = 1= = =1

(a) Specify data type for each attribute (i.c. whether it is of type ordinal/ratio/nominal/

interval)
(b) Arrange the categories of attributes from weakest to strongest.

(c) What type of operations are possible on attributes in cach category
(CO3; BTL2) 5 Marks

[iij A sample of retail database has $ transactions as shown below:

Shopping | Bread [ Cheese Eggs [ Jam 1S Ayonnaise
l_‘}ﬁlkfp' g’ ’ ] eg Milk | Mayonnai
1 11 |1 |1 1 0 0

(2 1 1 o 1 0 0

13 1 [0 10 o i 1

|4 11 |0 o 1 |1 0

s o 1 o |1 0

Use Apriori method to generate rules (Assume support threshold minsup =3).
. (CO1; BTL3) 5 Marks

Q3.[i] For fiye oriine learning platforms labelled P1, P2, ....PS5, the rati i
, P2, ....PS, ings given by 4
students (S1, ... ,S4) are given in the following Table: e Y

Platform/ | P1|P2 | P3| P4| D5

Student

(st 43 (1|2 |4
|sz 314 |24 |2
l'ss 3 (4 [3 (|4 [4 l
[54 ]3 2 333 |

Page 20f 4

TERE

a 34 who is closest
Tosine similarity coefficient to find among students $2, S3 and Sl
"({‘:"‘"I‘:::;'g ""““'"' v (CO2;BTL3) S Marks
vality, out of these 100 persn.ns, 20
he outcome of test results aga!nsl the
ositive test result implies disease)-
Specificity and Precision.

[ii] 100 persons are tested for disease. In act
people are diseased and 80 non-diseased. T

actual numbers i3 presented below '(P
Compute Accuracy, Error rate, S'en.ql!‘lvny,

e
o i T Truth
Disense Non Disease !

40 (False tve)

40 (True —ve)

(CO];BTI,J)SMnrks

Tositive | 15 (True bve)
Negative |5 (False—ve) |

Test Result

ata taken from a patient database of a hospital. A
sing information gain as the attribute selection
measure) for the concept “Infected’, i.e. for the last column which indicates whec'her a
patient is infected. Calculate information gain with respect to only the first_attribute,
i.c. ‘Fever’. Write steps for forming the tree. [Given: Log: (X) = Login (X) / Logio (2)
(CO2;BTL3,5) 8 Marks

Q4. [1] Given below Is training set d
decision tree has to be prepared (v

1

Patient | Fever Cough Breathing | Infected

D Issues

1 No No No No

2 Yes Yes Yes Yes

3 Yes es No No

4 Yes No Yes Yes

5 Yes Yes Yes Yes
L6 No Yes No No
[77 Yes No ‘Yes Yes

8 Yes No [ Yes Yes

9 No Yes Yes Yes

‘110 Yes Yes No - Yes

11 No Yes No No

12 No Yes Yes Yes

13 No Yes Yes No

14 Yes Yes | No No |

[ii] State any two assumptions of Multiple Linear Regressioﬁ
’ (CO1; BTL2) 2 Marks

Page3of4
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MBAAN-213 Data Analytics in Finance

Time: 03:00 Hours : Max. Marks: 50

Note : All questions carry equal marks.
Choose any 5 questions.
Assume suitable missing data, if any.

Q.1 Explain the difference between systematic and unsystematic risk.
[Marks 10][CO#1][BTL#1]

Q.2 You have the following list .of monthly revenues in thousands of
dollars: [120, 150, 100, 180, 130, 160]. Write Python code to
calculate the average revenue and display the result.

[Marks 10][CO#2][BTL#3]

Q.3 What is an option contract in financial markets? Explain the
differences between call and put options. Additionally, discuss the
advantages and disadvantages of being a buyer or seller of an option

_contract. y ‘[Marks 10][CO#1][BTL#2]

Q.4 A trader buys a Nifty call option with a strike price of 25,100 when
Nifty is currently trading at 25,000. The option's Last Traded Price
(LTP) is 50. On expiry day, under what conditions will the buyer of
the call option be profitable? Conversely, when will the seller of the
call option benefit? ' [Marks 10][CO#3][BTL#4]

Q.5 ,What:is a future contract. Explain with an example.
) [Marks 10][CO#2][BTL#3]

Q.6 Explain black scholas formula - - [Marks 10][CO#3][BTL#2]
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MBAMK-213-CONSUMER BEHAVIOUR
Max. Marks: 50

Time: 03:00 Hours-
) Déte: Attempt Any Five Questions.

Assume suitable missing data, if any.

QI. What do you understand by Cognitive Dissonance? Explain with the
[10 Marks][CO1] [L1, L2]

support of suitable examples?

Q2. Explam the role and importance of Consumer Profiling with the E
(10 Marks] [CO2, CO3] [L2,L3] -

support of suitable illustrations?
Q3. Why Indian organizations are focusmg on Consumer Perception?

Explain wrth the support of suitable examples? )
[10 Marks] [CO1, CO4] [L3, L4, L5]
Q4. Define Consumer Involvement and dxfferentlate between H1gh-v

Involvement and Low—InvoIvement products with examples
[10 Marks] [CO2, CO3] [L1]

Q5. Assess the role of Family Inﬂuénce and Life Cycle Stages in

consumer decxsxon-ma}dng Provide examples of how they impact
[10 Marks] [CO3, CO4] [ L5]

purchasing choices.
Q6 Describe Psychographic Segmentation and discuss how it helps

marketers in targeting specific consumer segments
[10 Marks] [CO1, CO3, CO4] [L2]
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END TERM EXAMINATION
MBAMK215: Product and Brand Management
5 Max. Marks: 50

Time: 03:00 Hours

[Note : All questions:carry equal marks. ,
Assume suitable missing, data, if any.

chiez: Expanding into the Snacking
Market ’ ' '
Marico Limited, a leader in consumer goods, has broadened its Saffola
brand's portfolio by launching 4 new range of ready-to-eat snacks under
the banner of Saffola Crunchiez. This new lineup, feat'uring Ragi Chips
and Roasted Makhana in multiple flavors, aims to cater to the growing
demand for healthier ‘snack options. With this launch, Marico seeks to
strengthen its presence in the premium and health-conscious’ foods
segment, capitalizing on modern consumers’ preferences for convenient

yet nutritious eating options. - 4
Historically known for its health-focused edible oils, Saffola has steadily

expanded its offerings into diverse food categories such as oats, noodles,

and honey. The eritry into the snacking segment marks a significant step in
Marico’s strategy to increase its footprint in the healthy food market.

Executives at Marico have highlighted the rising consumer preference for
branded snacks over unpackaged options, a trend that aligns with their goal

to deliver “conscious indulgence." o
The launch also presents challenges. The Saffola brand, traditionally

associated with cooking and health, must now establish credibility in a
highly competitive snacking market dominated by players such as ITC and
PepsiCo. To ensure success, Marico must effectively position Saffola

Crunchiez to resonate with its target audience while maintaining its core
hea_lth-ceritn'c identity. A’dditionally,‘Ma'rico needs to address the risks of
. Page 1 of2
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Lew calegorys ensuring that the

to a !
stretching the Saffola brand in s market reputation.

extension strengthens, rather than dilutes, i

Qucmons
) ted with
a) Identify the type of b”’"d extension Marico hss larlnnp:frr:::t of this
the launch of Saffola Crunchiez. Bvaluaié :1 eosmimng
strategy with the parent brand’s health-focused P the Saffol
b) Propose strategies to ensure the extension strengthens e Saffola
brand and achieves long-term success. ] :
(5x2=10 Marksllf‘ 02,4,5](BTLA4,5]
Q2 A premium Indian dairy brand is planning to peposition iSEiD

appeal to health-conscious millennials. Using Aalfcr = Brand Identity
Framework, outline a strategy to create a strong brand identity for the brgnd,
ost relevant to this

Focus on the dimensions of the. framework that are m
objective. : (10 Marks][COZ2, 4] [BTL6]

OR
Apply Kapferer’s Brand ldentlty Prism to eval
Tanishq, India’s leading jewelry brand. Identify and explam how the six

:f‘acets of the prism are reﬂected in Tanishq’s commumcatlon and customer
perception. [10 Marks][C04 5][BTL3]

uate the brand ldentlty of

Q.3 With reference to the recent surge in online fitness communities
during the pandemic, evaluate the role of e-communities in managing and

enhancmg brand communication and image for fitness startups in India.
(10 Marks][CO3 5][BTLS].

Q.4 Using Amul’s dairy product portfolio as an example, analyze how
one of its products (you may choose any of Amul’s product) has moved
through the stages of the Product Life Cycle (PLC). What strategies has
Amul implemented to manage the maturity and decline stages?

(10 Marks] [COl][BTL4]

Q.5 Choose any FMCG company of your choice and analyze its product

portfolio using the BCG Matrix. Categonze its products and recommend
strategies for improving the market share of its “question mark” category
products. [10 Marks][CO2][BTL4]\

- Page2of2
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Q4) Give your comments and opinion on any 2 of the following (10 M)
Reldvance of Service Blueprinting and SOIs in service organizations

B)
w - )
Nol all satisfied customers are loyal and not all loyal customers are

b),
satisfied™?

"C) Servite loyalty is difficult to

N('i) Service Queuing a method to tack

build but not jmpossible to maintain?
le fluctuation demand patterns?

adia has seen a tremendous

n the surge looking into the rise of business ravel
into this growth multinational hospitality
votel, Lemon Tree etc. are eycing Indiaasa
Gillies Delisson, CEO of Accor, says they
India and add more brands like Sofitel,
folio. Analyze the factors you think are
otels in India? Do you foresee any

their growth on Indian s0il? Justily
(10 M)

QS) The demand for branded economy hotels in 1

growth in the past and is still @
and leisure trips in Indid. Looking
chains like Accor, Pullman, Ibis, No
ket to cater to. Mr.
00 more hotels in
re to their port
demand for such h
brands that may hamper
te reasons?

big potential marl
plan to establish
Pullman-and Mercu
responsible for the
challenges for foreign
; with concre

at service industry has

your answer
sector

t to say th
ut rapidly growing service
norganized sector,

my. Do you agree

an undermining statemen

e of the Indian economy, b

Q6) 1 tvould not be
pite of the threats posed by u

i
become the backbon

has still a long way to go. Des
services contribute 3 major part of the GDP in the Indian econo
17 Evaluate the reasons responsible for the growth of
: (aoM)

with the given statemen
services in India?

Q7N

a) Discuss in detail

the service Gaps model (Seeru'al Model) that leads to
widening of many service gaps leading to service failure and customer
dissatisfaction. Keeping in mind a hospitality chain or a cinema theatre o
any such service example, describe these service gaps and their recovery

methods:
b) What type of

and why?
». Authority issuing Driving licen

» OPD atasmall clinic of a Dentist e
» Toll Booth at NH8 highway ; (1oM) -

queuing systerm is most suitable for each of the following,

se

Total No. of Pages:- 2
Delhi Technical University

Delhi School of management
Nov 2024 -

End Term Examination

Course Code - (MBA MK-221) Course Title — Marketing of Services

M.M.- 50 Marks

_ Time -3 hours

Note: - Attempt any 5 questions

ways and therefore have different ways
m. Discuss in detail the characteristics

from tangible commodities and goods.
examples attached with

Q1) Services differ from goods in many
and strategies being adopted to handle the

ake them distinguished

of services that m
nd list down live

Highlight the four I's of services &
them used in the contemporary business practices.
(10 M)
Q2)
d on the service

e delivery does not only depen
provider but also on the service receiver as well. “The cu
le in creating a delightful service experience.’

in service delivery and its 1
th the help of an example W!
of service delivery.

a) The success of servic

_ an important 10
-the role of a buyer
marketer? Support your answer wi

 receiver playsa pivotal role in the performance

b) How do influencers and opinion leaders impact the service

- purchase of services? Give example.

f the cinema show, due to non-ﬁllﬁl
the show got cancelled an
ever the pul

Q3) In one o
auditorium seats,
refund of their ticket price. How
telecast at the scheduled time and create

How would you handle such a service
repare strategies

Cineplex manager? Also p
future?

stomer too plays
» Highlight
importance for a service
here service

buyers in the
(10 M)

ment of minimum no. of
d the audience were offered a full
blic was adamant for the show
d a ruckus with the management team.
delivery failure situation being the
to avoid such a situation in the

<
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© MBASC213: TOTAL QUALUTY MANAGEMENT :
- END-TERM EXAMINATION - i NOV/DEC-2024
Time: 3:00 hr : MAX. MARKS: 50
 NOTE: HeD s ' ‘

1. Answer any five questions
2. Control Charts/tables are allowed.
3. Assume suitable missing data if any.

Ql. (a) Define the term “quality”. Write the vérious definitions of quality.
Explain the contribution of W A Shewart, W E Deming, K Ishikawa, G

‘Taguchi, and P B Crosby in the field quality management.

L1,2,3 CO1,2,3 (5]

(b) Discuss the 7-basic tools of quality control with ‘suitable induétry/rea]

life example. , L1,23 C02,.3 151

Q2. Construct the X-bar and R-chart, and establish the control limits for
the hard brake process: ; L23 . CO1,23 [10]

Flow Width Measurements (microns) for the Hard-Bake Process

Sample - | Wafers
Number |1 2 3 4 5 .
1 1.3235 1.4128 1.6744 1.4573. 1.6914
2 14314 1.3592 1.6075 1.4666 1.6109
3 1.4284 1.4871 1.4932 1.4324 1.5674
4 1.5028 1.6352 1.3841 1.2831 1.5507
S 1.5604 1.2735 1.5265 1.4363 1.6441 3
6 1.5955 1.5451 1.3574 1.3281 1.4198
7 1.6274 1.5064 1.8366 1.4177 1.5144
8 1.4190 1.4303 1.6637 1.6067 1.5519
9 - 1.3884 1.7277 1.5355 1.5176 1.3688
10 1.4039 1.6697 1.5089 1.4627 1.5220
11. 1.4158 1.7667 1.4278 1.5928 1.4181°
L2 1.5821 | 1.3355 1.5777 1.3908 1.7559
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[13 1.2856 1.4106 1.4447 1673"" 11069
|14 [ 14951, | 1.4036 1.5893___,,_',%:%3——-‘—1377-]"“
15 T3ses 1286315996 1288 —
’T_Jl—ﬁ’li" 1.5301 15171 —'—'153—4’—‘—[’74@""
(1713680 1.7269 1.3957 _l.,sgl,_.,_l_-gsﬁ—-—-«
[18 1.4163 13864 _ | 1.3057 “4‘@’7"7277’,1

1 T5796 | Tai8s | Lesal L3116 _Looey

20 7i06 | Tadiz | 1236l | 13820 e

[21 1.4371 1.5051 13485 | 1.5670 14880

[22 A58 15936 | 16583 | 14973 L4723
[23 15017 | 14333 | 1.5551 |2’;’?§ L6866 -
[24 16399 [ 15243 15705 L1238 125 il
[25 1.5797 1.3663 1.6240 13 ]1.6887 |

Q3. (a) Discuss OC curve a]oﬁg with AQL, LTPD, Consumggslnsk, %
Producers risk. ' L3,4,5

- (b) Discuss sing]e sampling hlan, double samp(ajl.ingdp]artl, and sequential
sampling plan al ith their advantages and disadvantages. .

- samp mgrp an along wi ‘ TETE, o1 5

7 Q4. Discuss the concept of Six Sigma- Explain the_step-by_—step approach
of implementing six sigma i.e. DMAIC. 12,3,4 CO3 [10]

Qf. What i.S 1SO 9000AAse>riéS of quality system .s‘tand{irds? Discuss steps.
- for im‘p]ementing ISO 9000 in companies. ~ L2,3,4  CO2,3  [10]
Q6. A company purchases a brake in-containers of 5000 each. Ten
 containers have arrived at the unloading facility, and 250 brackets are

selected at random from each container. The fraction nonconforming in

each sample are 0, 0, 0, 0.003, 0.007, 0.020, 0.005, 0, 0, and 0.006. Do

the data from this shipment indicate statistical control? .
' : ' - L1,2,46- CO1,2,3 [10]

Q7. In reference to Apolo Hospital Case study discussed in the class,
enumerate and discuss the key strength and weaknesses of the company

from total quality management perspectives. A :
L4,5 A C02,3 [10]

Page 20of2




- —_— e e e we w e = - wr e
1otal no. qfl’ng'elr: 03 Roll no, ...............
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- MBASC 221- SUPPLY CHAIN PLANNING AND EXECUTION
Time: 3 Hours Max. Mari(s 50

Note: Answer any five questions out of seven questions, give relevant answers.

All questions carry equal marks, Assume suitable missing Data if any.

Q1. A lack of strategic fit between the competitive and supply chain strategies can
result in the supply ‘chain taking actions that are not consistent with customer
‘nceds, Ieading to a reduction in supply chain surplus and decreasing supply chain
profitability. In the context characterize ithe competitive supply chain strategy of
‘, discount retail Chain such as DMart? What are key customer needs that DMart

-aims to {ill? Is Quick Commerce a challenge for DMart in long term? How to meet

the challenge” (6+2+2) (C01+C02)

-Q2. a) How can a suppller with a lower price end up costmg the buyer more than
a suppl_ler with a higher price? b) Explain why, for.the same inventory level, a
revenue-sharing contract results in a lower sales effort from the retailer than if the

relallcr has paid for the product and is resp01151ble for all « “emammg inventory.
(7+3) (CO3)

Q3. A) What are the key cost drivers in reverse logistics, and how can they be
minimized? B) Repair, Reuse, and Recycle are must in Manufactured products to

Sustain = Environment, how does reverse logistics support them.
(7+3) (CO3) (CO4)

Q4. Michaels had 32 stores in Illinois and sourced its products from eight

suppliers. Each Illinois store sold on average, 50,000 units a year of product from.

each supplier (for annual sales of 400,000 units per store). Holding costs for
Michael’s were $1 per unit pet year.
 Distribution Alternatives being’ considcrcd are: 1. Use direct shipping with even
. larger trucks that had a capacity of 40,000 units. These trucks charged only $1,150
per delivery to an Illinois store. Using larger trucks would lower transportation
costs but increase inventories because of the larger batch sizes. 2. Run milk runs

Il
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ven il the

ach supplier to multiple stores in Tlinois to lower inventory cost ¢
ased. Large trucks (capacity of 40,000 units) would
$150 per delivery.

frome
cost of transportation incre
charge $1,000 per shipment and a charge of
What are the annual distribution costs of the distribution network ol the alternative
networks? Include transportation and inventory costs. (5+5) (COH)
Q5. A particular raw material is available to a company at three different prices

based on the size of the order as following
100 units to 1000 units
More than 1000 units

The cost to place order is Rs.40. Annual demand is 3000 units. The holding (or

carrying) cost is 25% of the material cost. A) What is EOQ for each option B)

Decide out of above 2 which of the quantities should be ordered.

Rs.19 per unit
Rs. 18 per unit

s a manufacturer that produces bracket assemblies.
(X) is 130 units. For 1 unit of X -at the level 1
£ unit B, and at the level 2-1 unit of B requires

Q6. A) Krishna Engineering i
Deinand for bracket assemblies
requires 4 units of A, and 2 units 0
3 units of Cand 1 Unitof D. -

The following is a table indicating current inventory levels:

X A B . |C D]

16 60 [1s0 — [20 |

Items

a) Draw Bill of Material (BOM) iq Product Structure Tree format.
N 2.5 (CO2+CO3)

b) What are the net requirements of each item in_ MPS.

2.5 (CO2+CO3)

B) The Following table gives operations times and due dates for 5 jobs that are

processes on a machine. Assign the jobs according to the shortest operations time
and calculate the mean flow time:

(5+5) (CO2+CO03) ..
. orders (although a few customers

-, serve the role of a distributor or retai

" products to their-customers. G

Y3882~

e
o e date for
Processing rime (l;)(::nplelion

commilted to

Customer ___——
- /”3’/
T [6days — e
(e e B T ]
T |4days R S
104 ; 9 daﬁ///
Jos  |sdays —— PRDES LI R
5 (C02+C03)

wer the following questions:

Carr sell maintenance, repair,
have catalogues and web pages through which
orders can be placed. W.W. Grainger also has several hundred stores throughout
the United States. Customers can walk into a store, call in an order, or place it via
{he website. W.W. Grainger orders are either shipped to the customer almost all its
near its Distribution Centres (DCs) do pick up
their own orders). W.W. Grainger has nine DCs that both replehish stores and fill
customer orders. McMaster has five DCs from which all orders are filled. Neither
McMaster nor W.W. Grainger manufactures any product. They both primarily
ler. Their success is largely linked to their
supply chain management ability. Both firms offer several hundred thousand
rainger stocks about 300,000 stock-keeping units
bout 500,000. Grainger also provides many

Q7. Read the case and ans
and operations

WW. Grainger and McMaster-
(MRO) products. Both companies

(SKUs), whereas McMaster carries a

* other products that it does not stock directly from its suppliers.

a. Discuss the Pros and Cons of the two distribution ~ strategies.

5(CO4)

b (i) What products should be carried in inventory and what products should be

left with the supplier to be shipped directly in response to a customer order?
3 : X 2.5(C02)

gln) ]’lI;)\; should.markets be allocated to DCs in terms of order fulfilment? What

; ;ou e'.done if an order cannot be completely filled from a DC? Should there
‘ specified backup locations? How should they be selected?
2.5(C02)
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THIRD SEMESTER _MBA

END TERM EXAMINATION ,  November-2024

Time: 03 :00 Hours

COURSE CODE-MBAHR 211
TITLE Industrial Relations and Iabour Leglslatlon

Max. Marks: 50

N

ote: ATTEMPT ANY FIVE QUESTIONS
All questions carry equal marks.
Assume suitable missing data if any.

Q.1

Q.2

-Q.3

Q4

Discuss in detail the settlement Machinery according to the
Industrial Dispute Act 1947, - [10 MARKS] [CO1]
WPM is a system of communication and consultation, either
formal or informal, by which employees of an organization are
kept informed about the affairs of the undertaking and through

which they express their opinion and contribute to the
management decisions. Do you agree? Justify

[10 MARKS] [COZ]
Discuss the power and functlons of certifying officer under
Industrial Employment (Standing Orders) Act 1946.

[10 MARKS] [CO4] _
Write notes on:

a) Trade union and its challenges

' b) Lay off ' [10 MARKS] [CO4]

Q.5 Discuss the provisions relating to employment of children and

adolescents under factories Act.

[10 MARKS] [CO3]

Q.6 a) What is.a gnevance and what is fhe need for a gnevance '
proce :

dure?
b) Explain the measures for prevention of strikes.

[10 MARKS] [CO 2]
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' 3" SEMESTER ' *
MBA

END SEMESTER EXAMINATION November-2024

MBAHR-217 Strategic Human Resource Management

Time: 03:00 Hours

Note: Ahswer any five questions -~ -
All questions carry equal marks,
Assume suitable missing data, if any. R
COH# is course outcorrie(s) related to the'question.
L# Cogritivé complexity (order of thinkirig skill) required to
s'och':}‘thé;qpé's'ti’c’iﬁs".' i U Aen L b

Max. Marks: 50

Q.1 What are individual High Performance Work Practices (HPWP),
and how do they contribute to employee motivation and organizational
performance? Provide examples of specific HPWP practices and
discuss their effectiveness in different organizational contexts?

[10 Marks][CO1][L2]

Q.2 How can HR be considered a scarce, inimitable, and non-
substitutable resource within an organization? :

Take the example of Netflix, a company known for its innovative
culture and success in the competitive streaming industry. Netflix has
made its human capital a key driver of its competitive advantage by
investing heavily in its employees' creativity, autonomy, and alignment
with its company values. )

In this context, discuss how Netflix’s HR practices create a workforce
that is scarce, inimitable, and non-substitutable. How do these attributes
contribute to sustaining Netflix’s market leadership, and what role does
HR play in supporting strategic decision-making, especially as the
company faces challenges from competitors like Amazon Prime,
Disney+ and others? . [10 Marks][CO1][L3]
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:mi azon faced significant
o the COVID-19 pandemic, Amazon gn

gfph];)\";:nsblmrmgcs as demand 'fOl' 1(11:31 9::‘;:;58 :sggrfad’cani many
emplo'\'ccs fell ill or stayed home. T'o address ein wagDS, ;?a;on
implcﬁmcntcd several strategies, including in ]inc% ' g;s, 0 Sn-ng
signing bonuses, and using technology 1o strcam‘ 53 éa ions. Using
this case, analyze how Amazon's HR s'trateg')’ responded to employee
: IR strategies might Amazon consider for

: 'ec 1 i d organization
employee retention an g 110 Maiiol [COSELA]

Q.4 Microsoft has integrated its training and deve'lopment programs
with its performance management syster'n, fgcu‘smg on contxzuous
learning and growth through programs_hke _chrosoﬁ Learn 'Efnd
regular performance reviews aligned with s‘kxll deye]opm'er}t. Umpg
Microsoft as a case study, analyze how integrating training with
performance management can lead to better employee performance and
contribute to the organization’s overall strategic goals. How does this
approach align with Microsoft’s business strategy, and what benefits
might it offer over traditional training and development approaches?
[10 Marks][CO2][L3]

Q.5 How do HR strategies differ in multinational, global, and

transnational companies, and what ethical challenges do HR

professionals face in aligning these strategies with corporate values?
[10 Marks][COS5,CO2][L4]

Q.6 Accenture, a global consulting firm, has long been committed to
diversity and inclusion, with initiatives such as setting clear diversity
targets, offering training programs, and creating support networks for
underrepresented groups. Discuss how Accenture’s HR strategy
addresses workforce diversity and inclusion. Based on- Accenture’s
experience, what are the potential benefits and challenges of building a
diverse workforce, and how can HR strategies support the development
of an inclusive culture that drives business success? :

[10 Marks][CO2][L3].
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-MBAFM 211: Investment Management

Time: 03:00 Hours - Max. Marks: 50

Note : All questions carry equal-marks. Answer any 5 questions.

_Assume suitable missing data, if any.

l.a) A 30—_yeal_' maturity, 8% coupon bond paying coupons semi-annually
-is callable in 5 years at a call price of Rs.1,100. The bond currently sells at
a yield to maturity of 7% (3.5% per half-year). Calculate the yield to call?
- What'is YTC if the call price is only Rs.1050? What is YTC if the call
price is Rs.1100 but the bond can be t;alled in 2 years instead of 5 years.

... b) Briefly explain why l'_)Ond;s of different maturities l-lave different yields
in terms of -the (1)" expectation Theory (2) lliqui(!i_ty theory and (3)
segmentation theory." R . (5+5) (CO#3 BTL1, 2,3)

*2.1n 2020 the rate of return on short-term government securities (perceived

to be riskfree) was about 5%: Suppose the expected rate of return required

- by the market for a portfolio with a beta of 1 is 12%. According to the
_capital asset pricing model (security market line):

a."What is the expected rate of return on the market portfolio? What would -
" be the expected rate of return on a stock with Beta = 0?

b. Suppose you consider bﬁying a share of stock at Rs.40. The stock is
expected to pay Rs.3 dividends next year and you expect it to-sell then for
Rs.i41A. The stock risk.g‘llas-‘ been evaluated at Beta.of -.5. Is the stock

~overpriced or undé@priced? B
| c. Critically ana]Ys_e the as'su‘mpti.o_ns on which CAPM model is based.

(4+3+3) (CO#1,2: BTL 2,4)
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3. An nnalystwants to evaluate Portfolio X, consisting entirely of Indian
common stocks, using both the Treynor and Sharpe measures of portfolio
performance. The following table provides the average annual rate of
return for Portfolio X, the market portfolio (as measured by the BSE 500),
and Treasury bills during the past cight years:

Average Annual Standard Deviation

Rate of Return ol‘Rmnrn Deta
Portfolio X 10% 18% 0.60
BSE 500 12% 13% 1.00
T-bills 6 N/A N/A

a. Calculate the Treynor and Sharpe measures for both Portfolio X and the
BSE 500. Briefly explain whether Portfolio X underperformed, equalled,
or outperformed the BSE 500.on a risk-adjusted basis using both-the
Treynor measure and the Sharpe measure. :

b. Based on the performance of Portfolio X relative to the BSE 500
calculated in part (a), briefly explain the reason for the conflicting results.
when using the Treynor measure versus the Sharpe measure.

@ .
¢. Briefly explain the Markowitz. portfolio optimisation model and its
usage for a fund manager. (4+3+3) (CO#1,2: BTL 1,2,4)

4 a. Briefly explain the concept of the efficient market hypolhesié (EMH)

and each of its three forms—weak, semi strong, and strong—and briefly

discuss the degree to which existing empirical evidence supports each of
the three forms cf the EMH. '

b. Steady Growth Industries has never missed a dividend payment inits -
94-year history. Does this make it more attractive to you as a possible:

purchase for your stock portfolio'?‘Give reasons.

c. We know that the market should respond positively to good news, and
that good-news events such- as the coming end of a recession can be
predicted with at least some accuracy. Why, then, can we not predict that

: : Page 20f3
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the market will go up as the economy recavers? Also Comment on the
statement “One of the important'restrictions on trading involves insider

trading™. (4+3+3) (COH#1,2: BTL 4,5)

5. a. Briefly explain the risk involved in holding a Bond and suggest one

suifable strategy to manage these by a passive Bond holder.

b. You will be paying Rs:100,000 a year in tuition expenses at the end of
the next two years. Bonds currently yield 8%. What is the present value
and duration of your obligation? What maturity zero-coupon bond would

. immunize your above obligation?

¢. Suppose you buy a zero-coupon bond with value and duration equal to

. your obligation. Now suppose that rates immediately increase to 9%. What

happens to your net position, that is, to the difference between the value of
the bond and that of your tuition obligation? (4+3+3) (CO#2,3: BTLI1,3,4)

6. a) Micro Tech services dominate-the ITES market with its pateﬁted
_product Data-Tech. The patent is about to expire. What are your forecasts
for changes in the industry? Specifically, what would happen to industry
prices, sales, Profit prospects of Micro Tech services and the profit
prospects of its competitors. What stage of the industry lifecycle is relevant
for the analysis of this market? L

b) In what circumstances would you choose to use dividend discount
models rather than free cash flow model to value a firm. A firm has the
following figures for 2022:
Operating cash flow = 300 , Interest paid = 40 , Tax rate = 20% , Net
investments in fixed capital = 200
Consider two scenarios: -

» Scenario #1: Net borrowing in 2022 is 30.

e 'Scenario #2: Net debt repayment in 2022 is 30. -
What is the free cash flow to equity in Scenario #1 above? What is the free
cash flow to'equity in Scenario #2 above? o

(5+5) (CO#1,2: BTL 3,4)

T XXXXX
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IV SEMESTER

END TERM EXAMINATION Nov-2024

MBAFM213 Investment Banking and Financial Services
Time: 03:00 Hours Max. Marks: 50

Marks are indicated along with the questions

[Note :Answer any two questions from 4,5 and 6
Assume suitable missing data, if any

l
1

t on stock prices.
'(5 Marks) (CO1) (BTL2)

b)Key Financials for three companies is given below. Based on the

data, calculate the key relative valuation ratios of P/E, P/B and
EV/EBITDA and rank the companies based on the ratios. Which is the

" most appropriate ratio  to compare - . the- - companies.
el ; B -2 *(5 Marks) (CO1){BTL 3)

Q.1 a) Explain corporate actions and its impac

5
(Unit INRcr, except mentioned | A B (o \"\)
if any) il B :

Sales 20000 | 14000 | 6000
| EBITDA Margin (%) 20 25 10
[ PAT Margin (%) e 10 12 5
Debt/Equity : : 2 15| 3
Debt 400 300 100
Interest Cost (%) 8 9 7
| Cash . ; 50 40 0
Outstanding Shares (Cr) 1.5 2 0.8
Dividend Per Share 100 60 40
Dividend Yield (%) - ~ 0.8 0.6 0.3
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Q2 a) D vatthe b P c ol th (\ )
1 Se riod d ot th end of
)2 Inatt bag (& a | the year fi
i r for four compat ies

lmtml Dnm (Bmo l‘onnd)

"End of Year Shares Additional
Stock Price Outstanding lnformnllo

@) (Million)
40 l
|
] 2-for-1
220 60 | stock split
| at year end
1
e | o n
! D f, 300 !l l

Calculate the Market-Capitalization Index and Price weighted Index at the
base period and end Period (Base Value = 1000). Calculate percentage

change in  Index Value and explain the  changes.
(6 Marks) (CO1) (BTL 3,4)

b) Write a short note on insider trading with examples.
(4 Marks) (CO5) (BTL 4) (BTL 2,3)

Q3.a) A company issues a 10-year bond with a face value of ?1,0.00. The
bond pays a coupon rate of 8% annually, meaning the investor
receives Z80 (8% of Z1,000) each year. If the required rate of return
(market interest rate) is 10%, what is the price of the bond?

(5 Marks) (CO2) (BTL 3)

b) Explain various factors that affect bond yield. (5 Marks) (CO2) (BTL 4)

2

OA a) Explain cross-horder listing process and ity advantages and
disadvantapes. (5 Marks) (CO3) (BTL 4)

b) Briefly explain Private Equity investments in a company and how exits
are provided to PE investors, (5 Marks) (CO3) (BTL 2)

Q5a)What is a  bond indenture?  Explain  its  features.
(5 Marks) (CO4) (BTL 2)

b)  Explain the credit rating scale of corporates.
(5 Marks)(CO4) (BTL 2)

Q6 a) Explain the risk management process an organisation should
follow. (5 Marks) (COS) (BTL 2)

* b) Explain the types of risks that financial institutions face.
(5 Marks) (CO5) (BTL 2)
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111 Semester MBA (DSM)
End Term Examination Nov/Dee, - 2024
Course Code ~ MBAFM-221 Project Appeaisal and Finance
Time: 03:00 Hours Max. Marks: 50

Instructions: Attempt Any five questions. All questions earry cqual
marks. Use of IV tables and non programmable ealenlator are
allowed. Assnme suitable missing data, if any.

QL.What arc the various [actors that a Project Manager needs to
thoroughly evaluate and analyze during the pre-feasibility study phasc of
a project to determine its viability and ensure a strong foundation for
subsequent project planning and exccution? [HOMJICOTIBTLI)

Q2.What docs fcchnical analysis mcan? An  American  mobile
tcleccommunications company is planning fo expand its operations to
India, a rapidly growing market with immensc potential, Before making
this decision, the company needs to conduct a comprehensive technical
analysis 1o cvaluate the feasibility and practicality of sclting up its
business in the conntry. Deseribe are the most important things to look al
in a technical annlysis? C [HOM][CO2)IBTLI&2)

Q3. Complete the balance sheet and sales data (fill in the blanks) using
the following financial data:

Debt/equity ratio = (.80
Acid-fest ratio = 1.1
Total nsscts turnover ratio = 2
Days' sales outstanding in

Accounts reccivable =

30 days
Cosl of goods sold as o ‘

103
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Q6. l:&T Engineering company is generating 1,00,000 units of wasle
material per annum. The waste material can be processed further and
sold @ 1000 per wnit and the variable cost of processing comes (o 70%
of selling price. Out of the processed waste material, 25% can be re-
fabricated at a cost of 100 per unit and the re-fabricated product can be
sold at a price of 1,500 per unit and there is a waste of 20% of processed
material at the time of ve fabrication. There fabrication procedure
requires (i) a capital expenditure of 100,00,000 with life 5 years.
(Depreciation is chargeable @ 25% WDV) and (ii) additional working
capital ot 10,00,000. Evaluate the proposal to re-fabricate the processed
waste material given that :

(1) Required rate of return is 15%.

(i) Tax rate applicable to company is 35%.

(iii) Expected salvage value of the plant is 10,00,000.
(iv) There is no other asset in the same block of assets.

[10M][CO3&4][BTLS)

3of3

percentage of total revenues = 70 percent
Inventory turnover ratio = 6
Balance Sheet
Equity capital 80,000
Retained earnings 50,000

Debt
Plant and equipment
Inventories

Accounts receivable
Cash,

Reveniies from operations  ------—-
Other income Nil

[10M][CO3][BTL3]

Q4. A government agency is planning a large-scale infrastructure project
" to build a new highway connecting two major cities. The goal of the

project is to enhance connectivity, reduce travel time, and promote
regional economic -development. In light of above statements, what is
the shadow pricing and how does SCBA differ from monetary cost and
benefit analysis (financial analysis) of a project?

[10M][CO4][BTL1&4]

Q5. Write short notes on ‘any two.
a. Loan Syndication
b. Chain Ratio Method

¢. Venture capitalists [5+5=10M}[CO3&4][BTL1&2]

20f3
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S T E.lid‘ Teﬁn' Examination ' November/December- 2024

L ; . EMBA 101: Management Process and Organizational Behavior

Total Time: 03 hours . o, " Maximum Marks: 50

Note: Please answer 5 Questions out of 7 Questions. All Questions
carry equal marks Marks are indicated along with each question,

P

Ql: One of the 1mportant schools of Management Thought is Human

Relatlons Approach. A major study was conducted in Chicago between

1927-1932, which became a milestone learning in this direction. Please
3 =L . ' describe your understanding of this study and the learnings that you
h ' ‘ derlvc from this pioneering work. ‘

(Marks 10 Course Outcome no. 1, BTL 4)

1. S : - Q2:In order to increase the level of performance in the organization,

S managers try to fulfill the needs of the employees and give also provide
them an environment wherein they are able to perform better. Please
explain this phenomenon on the basis of following:

1. Theorles propounded by ‘Alfred Maslow and Alderfer
2. Theory propounded by Herzberg

- (Marks 10, Course Outcome no. 2, BTL 3)

Q3: To achieve any goals planning is extremely impoftant. However,
the process of planning remains incomplete without one another
important function of management. Write a short note on this important
and critical function of management and explain three parts of its kind.
(Manmum Marks: 10, Course Outcome no. 1 BTL 4)

= o Q4 A company has bccn domg well operanonally for the last six -
- - months., One of the major expenditures is salary of people in senior
positions. Do you think, it’s a'good idea of get rid of these high salaried
managers and save money for rainy days. In other words, please explain

why managers are requlred in any orgamzanon and their _presence
remains relevant in all times.

(NIanmum Marks 10, Course Outcome no. 3, BTL 4)
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evieyis, the managers are erpected 1 bf,

e and should not be affected by his
s which distort the reality and make the
bjective. In addition, piease

Dy

€5, During performance F
appraising the real performan
subjectivity, What are the factor ;
whole performance review process 4 54
explain the following

I. Halo Effect
2. Horng Lffect
3. Contrast Effect
4. Stereotypes
(Maxfmum Marks: 10, Course Outcome no. 4, ETL 3)

Q 6, As a manager you have to explain the Leadership theo‘ries,"you
have decided to share with them only one such theory. Please pictorially
depict the managerial grid by Rober Blake and Jane Mounton znd
denote on the axis where the following exists

1. Impoverished Management
2. Dampened Pendulum

. Country Club Management
. Team Management

. Task Management

‘(Maximum Marks: 10, Course Outcome no. 2, BTL3)

Q 7 Learning is an important process. There are many factors which
affect learning. Write a detailed note on our Impediments of learning as
discussed in the class. Please classify the different kinds of
impediments separately as sections A i.e Personality related factors &
Section B Volume of Knowledge Related aspects

'(NIaximuvm Marks: 10, Course Outcome no. 4, BTL 3)

(S S N }

~—End——
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b. Classify the following transactions as belonging to operating, ‘

Cash sale of goods Sale of Tixed assots 4 END TERM EXAMINATION Nov-2024

Rent received Income tax paid EMBA 102: Financial Accounting

Cash purchase of goods on s chiner

Cash l;cei\'ed fmf\ Zjblom ::\\:::l:'\:: :\110]::;:‘::('; ‘:j ill)(,iing ¢ Tlne: 03:00 Holies - - Max. Ma.rkS-‘ o -

Issue of equity shares Repayment of bank loan . fRotat //\\Islsil:s:l;%?é]gg%iesg;e; (Ta(’,;;ksi% aﬁ;swer any Five questlonj
Ql. You have been hired as an analyst for XYZ Bank and your team is

investing or financing activities, while preparing a cash flow
working on an independent assessment of MM manufacturing Itd. This

statement
: : firm spécializcs in the production of freshly imported farm products from
* . b . . . .
[s*2 C01’2’3'BTL2’3’4] ) .France. Your assistant has provided you with the following data for MM
Q 6. Write short nc;tes ofh s i manufacturing Itd. and its Industry -
a. Comparative statement analysis vs Vertical analysis Ratio s 2024 . 2023 2022 Industry .
S Average |
b. Profitability rati . ) £ (2024) - °
rofitability ratios vs Solvency ratios A . Long-term debt 0.45 0.40 035 035
c. Tangible assets vs Intangible Assets Inventory Tumover, | 62.65 42.42 3225 |53.25
d. LIFO vs. FIFO method of Inventory valuation Depreciation/Total | 0.25 0.014 0.018 0.015 E
. Assets -0
[5*2][ CO1,2,3:BTL1,2,3] Days’  sales in[113 98 94 130.25
T ¥ receivables s
Debt to Equity 0.75 0.85 0.90 0.88
Profit Margin 0.082 0.07 0.06 0.075
Total Asset Turnover 0.54 0.65 0.70 - 0.40
\
| Quick Ratio 1.028 1.03 1.029 1.031
% Current Ratio 1.33 . 1.21 1.15 1.25
Times Interest | 0.9 4.375 4.45 4.65
Eamed
Page 1of28
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a. I the annuai veport to the sharcholders, the CBO of MM mnfp, Lud,
wrote, 2024 was a pood year for the i with vespeet to our ability to
meet owre short-term obligations, We had higher liquidity largely due to an
merease in highly liquid current assets (cash, account receivables and
short-term marketable securities).” Is the CEO correct? Lxplain and use
only relevant information in your analysis.

b. What can you say about the firm's asset management? Be as complete
as possible given the above information, but do not use any irrelevant
information.

¢. You are asked to provide the shareholders with an assessment of the
firm's solvency and \everagé. Be as complete as possible given the.above
information, but do not ‘use any irrelevant information. Is hiding
information from shareholders ethical or Unethical?

d. State any S limitations of ratio analysis.

[2.5x4)][CO1,2,4:BTL2,3,4,5]
Q.2 Explain the Meaning of Assets, Liabilities, and Stockholders ‘Equity
and State the Basic Accounting Equation. Also explain any four Basic
Assumptions and Principles Underlying Financial Statements.

b. What is the purpose of Balance sheet and Income statement prepared by
an organisation?

[5*2][ col, 2 3:BTL2,3)

Q.3 a) Arrange the items given below in the format of income statement
for the ABC ltd. (a retailer) and ascertain the different kinds of profits
which the user of the financial information would like to analyse for the
year ending March 31, 2024 , given the information below:

(Rs.)

Advertising expenditures 68,000
Beginning inventory 2,56,000
Depreciation 78,000
Ending inventory 248,000
Gross Sales 3,210,000
Interest expense 64,000
Lease rental payments 52,000

Page 20f4

Management salaries 240,000

Materials purchases 24,25,000
R&D expenditures ‘ 35,000
Repairs and maintenance costs 22,000
Returns and allowances 48,000
Taxes 51,000

-b. Journalise the following transactions for year 2024:

Date Transaction Amount
April 1 Bought goods for cash 5,000
April 3 Sold goods for cash 7,000
April 5 Bought goods from Shyam 12,000
April 6 Sold goods to Ram 15,000
April 8 received from Ram 12,000
April 10 | Paid to Shyam g 9,000
April 25 | Purchased furniture 16,000

- [5*2][ CO1,2:BTL1,2,3]

'Q4. a. Why do companies charge Depreciation? What is the difference

between Depreciation and Amortization? Also distinguish between
Straight line method and written down value of calculating
depreciation.

b. Calculate amount of annul depreciation and rate of depreciation
under straight line method (SLM) from following information, X
Ltd. purchased a secondhand machinery for 1,96,000, spent 24,000
on its cartage, repairs and installation, estimate useful life of machine
is 5 years. Estimated residual (scrap) value is 52,000.

[5*2][ CO1,2:BTL2,3,4]
Q 5 a. Explain the importance of Cash flow statement for the user of

financial statements. Also explain the different types of cash flows
- that this statement provides to the users?

Page3of4
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Noto: Attmn;{f—nny five qucstldafi};
All quostions carry equal marks,
Agsumo sultable missing data, If any,

Q.1 Youare appointed ns marketing consultant at Frose Techno Solutions,
n mid-sized company that intends to launch a new smart air purifier
called Clean Alr in Indian mﬂrkql, The brand is a smart air purifier
with technologically advanced features. [t comes with a BLDC motor
and a filter life of approximately 15,000 hrs. It has ari inbuilt sensor
to monitor room AQI with SensAl technology. The approximate
price of the model will be around INR 25,000 which is comparable
to other available brands in this category. The brand is designed to
comi)ete with national brand like Philips, LG, Samsung, Dyson etc, -
The brand will be sold through major retail stores, D2C and ligting
through major e-commerce platform: The major challenge in this

category is that air purifier market is at growth stage with
geographical patterns in the demand. To successfully launch the
product, company needs identification of a strong target audience
and differentiation through positioning. '
Identify the suitable target market for the brand and suggest a strong
positioning strategy which you feel will sail the brand in the market.
[10] [CO#1, 1] [L2]

Q.2 a) Differentiate between brand extensxon and product extension
by giving a suitable example from personal care category? Also
explain the risks associated with brand extension. [5] [CO#I, 11] [L1]




Q.3

Q4

Q.5

Q6
Al

marketing in India?

ER=

b) What are the stages of product Life Cycle? What_ s_trate:gy wo
ik for a brand which in your opinion is in

you like to use for (51 [CO*IL I [

introduction stage of PLC?

What is Omnichannel marketing? 1dentify 2 suitable example i
any category which you feel is close to the concept of omnichan

[10] [CO#IIT] [1

What is the difference between owned miedia, eamed media and p
media? Suggest a suitable strategic framework for creating a rob
earned media eco-system for MBA(Executive) program of De

School of Management. [10] [CO=L M) 1

“Predatory pricing is perceived to be illegal business practice
setting prices for a product unrealistically low”. Examine t
statement by taking an example from any company of your choi

(10] [CO#1, 1] [L

" Attempt both the questions given below:
Psychological pricing : p [s][CoOT) [L

Techniques of scanning'mérk’eting environment (51 [CO#I, o [L
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Time: 03:00 Hours

EMBA104 MANAGERIAL ECONOMiCS
3 ' Max. Marks: 50/60

Note : All questions carry equal marks."

Q.1

- demand if the price falls from

Marks are indicated along with each question.

a. Sarah has a fixed budget to speﬁd on two goods: books and movies.

She is choosing between different combinations of books and movies
that give her the same level of sa

using to make her choices: an
curve? Explain why.

tisfaction. Which concept is Sarah
indifference curve or an isoquant

[5 Marks] [CO2] [BTL2]
For the market demand sqhedule given below, calculate elasticity of )
; Rs. 20 per unit fo Rs. 19 per unit.
" [5 Marks] [CO3][BTL3]

Price per unit (Rs.) Quantity Demanded
2 ¢ 140
21 180
20 200
19 240
18 1280
2 Inafarm, adding more labourers initial]

- happening, and how would You identi

Y increases the crop yield but
yield per worker. Why is this

fy the point of maximum total
output?. Now hiring additional labour causes overcrowding and

-reduces.-total production. What stage of production is this, and howh
should the manager respond? [10 Marks] [CO2] [BTL2] -

later leads to smaller increases in.
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10 38

10 46

10 62

Q.4 Describe monOpOlist‘ic competition. Analyse short run and long run
equilibrium condition ~ in this market . structure.
' ' [10 Marks] [CO2] [BTLA4]

Q.5 a. Assume a local dairy'rharket operates under perfect competition.
Describe its features. ' [5 Marks] [CO2] [BTL2]

b. OPEC, a groﬁp of oil-exporting countries; is often referred to as a
cartel. How does its behavior align with the features of an oligopoly?

: ' [5 Marks] [CO2] [BTL2]

Q.6 a. Discuss the meaning of business cycle. Explain the four phases of a
complete business cycle in sequence order. [5 Marks] [CO4][BTL2]

b. How do fiscal and monetary policies help control inflation?

‘ ' " [5 Marks] [CO4][BTL6]
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EMBA-105, Quantitative Methods

Time: 3:00 Hours Mox. IMarks : 50

Note: Answer any FIVE questions

Assume suitable missing data, if any.
Usec of Statistical Tables is allowed

1. (a) Define the terms basic feasible solution and optimal
solution in LPP. [4]1CO11L2]
(b) A garment manufacturer has a production line making
two styles of shirts A & B. Style A needs 0.2 kg of cciton
thread, 0.3 kg of Dacron thread and 0.3 kg of linen
thread. Corresponding requirements of style B are 0.2
kg, 0.2 kg and 0.1Kg. The net contributions are Rs.19.50
for style A and Rs.15.90 for style B. The available
inventory of cotton thread, Dacron thread and linsn
thread are, respectively, 24 kg, 26 kg and 22 Kg-
I. Formulate the LPP model ,
{l. Determine the number of each style to be produced

with the given inventory using Graphica! method of |

LPP. [8]ICO2]iLS]

2. (a) Discuss the steps used for MODI method to find the
optimal solution of transportation problem. {4}{802}{1.‘%}
(b) Find the sequence that minimizes the total time
required in- performing the following jobs on inrse

- machines in order ABC. Processing times (in hours) are
given in the following table: - [6JICOZ2IiLS}

SZh
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Machines
M, M, M, M, Mg
Job A 7 5 2 3 9
Job B 6 6 4 5 10
jobC : 5 4 5 6 8
Job D 8 3 3 2

3. (a) Explain the difference between applications of

Prism's algorithm and Kruskal's algorithm using a
suitable example. [4][CO3][L3]
(b) Find the shortest path of the following network
diagram between A to G using Dijkstra Algorithm.

[6][CO3][LS]
4. (a) What is Type-l error and Type-Il error? Define them.

[4][CO4][L1] -

(b) Jeffrey, as an eight-year old established a mean
time of 16.43 secondsfor swimming the 25-yard
freestyle, with a standard deviation of 0.8 seconds. His
dad, Frank, thought that Jeffrey could swim the 25-yard
freestyle faster using goggles. Frank bought Jeffrey a
new pair of expensive goggles and Jeffrey tried for 15
times swim of 25-yard. For the 15 swims, Jeffrey's mean
time was .16 seconds. Frank thought that the goggles
helped Jeffrey to! swim faster than the 16.43

seconds. Conduct a hypothesis test using a = 0.05 and
check the truthfulness of the Jeffrey’s claim. [6]CO4][L5]
5. (a) Discuss the conditions to be used for z-distribution and
student t-test for hypothesis testing. | [4]CO5][L2]
(b) The speeds of cars are measured using a radar unit, on a
motorway. The speeds are normaliy distributed with a
mean of 90 km/hr and a standard deviation of 10 km/hr.
What is the probability that a car selected at chance is
moving at more than 100 km/hr? [6]CO4][L3]
6. Write short Notes on [2.6x4=10]CO1][L1]
(a) Hypothesis testing for variance of one sample
(b) Skewness and Kurtosis
(c) Dual and primal form of LPP
(d) Degeneracy in Transportation problem
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END SEMESTER EXAMINATION (December —2024)
EMBA 107: Computer Applications In Manngement
Time:dMowes . Mux, Marks: 50
[Nnm: Answer any (ive questions, o

Assume sujtable missing datn, i oy, .

Q1. () Explain the difference between the SUMIF() and COUNTIF()
functions,
(b) What is the importance of defining name ranges in Excel?
(¢) How can you remove duplicates from n dataset in Excel while
preserving the original (ormatting? (10]

2. 'Explain the purpose of the VLOOKUP, HLOOKUP, XLOOKUP,
SEARCH, and IF functions in Excel, Describe a practical scenario
“where you would use the XLOOKUP(). ‘ [10]

Q 3. What are Excel macros, and how are they useful in automating
repetitive tasks? Explain the process of recording a macro and

assigning it to a button. [10]

Q 4. What is a PivotTable, and why is it useful in data analysis? Explain
the steps to create a PivotTable in Excel from a dataset. What is the
function of the slicer tool in filtering PivotTable data? [10]

Q.5 Differentiate between a column chart and a pie chart in terms of their
use cases. Describe the steps to format an Excel chart, including
adding a title and modifying data. How can you move a chart to a new
worksheet? (10]

Q.6 (a) Write a short note on IBM SPSS. What are its practical
-applications. :

(b) What do you understand by Null and Alternative Hypothesis. Also

defined One-Tailed and Two-Tailed Tests. [10]




Q.5(c) You are keti -
kg e o s oy St o s o, st
A¢ Tinvacp hiekylly T afvortin ning proc ucts. Y ou have two 0|\l|m\ﬂ:‘0|)!lun
ey y Yy In advertising and distribution, assuming that demand for cco-
Camio:ﬂ[})’r(‘)\,ig‘cf SWII]”H‘ICI‘CHSC s.ul)suTnlinIly ovcr.(hc next year, 0|.sliun 1 Proceed
: malier nmr‘kclmg budget, focusing on targeting niche markets that
3:: I:Ll;ea‘dy eco-cor}sc.mus, wnl? more gra(.hl'al growth expectations. Question: Apply
he ] ximax, Maximin, and Minimax decision-making strategics to determine which
option would be the most suitable for the company. Take into account factors such
as market trends, consumer behavior, and the company's {inancial resources. [10}
[COT}[BTL3]

END
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EMBA301: STRATEGIC MANAGEMENT

Time: 3:00 hours Max Marks: 50

Note: All questions are compulsory
Ali questions carry equal marks

Q.1 (a) Assess which of the “5 Ps of Strategy” each statement corresponds to and

explain: 2 )

1. The company has developed a detailed roadmap outlining its goals, resource
allocation, and timeline for entering new markets and launching new products
over the next five years.

1. In response to a competitor’s aggressive pricing strategy, ABC Ltd. has
implemented a temporary price reduction on select products to attract
customers. . ' .

IIl. Tesla has consistently prioritized cutting-edge technology in electric vehicies
‘(BVs), including advancements in battery technology, autonomous driving, and
soflware updates. This focus or innovation establishies a clear framework that
difTerentiates Tesla from traditional aiitomakers.

1V. - The organization wants {o place itsel[ as a leader in sustainable practices within
its industry, emphasizing eco-friendly products and operations in all marketing
communications.

V. Google prioritizes employee autonomy and creativity, fostering an environment

where tecam members are encouraged to innovate and share ideas. This
emphasizes the belief that empowered employees drive business success.
[5] [CO2][BTLS]

Q.1 (b) Assume that you are in- charge of developing the strategy for a multinational
company selling the products in some 30 different countries around the world.
Analyze which type of international strategy would make sense in case of the
following products and why? ’ ' .

i.  Footwears . ii. Movies [5] [COS][BTL4]
Q.2 Evaluate and explain the type of corporate level strategy followed in the

“following cases:

i Amazon acquired Zoox, an autonomous vehicle startup, for nearly $1.2 billion.
This acquisition strengthened Amazon’s position in the rapidly evolving
autonomous Velxic.lc market, complementing its existing logistics and delivery

. 1 N
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network and advancing its long-term strategy to enhance ils nnnﬂm)rluliun
capabilities.

ii.Procter & Gamble (P&G), a
investment in its product line of traditional bar soaps in certnin markets. By
cutting back on marketing and promotional aclivities, P&G was able to extract
maximum profit from the remaining sales of these products. B

wy

leading FTMCQG company, decided (o reduce its

iii.  Anold company has been facing financial issues for many years and is willing

to give up its independence in exchange for security.
iv.  Apple launched a high-yield savings account with
expanded its Apple Pay services. . .
v. Uber, a global leader in ride-hailing services, acquired Postmates for $2.65
billion in aa all-stock deal. This acquisition allowed Uber to expand its offerings
by integrating Postmates' delivery network into its UberEats platform, while
also enhancing its service capabilities to meet growing customer demand for
. on-demand deliveries. ) [10] [CO3][BTLS]
Q.3 (a) Imagine a global coffee company, BrewMasters Inc., which has been facing

Goldman Sachs, and

declining sales in its_traditional retail outlets due to increased competition from -

specialty coffee shops and ‘a growing trend towards online coffee subscription
services. The management is considering various strategic options, including
expanding its online presence, introducing a new line of premium coffee blends, and
enhancing customer loyalty programs. Discuss how scenario planning could be
utilized by BrewMasters Inc. to prepare for potential future market changes. What
specific scenarios might the’ company consider, and how could these scenarios
influence its strategic decision-making? [5][CO2][BTL3]

Q.3(b) In a pioneering industry, EcoWatt Innovations, a company that specializes in
renewable energy solutions, is leading the charge in developing new technelogies to
address the growing demand for sustainable energy. However, the company faces
challenges such as high development cosis, uncertain regulatory environments, and
competition from both established players and new entrants. As a result, EcoWatt
must find innovative ways to maintain its market leadership while navigating these
chalienges. Imagine you are an executive at LcoWatt Innovations. Your task is to
develop a strategic plan that will allow the company to sustain its competitive
advama_ge and drive long-term success in this emerging market. Identify znd outline
aller.natwe strategies EcoWatt can adopt to strengthen its position, address market
barriers, and ensure the growth of the renewable energy sector as a whole.

[5]1[CC4}[BTLG]

s

S FMCG Food

L )

.4(n) Agsume you are working for a company in the fashion retail industry based Ain
India. Using the CAGL framework, rank the following countries—Malaysia,
Australia, Japan, and South Africa—in terms of their suitability for expansion. Just'ify
your ranking by analyzing the differences between India and each of these countries.
(5] [CO1](BTL3]

Q.4(b) Assess the lypé of offensive tactic highlighted in the following situat‘mf\s:
i Samsung released foldable smartphones to challenge the traditional
smartphone market.
ii. Coca-Cola launched a series of zero-sugar beverages to target health-
conscious consumers, challenging PepsiCo's healthier alternatives like Pepsi
Zero Sugar.
JioMart expanded into groceries, electronics, and fashion, challenging

iii.
Amazon and Flipkart. Its expansive reach and competitive pricing allowed
it to gain ground on multiple fronts simultaneously.

iv. Skype attacked traditional telephone companies by introducing free,
Internet-based voice and video calling.

v. In FIFA world cup, Adidas was the game’s official sponsor while Nike
advertised its products through TV commercials and popular football
players. [5] [CC3][BTLS5]

"Q.5(a) Best Buy is the largest consumer electronics retailer in the United States. The

company competes aggressively on’ price with such rivals as Costco Wholesale,
Sam’s Club, Walmart, and Target, but it is alse known by consumers for its first-rate

_consumer service and knowledgeable staff. Best Buy consumers also appreciate that

demonstration models of PC monitors, digital media players and other eiectronics are
fully powered and ready for in-store use. Best Buy Geek Squad tech support and

installation services are additional customer service features that are valued by many
“customers. How would you characterize Best Buy’s competitive Strategy? Explain

of this strategy.
; : [5] [CO4][BTL4]
Q.5(b) Classify the following prodycts of ITC in which quadrant of BCG matrix do

they fall into and why:

your answer by giving = advantages and disadvantages

iii. Hotels

iv. ITC Infotech

ii.  FMCG cigarettes [5]{CO4](BTL4]

OR
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Time: 03:00 Hours 5 ak I Max. Marks: 50

‘Note: All questions carry equal marks
Attempt any five questions.
Be specnflc in your Answers
Assume suitable missing data, if any.

Q 1 Illustrate the role of mtematlonal economic mst1tut10ns in promotmg

international trade. To what extent have they been successful and what more  needs

to be done" [1 0][CO#3] [BTL#4]

Q. 2 How does the ‘AAA° framework assist orgamzatlons to have an mtematlonal
competitive advantage? describe : [10][CO#2][BTL#2]

Q.3 Examine how the domestic capital market differs from Global capital
markets. What do you understand by the term euro currency, what role it play in

gloh_al capital r_harkets? =5k e el Y .[10][C.OA#5>][BTL#3]

Q. 4 What is the merit of FDI S FPI‘7 What is the ba51s on which FDI is classified,
describe in detail. 5, ; _ [10][CO#2][BTL 1]

Q;S Coxhpare what facilitates ‘tcchnology transfer across borders and what hinders
international technology transfer. Ay [10][CO#4][BTL#5]

Q.6 Contrast on‘»the motivations, means, and mentalities in international trade.
[10][CO#1][BTL#2]
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EMDBA
End Term Examination November-2024
Course Code: EMBA-303 Course Title: 1 T Management
Time: 3:00 Hours Maximum Marks: 50
Note: Attempt any 5 Questions.

JII Semester

All Questions carry equal marks (10 marks each).

Assume suitable missing data, if any. Write your znswer

precisely.

1. XYZ company is manufacturing range of passenger cars. (CO=11
Presently, the company has multiple sales streams,-focusing %B’TL'-‘;}

on different customer segments. Multiple disjoint systems
serving to different sales streams, marketing and services
could not provide the single view of their customers. Despitz
having enormous data about cusiomers, Iarketing
department find it difficult to improve targeting for better
acquisition and increasing cross selling/ upselling. Campzizn
automation often ends up in soliciting product that customsrs
either already possess or it is beyond their reach. Customer
Support always‘ complain of ~incorrect and incompleis

“information retrieval about the customers and their past

interactions with the company. Management is keen to solve
the problem and looking for solution that enhances customer
life time value. What product or set of systems weuld }'611
propose 1o overcome above given situation in the XYZ
company. Provide detailed features of proposed solution or
the product.

any organization with an example and major activities.

hgel;rﬁs

%

[ §

_ [COZ2].
. Briefly discuss the generic phases of ERP implementation in [BTL=2]
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Rriefly describe following terms with an example each and ICO//J],
name the tool/ product to support {hese functions: [B'l‘L//LZ]
a. DevSecOps

b. CV/ CD Pipeline

Briefly describe IT Governance and IT Mmmgcmenl - [con2),
activities with suitable example. [BTUB]

You have joined XYZ company to assist their IT

management team. Company is struggling with the quality of [Co#3],

their post sales services. Most of the customer complaints is ‘[BTUB]
about the product. Management is concerned that there is no
data related to, processes that employees are expected to
follow, in making the product and to attend post sales
services. Briefly discuss with two examples, each of product,
process and service quality metrics alm\lg with the

calculation formulag, that you would need to monitor
regularly to improve situation in XYZ.

[CO##4],

ABC retail chain desires to expand their business in multiple
[BTL#4]

geographies. Before implementing their expansion plan,
management desires to review current business, and to
understand customer purchases by analyzing which products
are selling in which stores on which days under what
promotional conditions and in which transactions.You are
tasked to plan the data warehouse solution to provide
aforementioned analysis to the management. Briefly describe

with suitable example, the process of dimension modeling .

for your solution and give example of any 2 possible queries
that can be shown with your proposed solution.

Page 20f3

7. Your com

[cora,

uation
[BTL#S]

ss cannot afford any sit

»g online busine .
e sible by &he'lrxstakeho\ders. You are

Ors};'ste,"t‘hl: ?:ac:'ns to drafta business continqity plan for. :)he
lcl(e)?r(\;):iy’s critical business a[?blicatioqs. l',:rlrc:]e)((:od:::yn e
principles of business continuity and dlsai :b sl
operation with suitable example that woul e

Pagelof3l
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EFM-02: Corporate Mergers, Acquisitions and Restructuring

TIME- 3 HRS 2T ' Max. Marks: 50

Note: 1. All questions are compulsory.
2. All questions carry equal marks. -

Q.1. What is hostxle takeover? Discuss defensive strategies.
[10] [CO2] [L1,L2,1.4]
Q.2. Differentiate Between partnership and alliances. [10] [CO2] [L1,L2]
Q 3. What are the different types of Mergers and Acquisitions? ’
(10] [CO1][L1,L2]

Q.4. In a fnendly merger would you prefer payment by equity or cash or both?
Give reasons. . [10] [CO4] [L3,L5]

Q.S. XYZ Ltd. is considering merger with ABC Ltd. XYZ Ltd.’s shares are
currently traded at Rs. 25. It has 2,00,000 shares outstanding and its earning
after taxes (EAT) amount to Rs. 4,00,000. ABC Ltd. has 1,00,000 shares
outstanding; its current market price is Rs. 12.50 and its PAT is Rs. 1,00,000.
The merger will be affected by means of a stock swap (exchange). ABC Itd. -
“has agreed to a plan under which XYZ Ltd will offer the current market value
of ABC Ltd.’s shares: - , [CO3][L4,L5]

I. Whatare the pre-merger earnings per share (EPS) and P/E ratios of both :
the companies. [4]
II. If ABC Ltd.’s P/E ratio is 8, what is its current market price? What is
the exchange ratio? What will XYZ Ltd.’s post-merger EPSbe?  [3]
[II. What must the exchange ratio be for XYZ Ltd.’s that pre- and post-
merger EPS to be the same? - [3]
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EFM-08: Project Appraisal and Finance
Time: 03:00 Hours Max. Marks: 50

Instructions: Attempt any five questions. All questions carry equal
marks. Use of PV tables and non programmable calculator are

“allowed. Assume suitable missing data, if any.

Q1. How can a company achieve sustainable business growth, and what
practical expansion strategies can it implement to ensure long-term

success in a competitive market? [10M][CO1}[BTL2]

Q2. Complete the balance sheet and sales data (fill in the blanks) using
the following financial data:

Debt/equity ratio - 0.40
Acid-test ratio 0.9
Total assets turnover ratio . = 2.5

Days' sales outstanding in C
Accounts receivable = 25 days w
Cost of goods sold as a o _C
Percentage of total revenues =75 percent :
Inventory turnover ratio =8

Balance sheet

Equity capital - - : 160,000
Retained earnings ot 30,000

Debt _ ' R




e Fddd A

usy”

-

Plant and equipment
Inventories

Accounts receivable

Cash

Revenues from operations
Other income

(oMy[co2)nTLy)

BA) be applied 1o real-
"at are the key factors that o

and benefits versus monetary

Q3. How can Sacial Cost-Renefit Analysis (SC
world projects, and w}
between social costs

costs and benefits in
such evaluations?

[10M][CO3]| BTL4)

Q4. Delta Corporation is considering an investment in one of two

mutuaily exclusive proposals-

Praoject- A 1 It requires initial outlay of 1,70,000.

Project - B - it requires initial outlay of 1,50,000.

The Certainty-Equivalent a
investments. The current vield on treasury bills is 5% and th
uses this as riskless rate. Expected values o i

respective certainty-equivalents are:

| Year | Project A Project B

1 1

—_—

i i Cash Certainty Cash Certainty

i 1 Infiows Rs. | Equivalent | 1pf0ws Rs. | Equivalent
o1 | 90,000 0.8 90,000 0.9
I | 1,00.000 0.7 | 90,000 08
I3 1 110,000 0.5 1,00,000 0.6

: 20f3

ause differences |

pproach is employed in evaluating risky

(i) Which project should be acceptable to the company?

(if) Which project is riskier and why ? Explain.

(iif) If the company was to use the Risk-Adjusted Discount Rate melhc\q,

which project would be analysed with higher rate?
[10M][CO4][BTL3&4)

achieve good retums without taking
plain any nvo techniques of risk

QS. a). Itis impossible for projects to
risks.Would you agree? Briefly ex
analysis.

b). Financing is the lifeblood

of any Project. In-light of this statement,
briefly discuss various sources

of finance available for the project in India.
[5+5=10 M][CO4|[BTL1&2]
Q6. a). NPV allows for com
opportunities, helping choose t
its features. )
b).The Delphi technique relies on expert opinions,
comes from knowledgeable and experienced indivi

paring multiple projects or investment
he most profitable option. Briefly explain

ensuring that the input
duals. Describe it.

[5+5=1&\[][C03][BTLI&2|

3of3
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EIT -01: Data warehousing and Data Base Management
Max. Marks: 50

Nov-2024

T:me. 03:00 Hours
Note: ATTEMPT ANY FIVE QUESTIONS
Assume suitable missing data, if any

A telecom company is facing hxgh level of customers so company

is- plannmg to use Data Mining Tools Explain Data mining and its

Q.1
10 Marks [1][2]

advantages. .

Q.2 A:_onl'me retall company .sells product through its website. Explain
' th_é need of using SQL. = - 10 Marks [3](4]

is plannmg to develop Ecommerce Solution.
onship Diagram

10 Marks [2][6]

Q.3 An Organisation
Explain the need of creating Entity Relati

with example.

g Q'.4 Write Notes on. ' _ "
5 Marks [1][1] -

(a) Star and Snow Flake Schema
(b) OLAP : 5 Marks [1][1]

Q.5 The senior management team at Retail Company needs a unified
ds. Explain the need of ETL in

view of business to analyse sales tren
Data warehouse. 10 Marks [3][6]

wants to develop a Data Base Management System.

advantages of implementing Relational Data Base
10 Marks [1][1]

Q.6. A company
- Explain the
" Management System.
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if the online lrz.\mmg leads to significantly higher test scorcs, Formulate the D SEMESTER ' -

null hypothesis (Ho) and the alternative hypothesis (11)). The company T

conf!uF(S a paired r-test at a significance level (@ = 0,05) and obtains, /-
statistic: 2.3, critical t-value: 2.1, Should the company rcject or fail 1o rci’cct
the null hypothesis? Ifthe o was reduced from 0.05 to 0.01, how mi ght‘lhis
change the outcome of the hypothesis test? [2+3] [CO4)

You are tasked with analyzing customer feedback for a food delivery

vy w

END SEMESTER EXAMINATION

Time: 3:00 Hours

Nov-Dec, 2024
EIT-11 DATA ANALYTICS I

Max. Marks: 50

] SREC Note: .- Answer ALL questions.’" il e

service to identify pattems in satisfaction levels. The dataset consists of ady ‘Assume suitable missing data, ifany. 70 a0

two features: delivery time rating (x) and food quality rating (y), both . COt# is course outcome(s) related to the’question.” "= -
scored on a scale of 1 to 10. Each feedback is represented as a data point: I .- .

(2,8), (4,6), (5,3), and (7,2), where (x, y) corresponds to the delivery time 1[a] Why is clearly defining the problem the most critical step in the data

and food quality ratings, respectively. Your objective is to use k-mcans
clustering to segment the feedback into two clusters (k=2) for better
understanding and action. Using the initial cluster centroids (2,8) and (5,3),
analyze the following: How could the choice of ratings as fcatures
influence the clustering results and the actionablec insights derived?

Based on the data points, what differences would you expect between the

clusters after one”itcration of the algorithm, in terms of -customer
satisfaction trends? . g [3+2] [CO5]

‘ _ [b] Provide examples of how clustering can be applied in different industries

(e-g., healthcare, retail, finance). Discuss the insights that clustering can

provide in each context. [5] [CO5]

-

[b]

analytics process? Consider the example of an e-commerce platform
aiming to "improve customer experience.” How could the lack of
specificity: whether the focus is on reducing delivery times, personalizing
product recommendations, enhancing website usability, or improving
customer service, affect the analytics process and its outcomes? [5] [CO1]
Analyze the following ‘data analytics scenarios. For each'scenario, one
specific phase of the data analytics process is predominantly required: data
collection, data cleaning, data visualization, model building, or result
interpretation. Identify and justify (Maximum THREE sentences) the
phase most suitable for each scenario. )

Scenario I: A marketing team wants to present the impact of their recent

interactive dashboards and charts to make the insights more accessible and-

campaigns on website traffic and sales to stakeholders. They need to create <
A

—Best of Luck-— i actionable.

S~
Scenario II: A pharmaceutical company is developing a machine learning |

. model to predict drug efficacy based on patient data. The team needs to
focus on selecting appropriate algorithms, tuning parameters, and
‘evaluating the model's accuracy. :
Scenario III: An education company has analyzed the effectiveness of its
online courses and now needs to provide actionable recommendations to
improve course design. The team must interpret the analytical results and
translate them into specific, implementable strategies. [5] [CO1]

2. Answer any TWO of the followings . :

[a] A retail company collects data to analyze customer Iprcfercnccs and
behavior. The following table summarizes the collected data: ;




Y
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Table. 1: Customer Data

Attribute Description _Example Values
Customer 1D A unique identifier for each |0| , 102,103
Customer Ranked satisfaction levels (1 = Very . l 2, J,’;T“-‘
Satisfaction Dissatisfied, ﬂ)‘ Satisfied)

Preferred Location

Customer’s pr ed store location

Downtown, Subutban, Rural

[Age
Annual Spending

Customer's age in years

25,40, 55

£ 70 D

50,275,020

[b]

b€

lc]

Customer's total annual 1l spending in R1000_|

i. For each attribute in the table, identify whether it is nominal, ordinal,
interval, or ratio and briefly justify your choice.

ii.-If the company wants to group customers based on age ranges (e.g., 20—~
30, 3140), which data type would this transformation create, and how
would it help in segmentation analysis? |3+2] |CO1, CO2]

An e-commerce company wants to analyze the average price per unit for

products purchased in bulk. The data for three orders is as follows:

Table. 11: Company Data

Atuibute Order 1 Order 2 Order 3
Total Cost }) 1,000 1,200 1,800
Number of Units 10 20 30

. Calculate the arithmetic mean and harmonic mean of the price pcr unit
for the three orders.

ii. Explain the difference between the arlthmenc and harmonic means in
this scenario and interpret which is more appropriate for determining the
average price per unit across the orders. [3+2] [CO2]

A retail manager is analyzing monthly sales data (in %1000s) using

quartiles, IQR, and a bex plot. The data reveals that the first quartile (Q,)

is ¥8,000, the median (Qz) is ¥15,000, and the third quartile (Qs) is

¥22,000. |1+2+2] [CO2]
i.Find the IQR for above data. = .
ii. Consider the following sales records: 2,00, ¥17,000, 250,000, 29,000.
Find the outiiers as per boxplot.

iii. Why is the IQR considered a better measure of variability compared to

the range? Explain with specific example related to above.

3. Answer any TWO of the followings

[a]

A company records the following data for 4 employees regarding the
number of hours worked per day (X) and the number of tasks completed

Y): _1511CO3]
Table. 11I: House Sales Data
Empioyee iD 1 2 3 4
Hours Worked (X) 2 4 6 8
Tasks C leted (Y) 3 5 7 9

i -

Compute the correlation coefficient (r = ———=) between X and Y. Based 4

on the correlation coefficient, analyze the strcngth and direction of the -
relationship between hours worked and tasks completed. ¢

OO UL

ov(x Y)

[b] A small retail store conducted a survey with 12 customers to analyze their -

.[c

4fa]

[b

payment method preference (Cash or Card) based on the type of product
purchased: Electronics item (EI) or Groceries item (Gl). The raw data is ~ -
provided below:- [5] [CO3]
Table. 1V: Income Classification
Cutomer ID[ 1 2 3 4 5 6 7 8 9 10 [ 11 [12}
Product | EI | GI_ [ El | GI | GI | EI | El | GI | El | GI | EI |Gl "
Payment |Card| Cash | Cash [ Card | Cash | Card [ Cash [ Card | Card [ Cash | Card [Card|

Create a contingency or cross table to-analyse the relation between product *.

type and payment method. What percentage of customers purchasing
groceries prefer the "Cash" payment method?

] A company maintains two tables in their database: Employees and _'

Departments. The schema of the tables is as follows:
Table. V: Employse Table

[51[CO3}

Column Name Data Type | Description |
EmployeelD INT Unique identifier for each employee. |
Name VARCHAR | Name of the employee.

DepartmentID INT ID of the department the employee belongs to.

Table. VI: Department Tables

Column Name Data Type Description
D ID INT Unique identifier for each department.
DepartmentName | VARCHAR Name of the department.

Identify the Primary Key in each table. Explain why these fields qualify as -
Primary Keys. Define the Foreign Key in the Employees table and explain
its relationship with the Departments table. Write an SQL query to retrieve

the names of employees and their department IDs from the Employee table. f

A pharmaceutical company is testing the effectiveness of a new drug in.
reducing - blood pressure. The company formulates the following |
hypotheses: [3+2] [CO4]
Null Hypothesis (Ho): The drug has no effect on blood pressure.
Alternative Hypothesis (H,): The drug reduces blood pressure.
After conducting the trial, the company performs a statistical test and faces

two possible types of errors. Define Type-! Error and Type-II Error in the * i

* context of this drug testing scenario. If the significance level (@) is set at -
0.05, explain how it infiuences the probability of a Type-I Error. :

| A company wants to evaluate the effectiveness of a new online lrammg
program compared to its traditional classroom training. Employees are
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Time 03 00 Hours ‘Max. Marks: 50

v Use Case-A

Lighting India is a new Startup based in Kannauj, Uttar ‘Pradesh, India.
They are into designing and manufacturing of Natural scented candles.

Candles are made with high-quality, safe mgredlents for customers..

Lighting India understands the importance of a pleasant scent to create a
warm and inviting atmosphere, so they have created handmade candles
with unique and exotic top fragrances. “Cur'rent]y we are ‘thinking. of
launching our handmade scented candles either in France, or in Duba1
market”, said Sandeep Smghr CEO nghtmg India.

Q-01- Cntlcally analyse and briefly descnbe how Polycentnc ‘approach
will be beneficial for the success of Lighting India startup in the
international market? [10 Marks][CO1] [L1, L2, L3]

Q-02- Design a detailed marketing plah for succéssfully lauﬁching the
handmade scented candles of Lighting India startup in the Dubal market
with the support of suitable examples?

- % i [10 Ma.rks][COl c03] [L3, L4, L6]

Q 03- Suppose Mr. Sandeep Slngh CEO,. nghtlng India wxshes to
pqsxnon its handmade Natural scented candles as a “Luxury product’ in
the international market. Suggest some -feasible suggestions to Mr.
‘Sandeep Singh, CEO, Lighting, India with the support of suitable
illustrations? .o Mafks](COl, Cco2, CO3] [L3, L4, L5]




o

* with the support of suitable examples? [10

Suggest some promotional tools to Mr.

AL
Q-04- Critically analyse and compare e TR 0o
| of India based Lighting India startup,

the France arid’
Marks][CO1,-CO3] [L4, L5]

to the new Lighting India startup'_
sandeep Singh, CEO, Lighting
de scented candles of Lighting

the assumed future growth potentia

Q-05- Suppose you are a ‘Consultant’

India for successfully promoting handma
Indin startup in the France market, with the support of suitable
(10 Marks)[CO2, CO3] [L4, L5, L6]

illustrations?
Q-06- Briefly describe the importance of International Distribution
_Chﬂm‘lds fqr the growth and success of Lighting India startup in the
international markets, with the support of suitable examples?

[10 Marks][CO1, CO2, CO3] [L2, L3]
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EMK-09 - Dlgltal Marketmg

Time: 03:00 Hours Max. Marks: 50
Note : All questions carry equal marks. Choose any 5 Questions.

. Assume suitable mlssmg data, if any.

Q.1 Imagine you are the di gital marketing manager for an e-commerce website

specializing in eco-friendly products. Explain the importance of SEO in digital
marketing for your website. Highlight key techniques you would.use to improve
search engin‘e rankings for. the site.: [10][CO1][BTL2 (Understand)]

Q.2 You have been hired by a new startup-that offers meal delivery services.
Discuss the role of social media platforms in- your digital marketing strategy.
How can your startup use social media‘to engage with its audience and build a

_loyal customer base? - [10][CO2][BTL3 (Apply)]

Q.3 As a content strateg15t for a tech blog, outline the key components of a
successful content marketing strategy. Provide examples of how your content
marketing efforts can drive traffic to the blog and generate leads for tech
products and services. - [10][CO]][BTL4 (Analyze)]

Q 4 You are advising a small business owner who is’ trymg to decide betwee
investing in Pay-Per-Click (PPC) advertising or focusing on organic SEO to
promote their handmade jewelry store. Compare and contrast PPC advertising
with organic SEO, and discuss the advantages and dlsadvantages of each
approach in this context. [10][CO2][BTL2 (Understand)]

Q.5 Imagine you are a digital marketing consultant for a well-known company

of your choice. Discuss how this company uses digital marketing strategies to

engage with its audience and maintain its brand presence online. Include specific

examples of their campaigns or initiatives that have been successful.
[10][CO1][BTL3 (Apply)]

Q.6 Imagine you are helping a local bakery to improve its oriline presence.
Describe how you would use social media marketing to attract more customers

" to the bakery. Provide examples of specific strategies or campaigns you would
. implement. [10][CO2][BTL2 (Understand)]

'
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ESCM-06: Business Process Re-engineering
Time: 03:00 Hours i ; = Max. Marks: 50 Marks

Note: All questions carry equal marks (10 marks each). Attempt any
FIVE questlons Assume suitable missing data, if any.

Q.1 XYz Manufa'cturing Company produces custom furniture. - The
production process consists of the following steps: receiving raw matenals
cutting and shaping, assembly, finishing, and packaging. The processmg
times and waiting times for each step are as follows:

Recelvmg raw materials: Operator Raj; Processing time = 1 day, waiting
time =3 days; Cutting and shaping: Operator: Dilip; Processing time = 2
days, waiting time = 2 days; Assembly: Operator Upender; Processing time
= 1 day, waiting time = 1 day; Finishing: Operator: Shree; Processing time =
1.5 days, waiting time = 0.5 days; Packagmg Operator Shmn Processmg

- time = 0.5 days, Waiting time = 0 days

The company has been experiencing delays in dehvery and high productlon
costs due to these inefficiencies. Based on the provided information, calculate
the cycle time and total. waiting time for the entire production process. Also

make a Value Stream Map of the process. [10 Marks] [CO 1,2] [BTL2,3]

Q.2 An organization is undergoing a major transformatlon mtroducmg new
technology and restructuring teams to improve effi iciency. To ensure the
success of this change, the management needs to implement “effective

~ change management strategies at both organizational and individual levels.

Explain the stages of change management at the organizational level and
the individual level. How can the organization effectively guide its employees
through these stages to ensure a smooth and successful transition?

[10 Ma_rks] [CO3] [BTL1,2]

Q.3 During an orgamzatlonal change or innovation lmplementatlon
-employees often exhibit different responses to the new ideas and processes

introduced. Some embrace change .and drive it forward, while others are
hesitant or resistant. Explain the three types of people in the context of
innovation: Innovators, Fence Sitters, and Lost Souls. How can an
organization effectlvely manage each type to foster a successful innovation
adoption process? : [10 Marks] [CO1,4] [BTL4,5]
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2y S S Q.4 Business Process Reengin » - 'rset:ing:lcaa'n:?.pgoa?h
organizations aiming to improve peﬁorma?ce y g and re esign|
a 4 It involves analysing and resgructgr|ng workflows
such as efficiency, quality, 5

their existing’processes- ves
achieve significant improvements in areas S .
ribe the methodology and steps involveqy

o ‘ customer satisfaction. Desc s
Business Process Reengineering. How can ,orgamzatu?ns ensure
successful implementation  of BPR to drive substantial performan,
improvements? ‘ ot e [10:Marks) [CO2,4] [BTL1,3,4)
Q.5 . Total Quality ‘Management (Tam) and Business  Proce

Reengineering (BPR) are both approaches aimed at improving organizatio,

performance, but they focus on different aspects of the business. Explain t

key differences between Total Quality Management (TQM) and Busine

Process Reengineering (BPR) in terms ‘of their objectives, scope, 3

impact on organizational processes. How can an organization decide whi

approach to adopt based on its specific needs and goals? s

' [10 Marks] [CO1, 3] [BTL1, 4,5]

Q6 ITC's eChoupal initiative revolutionized the way rural farmers access
 information, products, and services, effectively enhancing their producti
S aﬂd‘, business outcomes. The program involved. reengineering existj
. business processes by integrating technology and creating a direct |
between the company and farmers. Using the ITC eChoupal case as

example, explain how Business Process Engineering was applied to imprc

the value chain. What were the key steps taken in reengineering the busFi)ne

s:pclessgs,-and what impact did this have on ITC's overall operations a
rural empowerment? [10 Marks] [CO1, 2] [BTL3,«
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MB 101: Management Process and Organizational Behavior

Total Time: 03 hours : Maximum Marks 50

Note: Please answer 5 Questions out 0f7 Questions. All
_Qucstlons carry equal marks

Marks are indicated along with each quéstion

Q1: One of the ilnponant,sdhoolé of Managerﬁent Thought is-Human

Relations Approach. A major study was conducted in Chicago between

1927-1932, which became a milestone learning in this direction. Please
describe your understanding of this study and the learnings that you

derive from this pioneering work.

(Marks 10 Course Outcome no. 1, BTL 4) ‘

Q 2: In order to increase the level of performance in the organization,
managers try to fulfill the needs of the employees and give also provide
them an environment wherein they are able to perform better. Please
explain this phenomenon on the basis of following:

1. Theories propéur;déd by Alfred Méslow and Alderfer
2 Theory propounded by Herzberg

(Marks 10, Course Outcome no. 2, BTL 3)

.Q3: To achieve any goals plannmg is extremely '1rnportant. How_evef,

the process of* planning remains ‘incomplete without one another

important function of management. Write a short note on this important -

and critical function of management and explain three parts of its kind.
(Maximum Marks: 10, Course Outcome no. 1 BTL 4)

Q4: A company has been doing well operationally for the last six

months. One of the major expenditures is salary of people in senior

~ positions. Do you think, it’s a good idea of get rid of these high salaried

managers and save money for rainy-days. In other words, please explain .
why managers are required in any organization and their presence
remains relevant i in all times.

(1V[ax1mum Marks: 10, Course Outcome no. 3 BTL 4)




. BT
./Q5..During performance réviews, the managers are expe
appraising the real performance and should not be affected b
- subjectivity. What are the factors which distort the reality a.n.d makf: the
whole performance review process a subjective. In addition, please

explain the following
1. Halo Effect

2. Horns Effect

3. Contrast Effect

4. Stereotypes

(M:iximum Marks: 10, Course Outcome no. 4, BTL 3)

cted to be’
y his "

Q 6, As a manager you have to explain the Leadership theories, you
. have decided to share with them only one such theory. Please pictorially
depict the managerial grid by Rober Blake and Jane Mounton and
denote on the axis where the following exists '

1. Impoverished Management
" 2. Dampened Pendulum
. Country Club Management
Team Management
Task Mariagenient
 (Maximum Marks: 10, Course Outcome no. 2, BTL 3)

3
4
5

.
.

Q 7 Learning is an:'impoftant process. There are many factors which
affect learning. Write a detailed note on our Impediments of learning
-as discussed in the class. Please classify the different kinds of
impediments separately as sections A-i.e Personality related factors &
Section B Volume of Knowledge Related aspects ’

(Maximum Marks: 10, Course Outcome no. 4, BTL 3)
' . ——End—- B
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COURSE TITLE MARKETING MANAGEMENT

. ‘Tlme 03:00 Hours el Max. Marks: 50

Note: Attempt Any Five Questions.

> Q- 2, Q-3, Q-4, Q-5 and Q-6 are bvased on assumed Use Case-A
> Aesume suitable missing data, if any. .

Q.1- Briefly explain the role and lmportance of the Holistic Marketing
Concept W1th the support of suitable examples?

[10.Marks] [COl] [L1, L2]
.Use Case-A

Suppose ABC is a new Startup, based in New De1h1 India and ABC has
‘in-house developed a new waterproof backpack- for laptop and the
company is' planning to laurich the new product in the Indian
" market. “Currently we are thinking on Segmenting and Targeting as
well as on Branding and Promoting our new waterproof backpack
for laptop in the Indian market”, said Michael, CEO of ABC

- Startup. ‘ '

Q.- V(‘Zri'ti'c"all'y ‘analyze ‘and brieﬁy describe- how “Marketing

Environment’ will be impacting the launch of the new waterprcof
* ~backpack for laptop of ABC Startup in the Indian market? -

[10 Marks] [c01 coz] [L4, Ls]

Q.3- How can Mr Michael, CEO of ABC Startup, test the prototype of

the waterproof backpack for laptop, before commercially launching
‘the product in the Indian market? Explain with suitable examples

[10 Marks] [Co2, co4] [L3,L4,L5]




. b v

Q.4- Suggest some feasible ways (0 Mr.
for ‘Segmenting® and ‘Targeting’ the Wntcrpr?of b
laptop for Indinn customers, with suitable illustrations.

' : ©[10 Marks] [C01, C02, CO4] [L2, 1.3]

Michael, CEO of ABC Startup
ackpack for

Q.5- Suppose you are a ‘Marketing Consultant’ to the new ABC Startup.
Suggest some ways for successfully promoting the new waterproof

backpack for laptop, in the Indian market. ,
(10 Marks] [CO2, CO3] [L2, L3, L6]

Q.6- What probable sug’geétions you will gi{/e as a learned ‘Branding
Consultant’ to Mr, Michael, CEO of ABC Startup for positioning

- _ the new waterproof backpack for laptop, as a ‘Luxury Brand’, in

the Indian 1'11:1_rket'? Lo i X
[10 Marks] [C02, CO3, C04] [L3, L4, L6]
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MB 103 Busmess Research Methods
o ' e  Max. Marks: 40

Tlme 03: 00 Hours o .

Note Attempt any five questions
- All questions carry equal marks.
Assumesurtable mlssing data, if any. .

‘ Q'.,_lz_- “The research process mvolves a serlcs of mterrelated and intricate

steps Does every research study need to satisfy this condition and

) be camed ina sequence‘7 Justlfy your answer by giving suitable

exam ples [8] [CO#I] [L1]

Q.2 Cosmic Industrles is-a FMCG company dealmg with a range of

chem1ca1 free cosmetics. Their blggest brand is Vedic, which is a

. faxmess cum skm nounshment cream. Due to competmve and high

: - price elastxcnty of the product the Cosmlc Industries could not
4 change the pnce of the product smce last 4-5 years. The company
\ approaches you and ask to conduct a study to see the influence of

- price on sales now. The company proposes three ‘price pomts of Xi,
"_»X2 and X3 whxch is low, medium and high price points respectxvely

The company is also mterested in separating out the influence of two -

important extraneous variables i.e. store size and packaging. The
“store could be of size- small, medium and large and type of

packagmg could be level I, IT and III.

Write two major hypotheses of the study and design sultable

expenment - [81[CO#I, II] [L2]




A’{ q 1 has in the minds of
Q.3 Air India wants to understand the image it h b
i stionnaire to meas

customers. Construct an appropriate que lain the suitable data

' pereeived image of the brand. /\lz"oogxpr:spondents in a pan
te 25

lco(;lcmon process frot approximat (8] [CO#I, IT] [L1]

ndia survey, - ocess of launching a new

Q.4 ’Iu‘hmcnl Solutions India Ltd. is in the pr o filter life
smart air purifier. The model features BLDC motor and

1
ofapproximately 15,000 hrs. It has an inbuilt sensor to m?:;?;:iﬁ:n
AQI with SensAl technology. The approximate price:0 ot u
will be around INR 25,000. The company approaches you to gt on
study done to capture the prospective buyer’s attitude and percepti

about the brand. dent and
Explain in detail the research design, major dependen

independent variable/s, suitable hypotheses and data analysxs
techmques yot would prefer to use to conduct this study.
' [8] [CO#I, I1] [L2]

Q.5 T\vo hundred randomly selected adults were asked to cxplain
whether social media as a whole are primarily ertertaining,

educational or a waste of time (only one answer was selected). The

respondents were categorized by gender Their responses are given

- In the table below:
| st " Options ' -
[Gender . Entertammg Educational Waste  of | Total
2 Time
| Male: s 52 e L 110
|Female |28 J12 |50 BRED
[Total |80 [40 [ 80 200

Is this evidence convincing that there is a relationship between
gender and opinion of the- populatlon under study‘7[8] [CO#IIIT] [L3]

Q 6 Attempt both the questions given below:
A. What is the main difference between stratxﬁed sampling and quota

[4] [CO#L, IT] [L2]

- sampling?

B. A research study is requlred to be conducted to understand the
forelgn student’s issues and challenges who are pursuing different
courses at Delhi Technological University. What samphng technique '

would you hke to use for the above study? * [4] [CO#, IT] [L3]

"ﬁ
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1L Ratio of cur . J
1. The ﬁx‘lnT\CJ:qL:‘:slilslw(‘:\{i:ﬁ:“75‘1000’ o “"m.” fiabifitics (Rs. 3,50,000 i 2.5 :
credit. Compute the amount ”f‘ the current tatio of 2:1 by purchasing goads o

V. Discuss how n sharp d ‘l‘” N (10@5 that should he purchased on credit. ]
ROE. even “‘i“ arp decline in equity value due to matket volntility might affect

V. Hm\j‘cn 'en n company maintains stendy profitability.

VI an companies artificially inflate ROE by manipulating assels.

. A Company has Net Worth of Rs.S Lac, Term Linbilitics of Rs.10 Lac, Vixed
Assets worth Rs.16 Lac and Current Assets are R8.25 Lac. There are no intangible

Assets or other Non Current Asscts. Caleulate its Net Waorking Capital.

(10](T1A]

Lach bar sclls for Rs. 50. The
) totals Rs. 30. The total fixed

Q.5 ABC Ltd. manufactures a premium energy bar.
cre sold. The CEO of ABC

variable cost for each bar (ingredients, labor, packaging
costs are Rs. 40,00,000. During the year, 12,00,000 bars w
Ltd. is considering the following options to-enhance profitability:
() Launch a targeted  advertising campaign 1o
(11) Improve the quality of ingredients and simultancously increase t
(1) Increase the selling price
(1V) Implement a combination of all three options
Required:

1. The sales manager believes th

-boost  sales
he sclling price

at an advertising campaign could increase sales
volume by 50%. If the CEQ’s goal is to increasc profits by 60% over last year’s
profit, what is the maximum amount that can be spent on advertising?

2. Assume that the company improves the quality of its ingredients, which.increases

the variable cost per bar to Rs. 35.
(a) How much should the selling price be increased to maintain the same break-

even point? ) .
(b) What selling price should the company set if it wants to increase its original
contribution margin ratio by 40%? 2

3. The company has decided to increase its selling 'price to Rs. 60 per bar. The sales

volume drops from 12,00,000 fo 9,00,000 bars. Was the decision to’increase the
price effective? N L
Calculate the sales volume needed at the

same profit as last year. BN
4. The sales manager believes that improving the quality of ingredients (increasing

the variable cost to Rs. 35) and increasing the advertising budget by Rs.
1,00,00,000 would double sales volume. He also states that a price increase of up
to 20% would not negatively impact sales volume. Calculate the selling price that
would be required to achieve the goal of increasing profits by 60%. Is the sales

manager’s plan feasible? What price would you choose, and why?
[10][BTLS]

new price for the company to achieve the

END
4
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" Q.I(b)Mr.A,a professional, provides the following dat

Roll N0

oPOUPY

aln l:) qu-‘,IM ‘
fotal no. ] ( i ; !
ND T RM ¥ MINAT N N()l!-2024
INT D) sKAMI ATION . h
r/"’ ‘of'. F i, & Cos! nalysis
A AN illanC la LAQC_ ,O_U,IIL ﬂg.__..,.___,_;_A-———‘ Y__d.:

Time: 3:00 hours
Note: All questions are
All qquastions car v
Assume suitable missin
\ company reported a net inc
core buainess, the company
i in divi in i st income.
brought in 210,000 in dividends and 228,000 mvmtercﬁ ne : e
(:mn;:any paid a 26,000 interest for its previous financing and sold a [?IELC of Inn(.l ata
loss of 44,000. Also, it was sued and was charged for 785,000. Salaries wc/re paid i;or
. iati i ing a 25% tax rate,
0,000 and depreciation on fixed assets was 236,000. Assuming a X ral
caiut ; [5] [BTL3]

calculate operating profit.

compulsory
ry equal marks
g data,ifany.
ome hefore tax of 220,00,000 for one yc:vr..ln
also made some investments, which
the

addition to running its /
mrought 0 During the year,

a for the year ended 3 Ist March,

2024: >
o Net Sales ; ) 220,5¢,000
e Sales return Z105,000
s COGS 65% of Net sales
o Interest received in cash 260,000
e Remuneration paid to Staff 288,000 ;
e Reni paid ) 2104,000 :
e Magazine and Journal expenses 210,000 - X
e Travelling and Conveyance 230,000
%100,000

e Office Expenses
Additional Information: - Interest inc
yet received in cash is 227,000. Office rent includes ¥44,000 for previous year and rent
0f 32,000 not yet paid: Loss of stock by fire is Z4,000.

Calculate the net profit of Mr. A and show what all items will appear in the balance
[5]1[BTL3]

ludes 33,000 in respect of 2023 and interest not

sheet and at what amount.
OR

Q.1 (¢) ABC Ltd. is a leading player in the automobile manufacturing industry and has
released its financial statements for the years ending December 31,2022, and December
.31, 2023. The company is considering expansion plans, and the management is
interested in analyzing the financial performance and position over these two years.

Below is balance sheets for the two years:

=
S



Balance Sheet (in Re, Crores) Transactions:
4 | emttieuinge [ wos | 2032 1. The company collected $5,00,000 from custon
! i dérvices rendered,

jers A payments for delivery

: Aseriy |
AR i ‘ Shis |55 2. 21,50,000 interest paid on a long-term loan. 25000
| . i H 4.1 any Tiee furniture for 225,000,
i ; (Mo ConsRE A {50 A The company sold unused of i 1 Nrr Sk
{ i b i 4 | Ssa 4 Received 240,000 as dividends from investiments in other companies.
LA -t . § GG 6 XY7 Pyt Lid. repaid 22,00,000 of its long-ternt loan.
! jLtasilitiey ! i 6. Doclared and paid a dividend of 250,000 to shareholders.
i Current Lisbitities i | a0 i son 7. Purchased machinery worth 24,00,000 on credit.
! i | i :
! : - " { : 8. Paid 215,000 ag rent for office premises.
Non-Current Liabilities T L wisy " - TH
] i | . 0. Accrued (but not yet received) interest of #30,000 on a fl:(f!fl deposit investment.
ol s R et 10.Issued 1,000 shares to the promaters, who provided an additional 22,50,000 worth

S of asscts a3 part of the payment
as0 Given the current cash flow structure, provide strategic recommendations ‘[%]I[I};P;f;$
44

cash flow for XYZ Pvt. Ltd., ensuring sustainable growth.

|

450

|

|

| Sharehotder's Equity : ;
i i
|

Jotal Liabilities + Equity 1,000 ! 900

" How does the company’s financial position compare in 2023 and 2022, especially in Q.3(b) The following are the extracts from the financial statements of XYZ Ltd. for the
terms of its company’s liquidity and solvency? What impact could the changes in year ending March 31,2024:

C\ liabilities and equity-have on the company's financial risk? [5] [BTLA] « Net Profit Before Tax: £5,00,000
« Depreciation: Z1,00,000

T
: =" Q2 M/s..Gupta 'I‘mficls is_a {1131!\|fhct|xritlg company that regularly invests in machinery . « Proposed Dividend for the year: 750,000
1 to keep its production efficient. On Ist April 2020, M/s. Gupta Traders purchased a « Dividend Paid during the year: 40,000
machine from XYZ & Co. for ¥5,00,000 and spent an additional Z1,20,000 on « Interest paid: 260,000
installation to make it operational. The company estimated that this machine would have < Interest received on investments: 40,000

Proposed Taxation for the year: %80,000
Rent received: 250,000

Income Tax Paid during the year: Z70,000
Increase in Current Assets: 320,000

a useful life of 4 vears and would likely have a residual value of 250,000 at the end of
its useful life. The company purchased another machinery on 1.10.2021 for Z2,00,000
(expected life- 5 years). Due to a change in production requirements, M/s. Gupta Traders
decided to sell the first machine (purchased on 1.04.2020) on 31st March 2023 for
%2,80,000. The company uses the Written DOWI“l Value (WDV) method to depreciate its Increase in Current Liabilities: 215,000
assets, with a depreciation rate of 5% per annum. Gain on Sale of Asset: 230,000
i. Prepare the necessary ledger accounts in the books of M/s. Gupta Traders for the year : < Book Value of Asset Sold: Z1,00,000
ending 31st December every year. : ' ’ : :
ii. Explain why the company might chcose th
methods. . 5 3
iii. Calculate the book value at the end of every year in case of a second machine if the

¢ WDV method over other depreciation : Pre;;are the Cash Flow from Operating Activities and investing activities as per the
| indirect method. SRR [5](BTL3]

Q.4 Answer the following questions (any 5): : -
term loan will result in increase,

company decides to use Sum the digits of the years method for computing depreciation. . State with reason whether repayment of long-
: [10][BT:L3 ’BTLS]. ; decrease or no change of debt equity ratio. i
Q3 (a) XYZ Pvt. Lid,, a logistics company, bas provided the following financial IL ° The gioss profit ratio of a company is 50%. State with reason whether the rent

transactions for the year ended 3 1st March 2024, The company wants to prepare its Cash A .7 received of Rs 15,000 will increase, decrease or not change the ratio.

Flow Statement but needs to categorize each transaction correctly. Help XYZ Pvt. Ltd.

by identifying whether each transaction belongs to Operating Activities, lnyestmg

Activities, or Financing Activities. Aiso mention whether it will be an outflow or inflow.
8 =
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Note All questlons carry equalmarks:
. Marks are mdlcated along eadl question.

‘ Q.1 a. Describe at least five different pricing practices and strategies that

: - firms commonly use, provndmg examples- for each.
» : [5 Marks] [CO2] [BTL1]

"b. A textile seller plans to reduce the price of cloth from Rs. 150 per

metre to Rs. 142.5 per metre. Currently, monthly sales are 2000

: ; ) metres, and the price elasticity of demand for the product is estimnated

i T . at  0.7..  Calculate  the new  quantity demanded.

' [5 Marks] [CO3][BTL3]

Q.2 A factory hires workers to operate a machine, and output increases
- rapidly. What stage of production is this, and how should the manager
- respond? Why is this happemng, and how would you identify the point of
' ‘maximum total output’7 ' [10 Marks] [CO2] [BTL2]

w

Q.3 Calculate total cost, marginal.cost and évérage-cdst'bas;edvon the
given schedule. Also draw total cost, fixed cost, variable ‘cost,

ool

AT s e ) e

y marginal cost and average cost curve. [10 Marks] [CO1] [BTL3]
: ' : ~  Schedule
: Output Total Fixed Cost - Total Variable Cost
0 . . 120. ! 0
P 10 120 .| 60 g
22 g 120 120
, 36 3 120 1 180
3 52 120 240
70 120 300
i 86 120 360
100 - {120 420
: : 112- 120 480 -




(540 o bt e

(600

660 :

(720 e

780

840 RIS WML T
20 2. | 549

152 _ﬂl =300 ' 5

155 - 120 R

structure. Analyse short run
in this market _structur'e.
[10 Marks] [CO2] [BTLA]

ion market

Q.4 Describe monopoly competit
ondition

and long run equilibrium ¢

on clothing market, customers value
titive vegetable market, customers
ferences influence market

Q.5 In a monopolistic competiti
variety, while in a perfectly compe

focus on price. How do -customer pre
strategies in monopolistic competition versus perfect competition? -
3 ’ fint S ' [10 Marks] [CO2] (BTL2]

Direct Investment (FDI)? Describe the various
types of FDI and discuss its benefits. - [5 Marks] [CO4] [BTL6]

b. Discuss the phenomenon of inflation. Suggest tools to tackle
' ~[5 Marks] [CO4] [BTL6]

Q.6 a. What is Foreign

inflation?

PR,

AR
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Note_.: Attempt any 5 questions.
Assume suitable missing data, if any,

Q.1

Q.2

A year ago, management noticed that Louis was not bcing effective at his job. When
management approached Louis, he indicated that he was having difficulty with his eyesight
and this was hindering his ability to do his job. Management met with Louis to determine
whether his eyesight was actually causing the prob]em They set up guidelines to help Louis
handle the workload.

Another year passéd and the company continued to notice that Louis was still unable to

- handle the workload. His work performance had become worse. He was forgetting

important facts that needed to be documented. He was leaving customers on hold for an
extended period of time. He was letting the telephone ring endlessly. He was forgetting

when he put someone on hold. His work was piling up. There were times when he would
just sit at his desk and "stare into space."

Since you have now been asked by management to‘intervene and work with Louis, how
would you approach Loms concerning his work-behavior and what action would you
take regarding his lack of 1mprovement Back up your decisions by using the Business
Communication strategies. T [M10] [CO#2, 3].

Case Study: Laura, a project manager at a marketing agency, notices tension between two

team members, Alex and Sam, who disagree on the direction of a client campaign. Alex
prefers a traditional approach, while Sam wants to try a new, riskier strategy. The conflict
is slowing down progress and impacting team morale.. = e

Questions:

A. Addressing the Conflict:
o How can Laura facilitate a discussion that allows both Alex and Sam to express
their viewpoints constructively?
o What problem-solving techmques could Laura use to help the team reach a
consensus? :

B. Commumcatmg the Soluhon
o How can Laura communicate the final decision to the team in a way that shows
respect for both Alex and Sam's perspectives? -
o What follow-up communication might be necessary to maintain a positive team
dynamic?

"



Y77

C. Building Communieation Skills: ; hication among team
© How can Laura encourage open and respectful comm‘llﬂ ‘
j members moving forward? id similar conflicts in the
o  What guidelines could she set to help the team avoid simild COH 1.4]
future? (M10TL ,
Q-3 Case Study: Transforming Alpha Manufacturing - Leadership in Crisis .

Background: Alpha Manufacturing is a mid-sized company Spe,mahzm.g. i 1”21(153?2
machinery. For years, it held a solid market position, but recently, it has struggle se to
increased competition, outdated technology, and declining employee morz_xlc. In rle(SpOﬂ ‘for
these challenges, the board of directors appointed a new CEO; Sarah "T]'IOITIPSOna' mown

O

her strong leadership and change management skills.
Key Challenges ' ‘

1 Low Employee Morale: Employees felt disconnected from the company’s goals
and were demotivated after years of stagnant growth and layoffs- :
2. Resistance to Change: Many employees had been with the company for decades

- and were resistant to adopting new technologies.

3.. Financial Constraints: The company had limited resources to invest in new

equipment or large-scale initiatives.

4. Communication Gaps: There was a significant. gap between management and
: employees, leading to misunderstandings and Jack of trust. :

‘Sarah's Leade.rship Approack-]\ ]

1. Building Trust and Transparency , . gl
O Sarah began her tenure by holding town hall meetings and listening sessions to
: openly discuss the company's challenges. ;
D She implemented regular updates to keep employees informed about company
. goals, financial health, and upcoming changes. = :
0 Sarah emphasized transparency in her communications, addressing. rumours
head-on and building a culture of openness. '

2. Fostering a Culture of Innovation 5 :
O She introduced an “Innovation Week” to encourage employees to brainstorm
ways to:modernize Alpha’s products and processes. ;
0 Sarah offered small incentives for employees who proposed viable ideas that

+aligned with the company’s objectives, thereby involving the workforce in the
transformation process. : :

3. Investing in Training and Development
0 Recognizing that employees were intimidated by new technology, Sarah
launched training programs to “upskill employees in areas like digital
manufacturing and automation. : :
O By investing in their growth, she showed employees that the company was
~committed to their long-term success. -

4. Aligning Leadership Style with Situational Needs , _
. O Initially, Sarah adopted a more transformational leadership style to inspire
change and encourage collaboration.




Q.4

Y

0O Asthe company progressed, she shifted to amoretr, ansactlonal appr oach settm;,
clear targets and rewarding achievement. .

- Results °

After a year of Sarah’s leadership, Alphﬂ I\/lﬂnufacttu ing saw:
O . Increased employee engagement and morale.
0O Greater openness to adopting new {echnologies.

0 Financial performance improvement due to increased productivity and efﬂcnency

-0 Better commumcatlon and collabmatnon across departmcnts

Dnscussmn Questlons :

A. - Analysing Leadership Style

o What leadership qualities did Sarah demonstrate in’ her mmal approach to the

company? How did these qualities help build trust?

"o~ How did her approach to leadership adapt over time, and ‘why was this ﬂexxblhty
important? ' _
B. . Impact on Organizational Culture

o What specific actions did Sarah take to chance Alpha ] culture and why were
these actions effective? = :
o How does fostering a culture of 1nnovat10n contnbute to employee mora]e and
enoagementQ

C.  Handling Resistance to Change '

o Why do you think some employees resisted changes at Alpha?

What strategies could Sarah. have used to address resistance even more
effectively?

o

“In what ways did-the training procrams help reduce resnstance”
~ o : [M 10] [CO#1]
Exercxse A ldentlfymg Reasomng Types ;

Read each'scenario below and determine whether lt uses mductlve or deductlve reasoning.
o

The company’s sales have increased each quarter this year. Based on this trend, the
sales team concludes that sales wdl likely continue to rise in the next quarter. Type

of Reasonmcr :
o The HR department has a policy that al] new hirés must complete on boarding w1thm
“ the first week. An HR manager-schedules on boardmc for a recent hire to comply
with the policy. Type of Reasoning:
o

After analysing several surveys, a business analyst fnds that emp]oyees who work
remotely report higher job satisfaction. The analyst concludes that remote work -
posmvely impacts job satlsfactlon Type of Reasomng

Exercxse B: Creating Arcuments

Using either inductive or deductlve reasonmg, create your own arauments based on the
following busmess scenarios.

O

Scenario 1: Your company»recently introduced a wellness program. After a few
months, you notice that employees participating in the program have taken fewer




U9

i inductive reasoning
sick dﬂ\'ﬁ than those who haven't. Write an rl'L"”,c"'g‘ll:l(;ilky& e,
(o support the idea that wellness prograins reduce :' crs can authorize o;fcr;tlmm
] Scenario 2: Your company has a policy that only man g(,rrcct applov(ll Write 4 :
You're asked to work overtime and want {0 get thccc“ ‘ho can authorize you
argument using deductive reasoning (0 determin (M 10) {CO #2}

overtime,

ny relies on a

Scenario: Supplicr Contract Negotiation Your compa
an
You are the Procurement Manager at a manufacturing compz IZ The current contract with .
teria ices and stricter

key raw material supplied by a single vendor, Alpha Ma d rising pr
Alpha Materials is about to expire, and the company has nothC( uct;d to negotlate more
payment terms. To maintain-. profitability, your team is ins lt 0% reduction in cost
favourable terms with Alpha Materials, aiming to achieve at leas t’hat Alpha Mater ials has
and a 30-day extension on the payment terms. However, you know

limited competition and is aware of its market position. b st thie oSt increase
When you approach Alpha Materials, the representative, Lisa, cxpldl“th :fanspOrtatlon fees.
is due to their rising operational expenses, including labour costs an rent rates. However,
She also mentions that they have other clients willing to pay e c:ju; flexibility in other
Lisa expresses interest in a long-term partnership, which might Jead to )

areas.
Questions _
A. Pr eparatlon and Planning . . : nd . .[ I
ha
: o Whatinformation should you gathcr before going i mto the negotiation thh A p
Materials?

’s
o What objectives should you set for this neootxatlon'? How mlcrht your company

priorities shape your approach?

B. Understanding the Other Party's Position . h
o What can you infer about Alpha Matcrlals needs and priorities based on their

position and recent statements? b
How might you use this information to identify areas ‘where there could be

mutual benefits?

C. Communication and Persuasion Techniques
What strategies might you use to communicate your company’s needs in a way

that is persuasive but not aggressive?
How can you demonstrate empathy towards Alpha Matenals challenges while

still advocating for your desired terms?

o

o

o]

D. Problem Solving and Flexibility -
If Lisa remains firm on price, what alternative concessions might you propose or

request to create a win-win outcome?
o Are there creative options (like volume discounts, guaranteed orders, or joint

marketing efforts) that might benefit both parties and offset the higher prices?

]

E. BATNA (Best.Alternative to a Negotiated Agreement)
What is your company’s BATNA if you cannot reach an agreement with Alpha

Materials?
How might having a strong BATNA impact your negotiation approach and

“confidence

(@]

(]

(M 10) (CO#4)
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Case Study: The Presentation Misunderstanding

Background:

" Sarah, -a project lead at Global Innovations Inc., was preparing her team for a critical

presentation to a potential client. This presentation would determine whether the client

would move forward with a Jong-term contract, so Sarah was feeling the pressure. Sarah is

known for her meticulous planning and often communicates non-verbally through gestures

and expressions that her team interprets as either encouraging or critical,

Sitnation: ,

During a final rehearsal for the presentation, Sarah sat in the back of the room to observe.
John, one of her team meimbers, began his section of the presentation. Throughout John’s
practice, Sarah’s facial expressions shifted multiple times—she furrowed her brow, crossed
her arms, and occasionally shook her head. John noticed these expressions and began to feel
nervous, fearing he wasn’t meeting her expectations. He started stumbling over his words,
lost his focus, and wrapped up his section feeling disappointed.

Seeing his performance decline, Sarah quickly jumped in to provide feedbaclk, expressing
that she was concerned about the content flow, not his delivery. However, John interpreted
her body language as a critique of his abilities, and he left the rehearsal feeling insecure and
frustrated. '

Resolution: : ’
Later that day, Sarah noticed that John seemed withdrawn and less engaged. She scheduled

aprivate conversation to address his concerns. During their discussion, John expressed how
her non-verbal cues during the presentation made him feel judged, which affected his

confidence. Sarah apologized for the misinterpretation and explained that her expressions

were not directed at him personally, but were reactions to the presentation content itself.

‘To avoid future misinterpretations, Sarah agreed to give verbal feedback instead of relying
on non-verbal cues ‘alone, especially in high-pressure situations. She also encouraged her
team members to check in with her directly if they felt unsure about her reactions.

. Outcome: - )
By acknowledging the impact of her non-verbal communication, Sarah was able to improve

_her team’s confidence and foster a more supportive environment. John’s performance in the

actual presentation improved, and the client ultimately signed the contract with Global
Innovations Inc. o : i ) CSaal

Questions' for Anal)réis : - : ‘ :
A What speciﬁc‘ non-verbal cues did Sarah use that led to misinterpretaﬁon by
John? iy

o How might these non-verbal signals (e.g., furrowing her brow, crossing her arms,
and shaking her head) be perceived differently by various team members?

B. Why is it important for team leaders to be aware of their non-verbal
communication, especially in high-stakes situations? _ ’
o How could Sarah have been more mindful of her non-verbal cues in this context?

C. What could John have done differently to gain clarity about Sarah’s feedback
" during the rehearsal? . .




G.

g/ | '

: : or was his
: : -chearsal itsclf,

©  Should John have sought clarification dur{qg the ”‘fh

hesitation Understandable given Sarah’s position? : N e
& i : : -ove the te '
How djq Saral’s follow-up conversatiou with John 'mp'fﬁom Sarah’s willingness
©  What lessons aboug open communication can be drawn .

to address John'y coneerns privately?

o nication fo
. : : -verbal commu
How can team leaders balance verbal and non-v

minimize misumlers(nndings? CAEy ily on non-
: £ il & too heavily
© Are there specific strategies Sarah could use to avoid relying )
verbal cues in future rehearsals? '

' . i ~and-
AT e n’s. confidence
In What ways did non-verbal communication impact Joh

performance? R ication to
; . A munication
©  How does this case illustrate the potential for non-vqcrbal com
cither support or hinder a team mmermber’s performance?
; in t ure her non-
What are some techniques Sarah could-employ in the future to ens ’
verbal feedback js more constructive? '
; . : uage to
o Could she use specific gestures, facjal expressions, or open body languag
create a more Supportive environment? ;
. ; . ; . : e es in
How might cultural differences impact the interpretation of non-verbal cues
a diverse team setting? i ’ . £ aéh
© Are there ways Saral and her team could develop an understanding of e
other’s comm unication styles to enhance teamwork?

'\’Vha( ‘role does se[f-awafeness ‘play in the effective‘ness of non-verba]

communication? L ; R : bal
© How could Sarah develop greater self-awareness to improve her non-verba
communication skj]|g? ' '

How can regular feedback: ‘sessions improve non-verbal .communication
misunderstandings over-time? :

o What are some ways Sarah could incorporate feedback from her team on her

communication style to improve team morale and performance? _
' (M 10) {CO#3,4)



fb)" The ifeéu_lts of ‘a national survey showed that on a{'erag
‘hours per night. Suppose that standard' deviation is 1.2 ho
" number of hours of sleep follows a bell-shaped distribution,

v

: A'lf'ime:j.?‘:ba' Hours

wipn-Total No. of Pages 02—+ -+ el ot

 FIRSTSEMESTER \4@2/ . ...  MBA& (B.&)

. [END SEMESTER EXAMINATION  Novermber - 2024

' MB 107- INTRODUCTION TO BUSINESS ANALYTICS

Max. Marks: 40

‘Note: Attempt any five que ..S‘..ti.ohs'-reA.ll.:';qy,es_'ﬁ9h§ﬂcarry:_.9qya_l‘ marks.-

[Assume suitable missing data,if any; .

- Q.1 a) What are the differences amon

... such as the range, interquartile range, variance, standard deviation, and -
 © coefficient of variation? :

g the various measures of variation;,

[4][COA4][BTL2]
e, adults sleep 6.?
urs and that the

i b e e : - [4][CO4] [BTL3]
: a) Usé the empirical rule to-calculate the percentage of individuals who
‘sleep between 4.5 and 9.3 hours per day. - : i

-b) What is the z-value for an adult who sleeps 6 hours pernight? -

" Q-2 a) Show & Sell can advertise its products on local radio and telévisic_)h
-(TV). The advertising budget is limited to Rs.10,00,000 a month. Each -
‘minute- of radio advertising ' costs . Rs.15,00 and each minte of TV. -
‘commercials Rﬁ.BO,QOO} Show & Sell likes to advertise on radio at least.

* twice as much as: on TV. In the meantime, it is not practical to use more

than 400" minutes of radio advertising a month. From past experience;

advertising on TV is estimated to be 25 times as effective as on radio, -

Construct the Linear Programming model. -~ - - [41[CO3] [BTL4]

b) Determine thefdptimuﬁ allocation of the 'budget to radio and TV

-advertising. . . [4[C03][BTL3]

d to communicate complex data
© .. [4][CO1][BTL2]

Q.3 a) How can data visualization be use
insights to a diverse audience? . . -




"Q.5 a) Provide a pra«.tlcal example of how

" investment strategles
" b) Consider the production problem fa

A T N i oo~

b) Orgnmzatlons are competing ‘on analytlcs not jus
business today is'awash in data and data crunc

BTL3
should. Examine the statement. [4][coil ]

Monte Carlo simulation can be.
lied t b s problem, such as forecasting
applied to a business p O o8 (BTLA]

are used to produce three products: a fuel additive, a solvent base, and a-

carpet cleaning fluid. The profit contributions are

matenal 1 and 0.6 ton of material 3. Each ton of solvent base requires 0.5

5

areas for .\
b) ‘How .can KPIs be used . to monitor progrsssf;u:?air;:?xamples
e

bl lmprove.nnnt and make informed decisions? Provi [4][CO1] [BTL2] !
. li "
Q4a) Discuss  the role of optimization . algorihin (; %n’ ﬁnl::; Y
linear programming) 2

prograinming, integer Progmmmmg o [4][CO4] [BTL2]
optlmal soluflons ¢ because they canf T

hers—but also because they - '

sales or évaluating -

ced by RMC Inc. Three raw. materials -

Rs.4000 per ton for the -

| -~ fuel additive, Rs.3000 per ton for the solvent base; and Rs.5000 per ton for
. the carpet cleaning fluid. Each ton of fuel additive is 2 blend of 0.4 ton of -

ton of material 1, 0.2 ton of material 2, and 0.3 ton of material 3. Each ton -

~of carpet cleaning fluid is a blend of 0.6 ton of material 1,°0.1 ton of
" material: 2, and 0.3 ton of material 3. RMC: ‘has 20 tons of material 1, 5 tons

of material 2, and 21 tons of material 3, and management is interested in -

: ‘determining thc optlmal productxon quantities for the upcoming planmng
_ period. Formulatc the optimization model. [4][CO2] [BTL4]

Q.6 a) Consider the stock return scenarios for Apple Computer (APPL),

- Advanced Micro Devices (AMD), and Oracle Corporatlon (ORCL) shown

m the following table:

1 2 3 3 5

APPL -39.8 10.1 | 1249 1518 . -583 |
AMD -42.5 13.6 56.9 36.7 -34.8°
ORCL -102 | 1379 170.6 16.6 -40.7

"Develop the Markowitz portfolio model for these data with a requxred'

expected return of 25%. Assume that the five scenanos are equally likely to .

occur. : ' © [4][CO2] [BTL3]
b) Explain the steps involved in solving the non-linear optimization
problem using Excel-solver. ‘ ' [4][CO3] [BTLA4]




..............

To'tal/r‘lo;‘:bquﬂg'es‘."‘Oéll px it _ Mgb' ‘Roll no
' 1% SEMESTER [MBAI

MB108: Database Management System
Time: 03:00 Hours. -~

'END TERM EXAMINATION Nov-2024

. Max. Marks: 50.

_Assume suitable missing data, if any.

Note : All questiohs carry marks at the end of the sentences.

Q.1 a) What is normalization? Explain the various anomalies

10 M
« that normalization solves. Provide examples to illustrate %CO 2}
your answer. Ny pa [ LsEs]
4 b) Consider the Foliovying relation R(A, B, C. D, E) with
 the given functional dependencies: y ;
A BC R e '
. i, CDE”
I e B—>D o .
" a) ldentify all candidate keys for the relation R.
] b) Compute the closure of the attributes A and CD
- - -~ using the given functional dependencies. . .
i Q.2 Differentiate’ between. the following providing a real-life [10 M)
-+ example where each would be applicable: . [CO 27"
' a).'Fi»l.elproéeséing‘_syst'em' and Database management [La, LsLe]
s system ST . ’ ey ,
= “b) Hierarchical Model, Network Model, and relétiona]_
: i : " .database models. - CRR T I
% . " Q:3: Construct an entity-relationship diagram for the registrar’s . [10 M]
» . . office a.s"_’givnen‘be'lo‘yv: P8 _ - . [CO3]
, A’ university registrar’s office- maintains data.about the [La,Lé].
> “following entities: -(a) courses including number, title,
x . - credits, syllabus, and prerequisites; (b) course offerings
D v ' inclUding course number, year, semester, section number, e
) instructor(s), timings, and classroom; (c) students P
. : ' : AR Page1j2




G DA A iy b s
L R LTI ST C RN of : Al R Gt s
e 4 A 7 2 including ' studenttid, ** name, nnc!. plor%umber g
e including’ identification o DR
e. Further, the enrolment of studen
\'Narde'd to students in each course they o
ropriately modelled.

. instructors
department, and titl

courses and grades a

‘ are enrolled for must be app :
! \. b . T : . . : t X
’ © Make all necessary assumptions that you _rrjz{ke c?b??r;‘afr]y

mapping constraints.‘Make sure cardmahtugs and p /

_keys are clear. o, : ' Fis

Q.4 a) Write a detailed note on ACID pro_pemes .of [10 M}.

o transactions and explain their importance in ensuring [CO3,47-
: * database consistency. ' 2 ; [Ls,La]. -
* b) Define database security and explain its importance in i

" thodern organizations. And also, discuss the potential -
"“.'*"‘.-threéts' t_o:.détabase,security,- providing examples for -

“each.

OR.
On the basis of SQL query, answer the following

'qUéstiqns: Lo TR R , oty e
a) Differentiate between DDL, DML, and DCL in the -
. context of DBMS command with example. ‘

b) Write SQL statements t0 : - i ‘
" i Create a Student table (having Roll_No, Name,
"Semester, Programme, Marks) with constraint

- like Primary key. '

" i Insertarecord (4 field, 4tuple) o
having the

11.
: iii. Retrieve the details of the student
~ highest marks. -
" Q5 Write ashort note on (ANY 2 ONLY):. | (10 Mi-
Sl [con3y

_ a) Referential Integrity
-b) Concurrency Contro]
c) I NFand 2 NF

(L2, La, L
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MBZOS: Introduction to Programming using Python
‘ Max. Ma}ks: 50 -

Time: 03:00 Hours

Note : All questions carry equal marks. i
‘Assume suitable missing:data, if’ any g
Answer any quebtlons ' ' ey

Q.1(a)

E‘(plam the difference between the == and s operators when

comparmg objects in Pylhon How would you compare, two strmgs'?
[3][COI][B FLI]

RO |
~ Explain operator precedence and assoc1at1v1ty in Python with examples
- Evaluate the followmg expression. Explain step-by-step how. operator “ %
precedence and associativity influence the result: : .

result=10+2*3**2//4_5 :
Write a program to demonstrate the ternary condltlonal operator

- implemented in python. [4][CO1][BTL5]
(c) |
What is an infinite loop, and how can it occur in a while loop? Provide an
example and explain how to avoid it. [3][CO1][BTL1]
Q2 (a)

Write a Python program to read an odd-length strmg from the keyboard
Swap the parts before and after the middle three characters while keeping

the middle three characters in place.
Assume the string has at least 5 characters.

Examples: .
"firstabclastl™ — "last1abcfirst"”
"abcdefghi" — "ghidefabc” | [5][CO2][BTLG]

Page 1o0f3
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s

a CSV filc sales.csv containing the columns Product, Price, and
g 1o find and print

[5][(1()3][]1']'!,6]

(b)
Given ‘
Quantity, writc 8 Python program using file handlin
the maximum price.
Q3@
Describe the characteristics of Python sets. How are sets different from
lists and dictionaries? [A[CO3BTL2]
Q] : ,
Create a dictionary where the keys are book titles, a
containing the author and genre.
Perform the following operations:,
. Add anew book with its details.
Update the author of an existing book.

Remove a book from the dictionary. ;
book titles and their details.

[6][CO3][BTL3}

nd the values are tuples

. Traverse the dictionary to print all

Q4 ()
DTU is maintaining a database (df) Qf students with details like roll no,
name, height, weight, total marks, etc. Write Matplotlib code to plot a
suitable chart to find if there is any association between height and weight.
Additionally, write Matplotlib code to plot a suitable chart to identify
outliers in marks. [5][CO4][BTL3}

(b)
Following code, which shows the sales for ABC Kitchen, an on-campus
bakery: !

product_sales = pd.DataFrame({'Monday':‘ {np:nan, 152, 94,np.nan}, 'Tuesday": [45,
109, 114,np.ran}, 'Wednesday': [np.nan,np.nan,np.nan,np.nan],

"Thursday": [25, 85, 132, np.nan], 'Friday'; [63, 143, 101, 15], ‘Saturday': [87,211
186, 25]}, index=['Cupcakes', 'Pie Slices', 'Brownies', 'Cookies']) i

Write a program in Pandas to perfonﬁ the fellowing task.
1.For each day of the week, find the number of missing data points.
2.For each product, find the number of missing data points.
B.iglow the days of the week on which at least 3 different products were
sold. s

Page2of3

ib Ib ‘v’ 4,|"lﬁf‘| lhl?ﬁ(l']l’uﬂﬂ) (AT wergT01d O 1 vy e

T (51[COM)(1BTLA)

m the user, divides it by another

0.5 (1)

Write a program that
user-provided integer,

both  ValueError

(for division by zero

accepts an integer fro
and prints the result.
. Handle (for  non-integer inputs)  and

) using different except

Zcro[)ivisionr:‘,rror
blocks.

« After cat
error that occurred.

essage explaining the type of

hing the exceptions, printam
gl (5)[COS|(BTL2]

using recursion compared
sion is more suitable than

(b)
Discuss the advanta

ges and disadvantages of
to iteration, Provide an example where

recur.

iteration.
Find the value of the following recursive function when n=6
F(l1)=1

I5][CO5][BTL5]

F(n)=2F(n—1)+1

Q6 (a) :
Given a dataset containing monthly sales data for different
products, create a line plot to visualize the trend of sales for each
product over the past year.

Use Matplotlib to create a bar chart showing the distribution of

Ei product categories in sales dataset [5][CO4}[BTL6]

AN

Which of the following raises a TypeError in Python? If no TypeError

occurs, Write the output of each expression with an explanation.

A. 5* True

B. 5 * “Spam”
C.5*[1,2]
D. 5 * None
E. CandD

©

How do dictionaries handle duplicate keys? What happens if you assign a
new value to an existing key? (3][CO3][BTL2]

[2][cOs][BTL2]

Page3of3 ;
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: COURSE CODE: NIB—207 COURSE TITLE: PREDICTIVE MODELLING

~ Time: 03:00 Hours ‘ . Max. Marks: 50

‘Note: . Each Question is of 10 Marks. ' -,‘;._ A
N Assume suitable missing duta, 1f any. -
Attempt any 5 questions of your choxce

Q.1 Inthe population, the average IQ is 100 with a standard deviation of 15. A team of scientists
want to test a new medxeatnon to see if it has either a positive or negative effect on
intelligence, or not effect at all. A_sample of 30 participants who have taken the

medication has a mean of 140. Dld the medlcatlon affect intelligence? Assume the critical
value to be 1 96 ' [M:10][CO:4][BTL:2]

Q.2 A professor wants to know if her introductory statistics class has a good grasp'of basic math.
6 students are randomly chosen from a class and given a math proficiency test. The professor
wants the class to be able to score above 70 on the test. Six students get the following scores:

162, % 92, Wl Sy | 5 468, bt 835 #3295
Can the professor have 90% confidence that the meau' score for the class on the test would
be above 70. Assume. the critical value to be 2.1328. . ' [M:10][CO:4][BTL:2]
Q.3  What is Machine Learning? Explain the difference between Supervised Learning,
Unsuperwsed Learmng and the Reinforcement Learmng‘7 : [M:4+6][CO:5][BTL:1]
Q.4 Explain Sirnple Linear and Logistic Regression. _ _ A ‘[M»:5_+5] [CO:5] [BTL:2],
Q5 Explainn - . - C [M:2+2+3+3][CO:1][BTL:1]

i) Labelled and Unlabelled Data

ii)  Dependent and Independent Variables
iif)  Mean, Median and Mode v
iv) . Classification and Prediction

Q.6 a) Given the followmg dataset of exam scores: 80 85 90 92, 95 98 100. Calculate the sarnple
variance and standard deviation. :

b) Given the following dataset of the number of hours ‘spent on study per week by 15 students:
2,4,6,7,7,7,8,9, 10, 12, 12, 13, 13, 14, 15. Find the mean, median and mode.

c) A random sample of 400 adults was surveyed and 120 of them reported that they regularly -
exercise. Test at the 1% 51gmﬁcance level whether the proportion of adults who regularly
exercise is different from 30%. Assume critical | value to be 2.576
[M:2+3+5][CO:5][BTL:2] ’
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MB302 MACHINE LEARNING , : :
. Max. Marks:50

‘| Note: Answer any Five questlons ,.All questlons carry equabmarks, -

Assume sultable mlssmg data,’if any:. -

-Ql. A) What is graduent descent and why is |t used in machlne
Iearnmg? Sk R, el : [5][C01][L1]

B) What isa confusuon matrix, and what are its key components7
[5][CO4][L2]

Q2. A) DISCUSES KNN? Give its advantages and dlsadvantages

[5)(co2](L4] 2%

: B)VV_hat is'super_\}i'sed learning? Explain with examples and its
“applications . ' '

[5][CO3][L2]

Q3. Calculate the regressmn coeﬁ’"uent and obtain the lmes of
regressnon for the followmg data for both X onY: and Y onX

[5][COS][L1]




‘ LY
5}{C
Qa. A) Define 3 Activation function in. ML [5][CO3)(Lq,

e
B) Define logistic regression and explain its type. [51[Co4][Ly; =

Q5. A) Expla!h different type of filter methods in CNN. - [5][CO7][L1] .
* B) Explain the criteria for spﬂttmg the tree in Decision tree -5
algorithm? ' : [5][C04][L4] %

Q6 A) What are feature representation technigues in machme o
learmng? Explain different types wnth ‘examples. e
[5][C05][|—1][L4] o

N:) Explaln one-hot-encoding with example and syntax. e

: [sncos][u][uu 2
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MB-303 Big Data Analytics
"l‘ime: 03:00 Hours ‘ Max. Marks: 40

Note:  All questions carry equal marks,
Assume suitable missing data, if any

Q.1 . Explain Oozie work flow process with the help of an architecture?

What are the different types of Jobs does Oozie supports? How
Does we integrate Oozie with Hadoop.

- Q.2 Explain HBase with the help of its features. Differentiate between

HDFS and HBase.

Q.3 What is Apache Flume? Explam the role of Flume in handlmg
unslructuned data.

Q.4 Wil_h the help of a flowchart explain K-means algorithm in detail.

Q.5 Discuss briefly any two:
a) Apache Pig ‘ :
b) Back Propagation in neural network
¢) Architecture of Sqoop

(10M]
[CO6]
[BTLI]
[10M]
[CO3]
[BTLA]
[10Mm]
[CO3]
[BTL2]
[10mM]
[CO2]
[BTL6|
[10M]
[CO6] |
[BTL2,6]
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Note: All questions carry equal marks
Attempt any 5 questions.
Assume suitable missing data, if any.

Q1. a) Discuss how the trading and settlement procedure is followed at
NSE/BSE? (BTL2) - (5)
b) An investor buys a 8% bond (FV="1000) for £1050 today. The remaining

- maturity period is 5 years when it would be redeemed at par. Find out the YTM
using interpolation technique. (BTLS5) ' : : )

- Q2. a) Comment on the: profitability analysis of a company under Economic-
Industry-Company (EIC) analysis. (BTL4) : _ (5

- b) A 10% bond (FV= 100) is trading at 108 today. The remaining maturity
period is 4 years when it would be redeerned at 5% premium. If the bond is
-callable at 110 after 3 years from now, what is YTC ofthe bond? (BTLS5) &)

Q3. a) Explain any five majof commodity exchanges in India. (BT_LI) (5
~ b) Bond valuation theorem says, if the market price of bond increases the
yield would decline and vice versa. Prove this theorem with figures. (BTL3) (5)

Q4. a) Discuss how a yield curve takes shapes on the bases of the liqm'dity

preferences of an investor. (BTL2) | (5)
- b) Explain derivative instrument and its types. (BTL1) RG]
QS. a) When a portfolio is called an optimal pdrtfolio? (BTL2) (%)

b) Following information is provided in respect of a security: -
Risk free rate of return = 79
Market return = 15%
Beta (8)=0.8 ' _
Find out the expected return of the security. (BTL3) - , ®))




M

t:Q?IA firm had paid dividend of 22
quity share in the following cases: |
(1) No growth in dividend,
83)%?\?;3&3 constant growth in the dividend is 5% p.a.
nds are expecte : in fir:
8% p.a. forever. expected 10 grow @ 1.2 pit i ftet threc yeamens 'thereaﬁcr :

pcf share last year. Find out the value of

Given that the required rate of return of the equity investors is 12%. (BTL3) (10)°
PVF Table :
Period’ T
(n) / per ; ;
cent k) 1% 2% 3% a% 5% 6% 7% 2% 0% |  10% | 11% 12%
1] 9-9901 09804 | 0.5709 | 0.9615 | 0.9524 | 0.9434 | 0:9346 | 0.9255 | 0.5174 | 0.9091 | 0.9009 | 0.es29
l— 2| 09803 | 09612 | 0.5426 | 05246 | 0.9070 0.8500 | 0.8734 | 0.8573 | 0.8417 | 0.8264 | 0.8116 | 0.7572
31 05706 | 0.5423 | 02151 | 0:8890 | 0.8638 | 0.5396 0.8163 | 0.7538 | 0.7722 | 0.7513 | 07312 | 0.7118
: 8] 09610 | 05238 | 0.8885 | 0.8548 | 0.6227 | 07521 0.7629 | 0.7350 | 0.7084 | 0.6830 | 0.6587 | 0.6355
s | ossis _0-5057 | 08626 | 0.8219 | 0.7835 | 0.7473 | 0.7130.| 0.6806 | 0.6499 | 0.5209 | 03925 | css72
61 09420 | 0.6880 | 0.£375 | 0.7903 | 07462 | 07050 | 0.6862 0.6302 | 0.5963 | 0.5545 | 0.5346 | 0.5056
7| 0.2327') 0.705 | 0.5131 | 07599 | 0.7207 | 0.6651 | 0.6727 0.5835 | 05470 | 05132 | 0.4817 | 0.4523
8] 035235 | 08535 | 0.78%4 | 0.7307 | 0.6768°| 0:6274 | 0.5820 | 0.5403 | 05015 | 0.4665 | 0.4238 0.4039
5] 053143 | 0.5368 | 0.7654 | 07626 | 0.6225 0.5515 | 65425 | 05002 | 0.4504 |- 04243 | 0.350% | 0.3606
101 09053 | 08203 | 07221 | 0.6756 | 0.6139 | 05582 | 0.5083 | 0.4632 | 04224 | 0.3855 0.2522 | 0.3220
11| 0983 | 0.8043 | 07224 | 0.6295 | 0.5847 | 0.5268 | 0.751 | 0.2289 | 03875 | 0.2505 | 0.3172 02875
12| 08E74'| 0.7885 | 0.7014 | 0.6246 | 05568 | 0.4570 | 0.24240 | 0.2571 | 0.2555 | 0.3186 | 02852 0.2567
PVAF Table
Period *
{n) / per , . 4
ent (k) 1% 2% 3% 4% 5% 6% 7% | 8% 9% 10% 11% 12%
1] 05501 | 098D4| 05703 ) 05515 | 05524 | 05434 | 035326 02259 | 09174 | 0.9091 | 0.5009 | 0BS2S
2 -9704 | 19416 | 31S5135| 18861 | 18554 | 18334 | 1.8080| 17833 | 1.7591 | 17255 | 1.7125 | L6901
3] 25410 | 2.8839| 28286 | 2.7751| 27232 | 2.6730 | 2.6243 | 25771 | 2.5313 | 2.2865 | 2.2437 | 2.2018
4| 3.5020 | 3.8077 | 3.7171 | 3.6299| 35460 | 3.4651 | 233872 | 33121 | 3.2357 | 3.1699 | 3.1024 | 3.0373
S| 4BS34 | 47135| 45757 | 44518 | 4.3295 | 42124 | 43002 | 3.2527 | 3.8897 | 3.7908 | 3.6959 | 3.6048
6| 57955 | S.6014| 52172 | 5.2421 | 56757 | 45173 | £7665 | 4.6225 | £.4855 | £.3553 | 4.2305 | 4.1114
7| 67282 | 64720 | 62303 | 60021 | 57854 | 55824 | 53893 | 52084 | 5.0230 | 4.8684 | 2.7122 | 2.5638
81| 7.6517 | 7.3255.| 7.0157 | 67327 | 64632 | €2098 | 59713 | 57466 ) 55328 | 5.3349 | 5.1461 | 4.9575
9| 85650 | 8.1622| 77851 | 7.4353| 7.1078 | €.8017 | 65152 | 62469 | 59952 | 5.7590 | 5.5370 | 5.3282
10| 8.4713 | so9s2s 5302 | 8a1es | 7.7217 | 73601 | 7.0236 | 6.7101 | 6.4177 | 6:1446 | 5.8892 | 5.6562
41 {03676 | 37558 | S2s536{ 875051 £30954( 7.8862| 7.2987 | 7.1290 | 6.8052 | 6.4951 | 6.2055 | 5.8377
12 | 112551 | 205753 | s=s40| s3ss1| esssa | esese| 75427 | 75381 | 7.2507 | 6.8137 | 6.4924 | 6.1944
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| Nore: 1. Attempt any

2. Al questions carty equal mnrlu B :

PRTS TR
Q 1. Discuss the following: [5x2] [L1, 1.2]
»a) Upside and Downside Risk:

b) Credit default swaps 4
behind entering

aps and '-the motiv&itions
- [10] [L1,L3]

Q2. Dlscuss the dl['t“ereltt types: of sw
swaps. R .
; Q 3. On Septembcr 1, Vlkas Pharma shares are se'lmg at INR 82.85. Vlkas Pharma
_ futures have a contract size of 8,000. The September future expiring on September
- 28 are pnced at INR 84.15, and the October futures expiring on October 26 are

NR 85.48. The- ‘initial margin requirement is 3 9% of the contract value.
harma are sellmg at INR 83.95. [L2,L3,L5]

value of the contract? 2]

' pnced at 1
< On Septcmbe. 28, the shares of Vikas P

1tract what is the

L If you buy one September col
L How much money do you need. to post as margin? ; 2]
"Il Calculate amount of cash settlement for the September contract'7 )

: B3] .

2 1V. ~ What is a stop- hnnt order?
ain and every three months it would receive
h 1, the exchange rate between the INR
ain is 6% per annum, while

Q 4. V1ksrt Motors exports cars to Sp

EUR 5,00,000from car exports. On Marc

and EUR is as EUR 1 = INR 89. The interest rate in Sp
9% per annum. Viksit motors wants to hedge its currency

the interest rate in India is
[L2, 1.3,L5]

nsk through forward contracts for the next 6 months
What type of hedging activity would be suitable for V]kSlt Motors? [2]
What would be the amount inINR that Viksit Motors would receive after 90-
days and after 180 days 1f 1t enters into a.90-days and 180-days forward

. “contract respectively.. “ [5]
1L - What are the different problems associated w1th forward contracts? [3]

I
1L

-
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Q.5. Subodh, who has been trading

in futures that resulted in huge
convinced that trading in options is a be

the direction of price movement is une
gains he can make ifhe e
details on XYZ stock,

losses, is now
in futures when
ertain, However, he would like to know that
nters into options contracts. He has collected the following

tter alternative to trading

On April 1, XYZ shares are selling at INR 1,150, Call options and put options are

available on XYZ with an exercise price of INR 1,200 and an exercise date of April
30. A call is priced at INR 7 and a putis priced at INR 10. The conteact size is 850,
The analysts have estimated that the share price of XYZ could be anywhere in the
range of INR 1140 and INR 1260. Subodh wants answers (o the following

questions: [1.2,L3,L4,L.5)
. Calculate and show diagrammatically what will be Sibodh’s gains/losses for
the price range between INR 1140 to INR 1260 on the exercise date in both

the situations of buying a call and put option. [5]

Il What are the minimum and maximum possible terminal values of a call
put opti
diagrammaticaily.

and

vas”

(5]
|
Q.6. Santash, the manager of Bharat funds, has used
additional gains to the shareholders of the fund. N
options themselves are fairly priced. He would 1
the underpriced and overpriced options, so that |
has shortlisted two options for this purpose.

put-call options to provide
ow, he is not sure whether
ike to earn profits by identifying
he can make additional gains. He

The first one is the XYZ Metais, current!
option with an exercise price of INR 21 a
days the stock price can either increase
is currently priced at INR 1.20, !

y t;%ding at INR . 20. There exists a put
nd an expiry of 90 days. At the end of 90

The second one is the ABC Metals, currentiy irading at INR 1,130. There exists a
call option on ABC Metals with a 90-day 'expir_l,' and an exercise price of INR 1150,
It is estimated that by end of 90 days the share price could either increase by 6%
or decrease by 4%. The cali option is currenilx priced at INR 15,

{fadd

. ! . .
on if the direction of the price movement is uncertain? Also show -

by 8% or decrease by 3%. The put option

b Iy 1)

Santosh wants to know whether the
period binomial model will be ap
OO .y 0149 and e 0vm
make additional profits.

options are fairly priced, He feels that a single-
plicable. Assume the risk-free rate o be 6%,
= 0.9853. If there are mispricing, he would like 1o

You are required to advise him on identifying the underpriced and overpriced
options and taking the decision. (10} (L2,L3,Ls,L6)

——END-—
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COURSE CODE- MGF 11 Fmanc:al statement and analysm

Time: 03:00 Hours = - : - Max. Marks: 50

‘Note : All questions carry equal marks.
Attempt any 5 Qus. out of 6 Qus
Assume suutable missing data if any

Q.1 Define financial reportmg What are its objectives and the benefits
denved from financial reports? [3+3+4] [CO 1] [BTL3 ]

Q.2 What constitutes ﬁnancml statements? Explam the 11m1tat10ns of
ﬁnanc1a1 statements. Lo s A : [5+5] [CO2] [BTL3 ]

Q.3 thferentxate between Indian’ accountmg standards and IFRS What
- are the needs and beneﬁts of convergence to IFRS in India?

. - - [2+4+4][C0 5] [B’I’L4] .

Q.4 Explaln any three out of four beIow ,

- 'a) Retained earnings. - o

~b) .Types ofLease =

. ¢c) AS-2 -

d) AS- 10 ' [5+5+5][co 3] [BTL ]-'

Q.5 (a)X ltd Has current ‘asset ratio of 3.5:1 and qulck ratio of

2:1. Company have i 1nventory of rupees 24000 find out the value of
current asset and current liabilities.

(b) Company current ratio is 2: 1, state w1th reason how foll_oﬁring
- transaction will effect current ratio.

~ Payment of creditor by rupees 10000.
- Sale of goods costmg 10000 in rupees 15000

[5+5] [co 4] [BTL 5 ]




e

Tl

’

1

Q.6 (u) Explain briefly Director report, auditor report v,
analysing about a company fundamentals ' 1

(b) from the following Balance sheet prepare in pan Cpg 1
Find out cash from operating activity.

|| Equity and Tiabilitics 31.3:23-- |31.3.24
[1 [Slmrch(il’dcm fund 320000 | 350000
2 | Non current liabilities ' /
(a)loan from bank 200000 | 250000
3| Current iabilitics 80000 100000
[ Total 600000 | 700000
[[ Assets .
LI ]Noncurrent asset(PPE) 400000 | 450000
2| Current Asset R
| (@)Inventories 100000 | 50000
" (b)Debtors - 150000 100000
(c)cash and cash equivalent 50000 100000
. Total 600000 |700000

Dividend paid during the tear was 50000 and de

the year was 20000.find out cash from operating activity. _
X _ [5+5][CO4][BTL6 |

preciation char

ged durin,
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END TERM EXAMINATION

MBDOOZ Marketing Analytics
- . Max. Marks: 50

Nov-2024

Tlme 03:00 Haurs

Note : All questions carry equal marks. _
: Assu’me'suitable missing data, if any.

(a) Do you thmk customer lifetime value is useful for banks to

Q.1
- -calculate when they decnde to acqunre a customer? Provide su1table =
examples 3 L [5][C05][BTL5] .
(b) What i is mar ket segmentatlon and how does it differ from market
. targetmg? [5][CO2][BTLI] B
Q2 (a) Explam the concept of crltlcal success factors in strategic decrsxon‘ '
Sk makmg _ [S][CO3][BTL2]
. O] How does conJomt analysxs mﬂuences ~product development™
) decnsrons [5][CO4][BTL2] ‘
e -":-‘Q'.B What are the factors to consider when selectmg reta11 locatlon_‘7 How

o o - ' would you use dxstnbutlon analytrcs to identify the same?
' AR SRR o [10][COS][BTL3]

Q.Zl’ ,EduReach *.a non-prof t orgamzatlon focuses on provrdmg free -
'educatJonal resources to underprivileged children. EduReach has
access to data from prevnous fundraxsmg campal gns, mcludmg donor
_demographlcs donatron amounts, and engagement Ievels They plan_

to use. this data to de51gn targeted campaigns and 1mprove the -
' allocatlon of thelr resources for maximum impact. To optimize the
1mpact of thelr programs EduReach wants to use data analytxcs to
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- drinks market. The company specia

\l c') ) K .
“understand donor pehavior, measure campaign ctfectiveness, ancyg

. allocate rcqourws maore sfficiently.
(a) How can EduReach utilize snles analytics to improve thg

efficiency of their fundraising campaigns? )
(b) How can EduReach use Excel and data visualization fo preSeni

their impact to quchoidcrq and attract more donations?

s [101[<*061[BTL4 x
T OR

"FreshSplash," plans to enter the health"

lizes in natural, sugar-free drmkg
made from organic mgredxents. FreshSplash aims to compete Wlth
estubllshed brands like Tropicana and PepsiCo in the healt}u
conscious segment. FreshSplash has conducted an initial- market
analysis and found' that consumers are, shifting towards healthiey
beverage options. However,. competmon is. 1ntense and the marke1

A new beverage company,

- is dominated by a few key players. The Company wants to use. datg

analytics to gain market insights, understand consurmer behavior, angd
develop a robust market entry strategy ‘
(a) Using 'PESTLE analysis, 1dent1fy external factors that ma

~ . impact FreshSplash's market entry. . ’
(b) What rmirket data sources should F reshSplash con51der to obta1
mmghts on consumer preferences? . : [10] [COl][BTLdf:
Imagme that you are the head of a modern retall outlet and you hav:
to devise a pficing strategy to help increase revenues and profits
Develop a comprehensive pricing model that will attract consumer
and increase profit margins. . ot [10]V[C404] [BTiL,6
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MBD004 - FINANCIAL ANALYTICS

Time: 03:00 Hours Max. Marks: 50

‘Note : All questions.carry equal marks. i
Attempt any 5:Qus..out.of 6 Qus. et
~AssUme suitable missing data, if any

Q.1 (a)What is the reason for finding present value while taking corporate

financing and valuation decisions, explain IRR in this aspect.
(b) Explain WACC considering each aspect of capital i.e
, eqmty,preference share, debenture, retained earnings.
[5+5][CO1] [BTL3 1

Q.2 . what are free cash flows, how it is calculated and how it is important
in corporate valuation modeling. [3+3+4][CO 2] [BTL3 ]

Q.3 (a) A portfolio consist of three securities there weights and return
are as follows

‘WEIGHTS . WI120% W2 30% W3 50%
“RETURN - RI 15% R2 18% R3 20%.

find out the return of the portfolio.
(b) Find out expected return of a security as per CAPM .
Risk free return 6% :
Market return ~ 18%  beta of security = 0.8
[5+5][CO 3] [BTL5 ]




S
option,

Q.4 (a) Explain the call and put when they are exercised.

(b)Explain Black-Scholes model of option pricing. »
- [5+5][CO4] [BTLA4 |

Q.5 Find out option price using Binomial model from given informations

spot price $ 100
Exercise price  $ 105
period 2 years

risk free return 8%
share is expected to rise by 10% and fall by 5 % in future.
' [10][CO5] [BTL6 ]

Q.6 How Monte Carlo method helps in simulating the investment
problems, stock prices in the capital market. [10][COS6] [BTL4 |

P

e

A

é
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MGM01 Consumer Behavrour

Time: 03: OO'Haurs Max. Marks: 50

/Wote All. quest:ons carry equal marks.
Assume surtable missing data, if any.

Explmn the role of consumer research in developing marketmg
‘strategies. How do primary and secondary research methods
contribiite to vundcrstandmg consumer behavior? [1 0J[COI1][BTL2]

Q.1

Q2 "Explain the role of group dynamics and consumer reference groups
in shaping consumerbchavior7 Define what constitutes a 'group' and
analy;e why_groups form. [10][COZ][BTL3]

Q 3 A health food brand wants to change consumers' amtudes towards
plant—based products. ‘The - company plans to - use - operant
- conditioning by offermg discounts and loyalty points. Explain how

opcrant conditioning can be used to alter consumer attitudes and
bchaviors in the given scenario. _ [IO][COB][BTL4]'

Q 4 A car manufacturer is launchmg an eco fnendly electric vehxcle
targeting consumers who prioritize sustamablhty The marketing

teamn decides to craft its campaign around the self-concept of being
environmentally conscious. Discuss’ how a strong alignment between

brand positioning and consumer self-concept can influence purchase
[lO][COS][BTLS]

decrsrons in thrs case.

nea raprdly growmg smartphone company, TechZone that has
a new flagship model. The phone has received

Q.5 Imagi
mnovanve features, sleek design,

‘recently _relcascd
significant media attention for its
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rSiisiderable number of custor

- ,the phone’s capabilities, leading t

(a)

(b)

—
However, after -purchasing the phone, a
ners have expressed dissatisfaction
it was not highlighted in initial
feel that the company misrepresented
o increased cognitive, dissonance

wand high-quality camera.

with battery life, an issue tl

promotions. Many customers

after their purchase.

TechZone’s marketing i
customer satisfaction and reduce t
TechZone reduce cognitive dissonance for customers

eam is now focusing on strategies to increase
he impact of cognitive dissonance,

How might
who have already purchased the smartphone? :

Analyze how TechZone could create a customer value delivery
strategy that - balances product innovation with realistic
communication of product limitations to enhance customer

satisfaction and trust [10][CO6][BTL6]
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cauge rnaﬂfetlngx

hght the importance of ﬂocml
. differént from. gommer cia

-envnomncm and: elaborate how 18 1
beneﬁt One,part

" campmgns that are. pumauly credted to
ceting: campalgb tha

Discuss in detail any guch. | socml marl
bnng out the: unpact 1t created on: the peoplP'?

Q1) High

T @
et a) How adverhsmg them
ST - i - Discuss the’ dlffere type

marketmg prac‘aces b
advantag

el Q)
B). DISCU
an adverhsmg catl

p) How does- reposmdnm “help DI
E8D. from ex

- beneﬁts do ‘prands I
- ralev ant example to suppor.t j(our




P SRRSO o - i
nnd oplnlcn on any 2 of the following (10 M)

ia vchjcle to carry brand message.
1 nncl not. nll loyal customers are

Q4) I‘! esent youx vlews

‘.; u) OOII metlln and its relcvnnre as & medi
; "ﬁﬁtlﬁﬂed eustomcrs ‘are’ loya

: satisfied"?"
) Guerilld mnrlcr-tmg a ncw n

- +1d) DAGMAR appronch in Advertising.

P) Push Va Pull Mmketlng Cmnmumcntmn Strategy -

ge nmrketmg tool to tap prospects.

"25) Use of blue ucean buqlness ‘strategies have- always gwen competmve edge to
- the corhpanies udopting it and have enabled them to brealk the clutter and move
o Up thie ladder in, the warket. However creatmg Blue Ocean through value dﬂVen
. “innovation, possess certain nmount of rislc ‘and 1mcerta1nty Identify these risks L
nd" challenges ‘that marketer ‘faces whlle ‘moving ~towards an uncontested
_arlcets to’ c1eale Blue Ocean Support your amwer with the help of an eyamplc'?

dvertlsmg ampaxgn for an about to be launched made in Indla
of Lahon Zeera, competing w1th Red Bull who have
ess Wlth theu' break through reﬁ:eshmg emry

-;27) Creat Mb'l ‘stages fox the fol_lowmg newly launched products to rapidly |
oster dlffusmn and adoptlon by the targeted audience. Attempt Any 2. y

a). Oppo snew expenswe range ﬂ1p moblle phone in competmon to Samsung

. Z th S5t
b) M gg‘li ha.s launched 1ts new soya ﬂavor noodles to defeat its unhealtl‘ly’

(10 M)

-
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COURSE CODE: MGT 31

| _COURSE TITLE: BUSINESS ANALYTICS

T:me. 03:00 Hours Max. Marks: 50

Q1

Q2

 Starbucks Has successtully established itself as a popular coffeehouse
chain in India. The company's global brand recognition, unique value

. proposition, strong customer loyalty, and .effective marketing
_strategies have contributed to its success. However, Starbucks India

also faces challenges such as price sensitivity among Indian
consumers, cultural adaptation, intense competition, and dependency
on imported products Despite these challenges, Starbucks India has

‘several growth opportunities. The growing middle class, , increasing

demand for Western-style coffee, digital transformatlon, and
pam'xersh1ps with local businesses can help Starbucks India expand
its customer base and enhance its operations. However, the company

~ also faces threats such as economic downturns, changing consumer

preferences regulatory challenges, and supply chain disruptions.
Based on the above SWOT analysis, 1dent1fy all possible data
sources and categonze them into primary and secondary sub-

clasmﬁcat;ons. | [COI][BTLS], :

- Differentiate between descriptive, predictive and prescriptive data

based on the following: purpose, key techniques, challenges, and role
in decision-making. -

- [CO2)[BTL2]

o
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0.3 ‘With the help of a diagram, explain the CRISP-DM process of data
e indngs o ’ [COL}[BTL1] -
Q.4 Write br’ief notes on the following: (any 2) [COi][BTLz]’ :
1. The role of data quality in business analytics ‘ :
o' Potential issues with data quality ‘
3. Qualitative and Qu’antitative data

Q.5 Consider an online educational platform that wants to improve.
student engagement and outcomes. How could descriptive
predictive, and prescriptive analytics contribute to designing a mor:
personalized learning experience for students? [CO2] [BTTA]V

Q.6 Using the example of Disney, explain how data analytics improves"
company’s image and its relationship with customers. [CO2] [BTLG(]1
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. COURSE CODE MGT-32 CORPORATE GOVERNANCE

Time: 3 Hours . ‘. - Max. Marks: 50

'NOTE: Attempt any five questions.
: . Q1 and 2 are compulsory.
~ Assume suitable missing data, if any.

- Q.1 7 How can ethical principles and decision making frameworks guide .

business in addressing ethical dilemmas, and what role does
framing play in influencing ethical evaluation and outcome.
Explain the concept with the example. [10][CO1] [BTL3]

Q.2 How does globalization influence the corporate governance
* practices of Multinational Corporation, particularly in balancing
~ compliance with diverse regulatory frameworks and maintaining

"ethical standards across jurisdictions? Explain with the case

studies. TR [10][CO1,2] [BTL2]

- Q.3 How does the sarbens Oxley act (SOL) and the foreign corporate

_ practices act (FCPA) contribute to promoting ethical governance
and what are the key challenges companies face in ensuring
‘compliance with both regulations? Explain with the case study.
s [10][CO3] [BTL4}




\f“/-
" 0.4 What are the key plmuplt“ outlined by ]h(mms Donaldsmr in

concept of ethical algorithms, and how can these principles
applied to ensure fairness and accountability in Al (artifici,

intelligence)? Explain with the example and case laws.

[10*1=10][CO2,3][BTL5]

Q.5 what strategies can businesses adapt to effectively address

unique needs and challenges of subsistence marketplaces, wh;
fostering sustainable development and empowering |loc
communities? Explain this concept with example ( foreign g
Indian case studies).

[10*1=10][CO4] [BTL6]

Q.6 In context of Impact investing, what role does bottom up ifnmefsi,
play in ensuring the success of social and enwronmem
initiatives? Explain the concept with the example,

[10][CO3,4] [B TLS]
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Instructions:

o All questions carry cqual marks.
« Marks arc indicated against cach question.
e Attempt any 4 questions (from Ql -Q.5). Questmn No. 6 is

compulsor, v

Q-1 (a) Discuss and differentiate the characteristics of the corporate,
business and functional level strategic decisions on the basis of

relevant parameters w1t11 examples (5 Marks) (COo1)

(b) Management of a company is finding difficult to adapt itself in’
the. dynamic environment. As a Strategic Consultant of the company,
‘submit-a report stating the strategic {it between external and internal

environment so as to enable the company to maintain its market

position. . (5 Marks) (CO1, 2)

Q-2 (a) Explain how Porter’s five forces analysis is ‘useful in

~analyzing competition w1thm an industry with the help of asuitable
example. " A " (5 Marks) (CO2)

(b)Ina competitive industry what types of offensive strategies can an
organisation use? How do these strategies help the organisation to
reap the benefits of competitive advantage? . (5 Marks) (CO 2, 3)

Q-3 (a) Discuss Genei_al Electric (GE). Nine Cell Matrix as a

technique of Corporate Portfolio Analysis. . (5 Marks) (CO3,4)

(b) Explain with the help of su1tablc examples the stralcgles to reach a .
niche market. : i (5 Marks) (CO4)

o hS
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Tata Motors explore new possibilities and push boundaries. Their

& of dt &F ¢b qf d} 4f 4l db b

Q-4(a) Mergers and Acquisitions are a complicated process and
should be undertaken only afier a thorough analysis. What are the
primary drivers for M&As? Suggest some of the basic due diligence
that a company should undertake before going for meigers and
acquisitions. (5§ Marks) (CO4)

(b) Implementation of strategy requires a right kind of organisation
structure and organisation culture. Illustrate your answer taking a few
contemporary examples. (5 Marks) (CO4, 5)

Q-5 Write short notes on any two of the following:

() Blue Ocean Strategy -
(b) Mission and Vision Statement
(c) Strategic Management Process
(d) Mc Kinsey’s 7S Framework (5*2 Marks) (CO1,2,3)

Q-6 CASE STUDY

human-centric, hi-tech approach is evident in their ‘extensive range of
integrated and smart e-mobility solutions. They choose to stay ahead
of the curve. With 'responsibility’ being one of their core values, they
are commiited to making responsible choices, creating a positive
legacy and connecting aspirations. A strong understanding of
customer demands, the emerging economic landscape, combined with
a purposeful, agile approach drives their growth. Tata Motors focus
on electrification, connectivity, digital services, intelligent enterprise,
manufacturing, supply chain and sustainability. Building on their
engineering and innovation expertise, they enable customers to make
the right choices with their future-ready vehicles and mobility

solutions.

During - earlier times, their brand ‘Tata Sierra’ was well received as
the first indigenous passenger vehicle. Thereafter Tata Sumo, a multi-
utility vehicle was liked by the Indians, In 1998, Tata Motors came up
with Tata Indica, which mirrored. Maruti’s products and challenged
Maruti’s dominance in small car market. Inspired by the success of
Tata Indica, it launched Tata Nano in 2009. Critics were of the view it
could not be possible due to the low cost of the car.

/N S TN S TS R T TR/

Tata Nano is a compact vehicle that was produced and showcased by

Indian automaker Tata Motors, principally in India, as a modest back-

engined hatchback expected to speak to current riders of bikes and

bikes with a dispatch cost of Rs 1,00,000. The vehicle was promoted as
"The People's Car". It was foreseen that its 2009 presentation would
significantly influence the trade-in vehicle market, and costs dropped
25-30% before the launch. Sales of the Nano's closest rival,
the Maruti 800, fell by 20% promptly following the disclosing of the
Nano. .

However, the fanfare with which the Nano was launched did. not show
much result, the car was not well accepted by the masses despite the
low prices. Tata Nano started with high hopes but failed within a
decade due to marketing mistakes and product issues. The story of Tata
Nano highlights the complex relationship between innovation,
perception, and market trends.

Questions

Q-1 Nano’s catchline “The World’s cheapest car” didn’t help sell it.
Why did Tata Nano fail to attract the customers?

: Q-2 What was the type of strategy Tata’s adopted during the launch of

Nano? )
Q-3 Analyse the failure of the Nano car by using SWOT Analysis.

Q-4 What business strategies could be used to make Nano profitable?

" (10 Marks) (CO1,2,3)

****************#END'******##‘*******#“
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END TERM EXAMINATION : : November 2024

Course Code: MBG009 £ Course Title:
Security Analysis & Portfolio Managcmept :

Time: 3 Hours Max. Marks: SQ

Note: All questions carty t:qua_l marks
' Attempt any 5 questions.. e
Assume suitable missing data, if any.

AQI.’a) Discuss Harry Markowitz Model and how does it help in selection of an efficient -

portfolio? (BTL1) . 3 e , _ i _ (5)
b) Mr Vayu is considering investing in one of the following bonds: ' o i
o Bond A . = . Bond B
Face value %100 | 100
Coupon rate . - 12%, 10%
Time of maturity - 8 years ' 6 years
Current market price 80 - : - Z65. _ '
If capital gain is taxed @ 20%. Find the post tax YTM from these bonds using approximate
method. Which bond should be selected by Mr. Vayu? (BTLS5) 5)

Q2. a) Bond valuation theorem says, if the bond’s yield remains the same over the life, the
discount or premium depends on maturity. Prove this theorem with figures. (BTL5) (5)
‘ b) What will be the value of a 7% preference share of face value 21000: :

(1) If it is redeemable after 5 years at a premium.@10%. 3

(i1) If it is irredeemable. . : . »

. Given that the cost of preference share is 8%. (BTL3) : ol ' (5)

Q3.a)Doa Technical ahéjysis for a security belongs to automobile'industry. (BTL4) )
b) Discuss how a yield curve takes shapes in market segmentation theory. (BTL2) - %)

- Q4. a) Illustrate how Jensen’s Ratio is used to evaluate the performance of a portfolio.
b) Following information is provided in respect of a security:

Risk free rate of return = 9% . ' :

Market return = 14%

Beta (3)=0.7 A - :
Find out the expected return of the security. (BTL5) Sl : (5)
- Q5. a) Discqss the categories of commodities in the’commodiw.maricet? (BTL1) i 5)
~ b) Consider the three portfolios given in the table below: ' :
B ~ Average Annual  Standard Deviation - Beta (8)
P_ortfoliq

Return (%) - - (%)




L5

X 18 37 (‘3
Y 14 18 0,.6
Z 15 8 s
Market - 13 12 , ;
pal e } X PR ‘e ;2 thod.
If the risk-free rate of remarn is 9%. Rank these portfolios using Sharpe’s. Treynor's me ](5)

(BTLS)

Q6. X Timited has just paid a dividend of 12 per sharce. As a part of its major rcorganisation
of'its operations, it l;as stated that it does not intend to pay any dividend for the ne?ct i cyears.
In three years’ time, it will commence paying dividend at 210 per share and the directors
tudicated trat they expect (o achivve dividend growtl at 10% per anmui thereafter. b
If the reorganisation does not take place, dividend will be paid in the next two years. an i.
expected dividend growth will remain at the present level of 8% per annum. The firm s‘ cost o E

equity is 12% and will be unaffected by the reorganisation. ; Sl hy?
Calculate the value of firm’s share in both the situations and suggest, is reorganisation WO?] g)

(BTLS)

have

PVF Table e

Period ~
(n}/ per
1%

cent (k)

6% . 7% 8% 9% 10% 11% 12%
03755 | G.5174 | 6.305i | 0.5003 | 0.3525
0.9246 { 0.9070 | 0.8900 | 0.8732 | 0.8573 ] 08417 | 0.8264 | 0.8116 | 0.7972
0.8163 | 0.7938 | 0.7722 | 0.7513 | 0.7312 | 0.7118

5%

0.53301 §  0.5804 ]:. U.3705 | U.3GL5 § G.83524 | 0.343% ; G.5336 |
H &

i 1§
{ 2] 03203} 09612} 0.9426
| 3] 09706 | 05423 0.9151 | 0.8890 | 0.8638 | 0.6396
4| 09610 | 09238 | 0.8885 | 0.8548 | 0.8227 | 0.7921 | 0.7629 | 0.7350 | 0.7084 | 0.6830 | 0.6587 | 0.6355
s 0.7473 | 0.7130 | 0.6806 | 0.6499 | 0.6209 | 0.5935 | 0.5674
6] 09220 05880 05375 | 0.7903 | 0.7462 | 0.7050 | 0.6663 | 0.6302 | 0.5963 | 0.5625 | 0.5346 | 0.5086
7] 09327 os706 ! 08131 ] 07599 | 0.7307 { 6.6651 | 0.6227 | 0.5835 | 05470 | 0.5132 | 0.4517 | 0.4523
s | o0s235 { 0.8535 | 0.7894 | 0.7307 | 0.6765 | 0.6274 | 0.5520 | 0.5403 | 0.5019 | 0.4665 | c.4229 | 0.4029

I

{

[lj 9] 0.9143 0.8368 | 0.7664 | 0.7026 | 0.6446 | 0.5919 | 0.5439 | 0.5002 | 0.4604 | 0.4241 | G.3909 | 0.3606
0

a

|l

] z%] 3% ! 2%
i{
i

o

0.9515, 0.9057] 0.8626 | 0.8219 | 0.7835

0.9053 0.8203 ,.0.7441 0.6756 | 0.6139 .| 0.5584 | 0.5083 | 0.4632 | 0.4224 | 0.3855 | 0.3522 | 0.3220

|

11 ( 0.8963 I 0.8043 ! 0.7224 | 0.6496 | 0.5847 | 0.5268 | 0.4751 | 0.4289 | 0.3875 | 0.3505 | 0.3173 | 0.2875
] [ o | : ] y
i { U.7885 ¢ T.701% | U.6246 § U.5565 | L4970 | 024420 § 0.3571 §{ 0.3555 ; 0.3186 | U.2856 | 0.2567

0.8B874

[res: | :

in} / per - ' !

{cemiks | N 2% 3 3% i N34 5% €% TR g% 9% 0% 11% 12%
0.3259 | 0.9172 | 0.9091 | 0.9009 | 08379

| 1] 09901 | nssoc| 09709 | 0sm1s | 095247 0823 ] 09346
; E 2] 19704 | 15416 | 19135 | 1.8861| 18552 1.5334] 1.8080 1.7833 | 1.7591 | 1.7355 | 1.7125 | 1.6501

3‘ 2.941()I 2.8839’ 2.8286 | 2.7751 2.7232 | 2.6730 2.6243 2.5771 | 2.5313 | 2.4869 | 2.4437 | 2.4018

3.7171 3.6299 3.5460 | 3.4651 3.3872 3.3121 | 3.23597 | 3.1699 | 3.1024 | 3.0373
2.6959 | 3.6048

4.2305 | 4.1114
4.7122 { 4.5638

4| 39020 | 38077

4.4518 43295 1 43124 7 4.1002 3.9927 ; 3.8897 | 3.7908
5.0757 1§ 4.5173; 4.7665 46229 | 4.4859 | 4.3553
5.7864 5.5824 5.3893 5.2064 | 5.0330 | 4.8684
6.2098 | . 5.9713 5.7466 | 5.5348 | 5.3349 | 5.1461 | 4.9676

5 ! £.8534 4.7135 | £5797
" B
6 [ 579551 56014 5.4172 5.2421

5

7] 6.7282] 6.4720 | 6.2303 6.0021

|

!

|

|

| o | s.s660
|
s

8 | 7.6517 | 73255 | 70197 | 67327 | 64632
| 8.1622| 7.7861| 7.4353| 7.1078 6.8017 | 6.5152 | 6.2469 | 5.9952 | 5.7590 | 5.5370 | 5.3282
w][ 9.4713! 8.9826 | 85302 | 81109 | 7.7217 | 7.3601 | 7.0236 | 6.7101 | 6.4177 | 6.1446 | 5.8892 | 5.6502
11 [ 10.3576 { 97865 | 9.2526 | 87605 ] 83062} 788691 7.4967 | 7.1390 i 6.8052 | 6.2951 | 6.2065 | 5.9377
l 12 ] 11.2551 [ 10.5753! 9.9540 | 9.3851 ] 5.8533 | 53538 | 75227 ] 75361 | 7.1607 | 6.6137 | 6.452¢ | 6.1542
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COURSE CODE-  MBGO15

COURSE TITLE-  Operations Research and Strategy

Time: 03:00 Hours Muax. Marks: 50

Note: All Questions carry equal marks. Marks are indicated along
with each question. Assume suitable missing data, if any.

Attempt any Five questions.

Q.1Each organization has its own problems, strengths and weaknesses.
Depending upon the prevailing conditions, the organization has to adopt some
strategies so as to be competitive in the market. Some strategies are Generic and
some are Grand Strategies. Briefly explain these strategies. With suitable
examples elaborate at least five grand strategies. (10 Marks) ~ (CO3)

Q.2 As the demands of the customers are increasing day by day, companies
have to launch new product all the time. New Product Development (NPD) is
very important for an organization.

Elaborate the importance and requirements of NPD. Briefly explaln the steps
involved in NPD from its inception to the commerc1al launch in the market. In
how many ways can NPD be exercised? :

What is concurrent engineering and what role does it play in NPD and Product
Design? What are the basic principles of Design?

Briefly explarn the relation between NPD and Time to Market.

(10 Marks): (CO3)

Q.3. What are the major process decisions? Briefly explain all the process

decisions with suitable examples of different 1ndustry, their products and
services. ‘ ’

How is it decided to make or to buy? You have been authorized to take a -
decision between outsourcing and In-house: operation of Logistics of your
company. How would you decide about it?

With suitable examples explain Forward and Backward Integratlon
(10 Marks) (CO2)

Q.4 Change is for betterment but it is always resisted. To embrace change in an
organisation, management has to face the resistance from the stakeholders. To
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£el it done smoothly is the real talent of the manager or the leader. Starting

a clear strategic intent, how does a leader make the chanég&sm(ziogéi?d
S 1 ? A "t 5 ’ i i a G ? [}— Eyt ‘ ;
pPossible? Answer with examples of Mahindra Group (10 Marks) (CO4)

Q.5 Write notes on:-

) Robust Design

11) Focussed manufacturing

iii)  Order and Winner qualifiers

1v)  Quality function deployment :
Brainstorming technique, SCAMPER 3
: _ (10 Marks)

V)

(CO1)

Q.6 a) A Company ABC plans to develop the strategy for pr‘oduct'ion for the
next year. For each of the plans, calculate Annual Inventory carrying cost,

hiring cost and layoff cost of workers. Initially, the company has 240 workers
with an optimal output of 52000 products per quarter. The beginning inventory
is zero. The hiring cost is Rs.2000 per worker, the layoff cost is Rs.3000 per
worker and the inventory carrying cost is Rs.50 per unit per year. Which
strategy, Chase or Level is better to be implemented? Justify your answer. :
| ‘ ' . (6 Mark) (CO5)

Quarte_f : 1 g : 3 ‘ 4

Demand = 40750 58250 - 55750 53250
b) A company is setting up an assembly line to produce 200 products per 8-
hour shift. The total time to assemble one product is 760 sec. Find the cycle

time, number of workstations, efficiency and balance delay of the line assembly.
(4 Marks) (CO5)
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MBG016 ,I_nternatlonal Marketmg

Time: 03:00 Hours ‘ i e U Max. Marks: 50

PN

qﬂ

Ql a. Du:.cnbe the dlfference between cost-plus pricing and value-based pncmg

{05 marks] [CO2] [BTL2]
3 b. Il]ustrate the key factors mﬂuencmg mtematxonal pricing’decisions?.

105 marks] [c04] [BTL3}.

s, ; Q2 a. Analyze the role of cultural sen51t1v1ty in mternatmnal marketmg strategxes

: -~ .[05 marks] [CO1] [BTL4]
b. Explmn Apple s global brzmd posmomng strategy and how it varies between

developed and emergmg markets S [05 marks] [CO2] [BTLZ]

Q3 Assess Apple s use of premlurn pncmg to remforce its brand i image.
R CTI : [10 marks] [CO4] [BTLS]

Q4 Illusu'ate the 1mportance of product posmonmg in global maxkets and how it
‘helps brands differentiate themselves. : [10 marks] [CO2] [BTL3]
OR
Exaxmne the roles and functions of distribution channels in international marketmg
with examples of different types?- : = [10 marks] [C03] [BTL3]

QS. Justify Apple s use of psychological pricing tacncs such as charm pricing and
anchoring, to influence consumer behavior. [10 marks] [C04] [BTL5] -

OR

.Assess the unpact of exchance rate ﬂuctuatlons and mﬂatlon on Apple’s
international pricing strategy ’ i

[10 marks] [cos] BTLS]
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Time: 03:00 Hours

. Q2 In today’s context no employer can di

Q.3 What are'different types of strikes? Disti

_ Benefit Act 1961 benefits are not applicable?
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: -THIRD SEMESTER - MBA

END TERM EXAMINATION November-2024
' COURSE CODE- MGH-01"
“TITLE- Industrial Relations and labour Legislation - ;

B Max. Marks: 50 -

Note: ATTEMPT ANY FIVE QUESTIONSV
All questions carry equal marks, . :
- Assume suitable missing data, if any. .

Q.1  What.do you rﬁez_m by Labour Management'Relétiohs? What is
the importance of good Industrial Relation? 5 e
- : ‘ [10 MARKS] [CO1]

scharge  or dismiss a
delinquent workman even for a serious misconduct without

. following an elaborate procedure for taking disciplinary action.
Discuss the concept of Dome’sti; enquiry in the context of the
“above statement. : . T A e e
. A, : [10 MARKS] [CO2]
nguish Betwéen strike
-and lockout? ‘
Q.4 Write notes on: : %
~ a) Step ladder Grievance Procedure
b) Appropriate Government Under Industrial Dispute Act
co _ : [10 MARKS] [CO 4]
Q.5 Discuss welfare provisions for workers under The Féctorfes Act
11948, : cE :
[10 MARKS] [CO3]

Q.6 Elucidate various benefits provided in The Matemity Benefit Act,

1961 to the women employee? In which con

[10 MARKsj"tco 2]

[10 MARKS] [CO4] .

ditions The Maternity x
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Time: 03:00 Hours Max. Marks: 50

[Note: Answer any five questions
All questions carry: equal marks.

Assumme suitable missing data, if any.
{o.the question

CO# is course outcome(s) related
Li# Cognitivccomp‘i_e)gi,ty'_:'((_jrde;j_Qf }l1inking skill) required to solve
the questions.. .~ '

technology company, is .planning to

expand its operations into several new countries across Asia and
Europe. The company's leadership team recognizes that their HR
strategy must be adapted to different national, sectoral, and
organizational contexts to ensure success in each market. The HR
director is tasked with developing a strategy that aligns with Global
Tech’s business objectives while considering the unique needs of each

Global Tech Inc., a multinational

abor market, particularly for

In Europe, labor laws are highly regulated,
ficant focus. At the same time, Global
ve and flexible organizational
North America.

region.

In Asia, the company fa
skilled software developers.
and employee rights are a signi
Tech aims to maintain its innovati
culture, which has been a hallmark of its SUccess in

e case of Global Tech Inc., how should the HR strategy
he different national, sectoral, and organizational

ces a competitive |

Q.1 Based on th
be shaped to address t
contexts? Specifically, consider:

How should Global Tech "adjust its HR

e ,National Context:

§s



]

practices to account for difference
laws between Asin nad Purape?

~g

S in Iabot markets and Tabor metrica should be wged (o ik auecess’?
3 Desipnoand Delivery: What tatning methoda con-the-job, off-the-

b ‘:\l:‘:::?;“"(n;:;Ei’*:;ji“};:“(“l‘\':)i]!:'1l»l"ilﬁlml 'l‘cv!x‘s ]"{’sn'a{(\ﬂy differ in job, or a combination) honld X7 use, and how can it ensure the
ol Mo ympared to other sectors? fearning tranafers to actual job performanee?

* Organizational Context: Mow can Global Tech ensare its TR 4. BEvaluation: After training, how should XY7Z evaluate its
strategy supports its organizationnl cultire of jnnovation and effectiveness at reaction, learning, behavior, and results levels,
flexibility while adapting 1o local contexts? and nse this feedback ta adjust the propram?

110 Marks][CO2, CO3|[1L3Y] [10 Marks|[CO1, CO3|[L4)
Q.2 In recent years, several high-profile companies, such as Google and 0.5 What are the potential limitations of implementing individual high-
Uber, huve faced criticism for issues related to workplace diversity, petformance work practices (FHPWP), such as flexible work schedules
pender discrimination, and sexual harassment. These challenges often or performance-baded rewards, without a broader system of
o—stem from ethical dilemmas faced by HR professionals, including complementary practices? How can a system-based approach to HPWP
— managers and consultants. overcome these limitations, and what would you recommend for an
b What ethical problems can arisc in HRM professional - roles, organization in the service industry?
particularly when it comes to managing diversity, addressing [10 Marks][CO1, CO4|[L3]

discrimination, and ensuring fair treatment of employees? How should
HR managers and consultants navigate these ethical challenges while

balancing the needs of the organization and its employees? Q.6 Write short notes?

: [10 Marks][COS5][L4] a) How can ABC Corp effectively manage expatriation (assigning
employees to foreign roles) and repatriation (reintegrating them
Q.3 X Corp, a multinational technology company, has experienced a after returning), ensuring smooth transitions and retention of
decline in demand for certain products, leading to an employee surplus valuable international experience? For example, what strategies
in one of its manufacturing divisions. What HR strategies could the " can be used to support employees before, during, and after an

company implement to manage the employee surplus without resorting ) overseas assignment?
to significant iayoffs? Use real-life examples to support your answer.? b) How can a company overcome the Glass Ceiling Effect to ensure
[10 Marks][CO3, CO2][L3] equal career advancement? For example, what actions can be

taken to promote diversity and inciusion?
[2%5 Marks][CO1][L2]
Q.4 XYZ Corp is implementing a training program for employees to
adapt to new project management software. Using the training design
model, explain:
1. Needs Assessment: How should XYZ assess training needs at
organizational, task, and individual levels to determine the scope
of the program?
2. Objectives and Measures: How should XYZ set clear, measurable
training objectives that align with company goals, and what
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SRt Note 1. All questions carry equal marks.

- 2. Assume suitable missing data, if any.

3. Question No. 5 is compulsory.

" 4. Attempts any 4 from the remaining questions
5. Draw Near Diagram wherever necessary.

S Q. A customer plmmmg to buy a book either ordcr the book from Internet
from www. Firstandsecond.com or go to the nearby Landmark- outlet.
‘How are the supply chains different from .these two companies? Are
customers looking for the same kind of service from both the companies?
‘How. can these factors affect-the strategies of both these compames?

U0t MSEMESTER . §Jo ‘ | MBA
| . END TERM EXAMINATION Nov-2024
I% MGSO01: SCM and E commerce ;
s Time: 03:00 Hours . . Max. Marks: 50
Wy '

i [M#1 O][CO# I ][BTL#Z]
. Q.20vera pertod of time, a product is likely to move from introduction stage to

growth stage and - from growth stage to maturity stage. Would this
movement across dlfferent stages of the product life cycle affect supply
"¢ strategy and plactlces, ‘of vthe ﬁrm'7 [M#IO][CO#Z][BTL#B]

o Q.3 With reference to customer acquxsmon and retentlon explam two goals for
3 ' each requlred by an e commerce site manager'7 -

[M#lO][CO#Z][BTL#l]

| Q 4 Draw a diagram explammg four types of B2B: exchanges that are dependent
‘on the type of purchasing and what is purchased. Give one example of a
product that could be purchased at each and the name of an exchange .

offermg this servrce"
[M# l O] [CO#] ][BTL#Z]

Q5 you have recently been appointed as supply- chain- manager for a
pharmaceutrcal company.. Summarize = the - main Intemet-based
applications you would cons:der for commumcatmg wrth your
su’ppliers’? ' ' :

: ' : h [M#IO][CO#I 2][BTL#2]

7 Q.6 What is the key functxon roles of I'T in supply chain?

[M#IO][CO#I][BTL#I]

_'Q 7 What are the main source’ of supply chain disruptions? How do supply

. chain dlsruptlons lmpact business performance') )

' - ~ [M#IO][CO#Z][BTL*“I]
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‘for the Hard-Bake Process -

S MBbAISMELL . .. IISEMESTER
- ~ -MGS04: TOTAL QUALUTY MANAGEMENT
END-TERM EXAMINATION NOV/DEC-2024
. Time: 3:00hr . . ‘ ; MAX. MARKS: 50
'NOTE: : S e . R

1. - Answer any five questions :
2. Control Charts/tables are allowed. . :
o 3. Assume srliiable mz'ssing data if any.

Ql. (a) Define the term “quahty” Write the various definitions of quality.

- Explain the contribution of W' A Shewart, W E Deming, K Ishikawa, G

Taguchl, and: P B Crosby in'the field quality management.
"L1,23 CO123 [5]

(b) \Vrlte short notes on quahty plannmg, quahty assurance and quahty

control

Q2. Construct the X-bar and R-chart and establish the control limits for’

L1,2,3 COL,2,3 5}

the hard brake progess. ... %, A L3 4,5 CO23 [10] %

Flow- Wldth Measurements (mlcrons)

Sample - | Wafers
| Number {1 .- 2. -3
1~ |'13235 - [ 14128 [1.6744
12 114314  [13592 1.6075 ° A
3 14284 | 1.4871 - | 1.4932 :
4 1.5028 | 1.6352 1.3841
5 1.5604 12735 1.5265
16 1.5955 1.5451 1.3574
17 1.6274 1.5064 1.8366
.[8 14190 | 1.4303 1.6637
9 - [1.3884 1.7277 - [ 1.5355 v o
10 - | 1.4039 126697 1.5089 g -
11 - 1.4158 1.7667 1.4278 s e
12 1.5821 1.3355 1.5777 - S e o
13 - 1.2856 1.4106 1.4447 = i . 7
14 ] 1.4951 14036 .| 1.5893
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. Producers risk.

- of implementing six sigma i.e.

Q7. Wite short notes on any four of the followi

qur R éZ"w,

(A5~ I13sa9. ] T2863 .11
6. 5747 2T W1
17 L3680 5269 | 13957 ..
|18 Ai63 | Taser | 13037
12 S706 | 14185 | Lol -
20 506 [1A412_ | 1.230]
21 4371 15051 ___| 1.3485
22 738 [ 1.5936__[1.6583
23 5017 |1.4333 5551
24 oo 15243 | 1.5705
25 15707 | 1.3663 __|.1.6240 ___J

L TPD, Consumers risk,
L1,2,3 CO1,2,3 [5]

Q3. (a) Discuss OC curve along with AQL,
Je sampling plan, and sequential

ampling pl'an, doub
and disadvantages.

(b) Discuss single s
ith their advantages ‘
' L3 CO3 . [5]

sampling plan along w

Q4. Discuss the concept of Six Sigma. Explain the step by step approach
DMAIC. :

‘ : - L1,23 COL2. [10]

Q5. What is IS_'O' 9000 series of QUality. system standards? Discuss stép;,

~for implementing ISO 9000 in companies. ,
' _ T A _ ;2,3 CO1,2,3 [10]

spital Case study discussed in the class, -

Q6. In reference to ‘-Apolo" Ho
strength and weaknesses of the company

enumerate and discuss the key
ﬁ'orp total quality management perspectives. - ,
: : w : L1,2,3 CO1,2,3[10] -

ng... s ; 5
'L1,2,3 CO123 [10]

) Cause and Effect Diagram
(i) = np-Chart - g Ry
(i)  OC Curve
(iv) Pareto Principle
W) Chance causes .
(vi)  Qualitycosts ~




